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 ���	�� 
����� ��� �����	�� �������� �proper actions��
������ �� ���	 ����� �
� ���	�� ���� ���� �slices�� �� ��� ������!��� ��	 ��
�!��	� �	� �"������ ������ �	�# $� �%��	�� ������������ 
� �������
�"� �	&
� ��� %�����
�	���� �!�� �������� ��� ����'��	�(�� �	����	�(�� �
����	��
��	 ����'���	�(� & %��	'���	��(� ���(� �� �'���� �����	��"� %(����� ���&
	�� ��������� �����%��!��� ����	����	��	����� %(���� ��	 �� ��''��'��
���
��� �	���(���	 �� ������	��� �	������ �� ���� �	� 
����"����� ���!�#

)



*
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+	 ������ �����%
���	��(� �	��%

��� ��� ��� F. Klein �� ,-.� ��	 !�����
�� ��(�� (�	�� �����'!����� ��
 
���'���
 �
� /��'����	�� ��	 �
� 0���&
��'	��� 1��������� ��� /�	�!��� ��� ��� D. Hilbert �� ,23� �� ����� ���
����!������ ���� ����� ��� ���� ��
��� ����'��	��� ��� ����� ���	����&
�	��(� ��� ��	�!��� R

2 ���4����� ���#
5 ������� ���� ��� Hilbert ������ �� 
���

�� �� �� �
���� �����
�
�

�
� ������� ��� 1���	�� 6������ �proper actions�� ��� ���	'������	 �	�
�����	� ��� ������ 	������	(� ���	�� ������(� ��	 ������	�(� ����	�(�
%(��� ����� �������	%��� %(����# + ��(��� ��
���� ��	���� �	�� ����	��
����
� ��

�� �� ,2). ��� ���� D. Montgomery ��	 L. Zippin# 7��	%��� ���
�%��	�(� 	��(� ��� �����
�(� ���(� !��	 �� ��'� ��
� '"�
 ��� “8�� ����&
'������”��� Hilbert� �
'��� �	� �� ��	 ��� ����� Lie ������ �� %�����
�	�
��
��� �
� ����'��	�� �
� ����#

+	 �����	� ������(� ������ ����	 ����� ����	��!�� ������ ����	��# /��	&
�� �'�	 �	 ���	�� ���������� ������	��� ��	 ����	����	��	��	 %(��	 �!%����	
��� ���	������� ����	�� �� ������� ����� 	������	(�� ���� �
� ������
�	�
�
� ���'��
� ���(� �!�� ������ �����%
���	��(� ��

�� !����
 ��	� ���&
�	�� �����	� �
 ������(� ������� ������ �� ���	�� ��������� ��	 �����&
�	��"� %(����#

9/�� ��� �� ��	� �
����	�� �%��	�� �����'!����� ������%

�� ��� ���
R. Palais �� ,2:, ��	 ���������� ��
� "��� 
 ������ �slices� �� ����	��
�����	� ������ Lie� ��� 
� ��� ����%�'���	 �	� ��	�� ��� ;���'�	� �# 5
"��� 
 ������ ��

��	 ��
� ������
�
 �
� ���	��� ����� ���� %(��� ��
����� ����'��	�(� ������ �����%
���	��(�#

<	� ��"���
 ���
����� ������������� �	� �
� ����'��	�� ���� %(���
����!����	 ��� �'�
�� ��� ������� �ends� ���� ���	�� �������"� ��	 �����&
�	��" ����'��	��" %(��� ��� �!%���	 ��� ����	� ����
 �	�� �
 �������"�
������# $� ��(�� ���	���	�� ����!'���� ��
� ����"
���
 ���� ��

�� ��
,2.�# <�� ��!����
 ��� !�	�� ��������# 5 ����"
���
 ���� ��� 
� ���
����%�'���	#

8



:

$� ��(�� �����'!����� ���'��
� ���� ����'��	��" %(��� � �	�� �	�&
�����	�
� ��''��'��
��� �� ������	��� �	������ ���
� �������	%
 ���
������
�� ����� ����	�� ������� �
���	�"�
��� �� ,2.*# +	 �%��	�!� ������ �	� 
�
��'���	

�"� ��	 
� ��������
�"� ��� ;���'�	� �# $� ���'��� �����'!�&
���� ��	� ���!� Riemann �
���	�"�
��� �� ,2.: ��	 �� �'��
 ���	���
�� ��
,2-, ��	 
� ������	����"� ��� ;���'�	� )# <�'	� ��� �!�� �
� ���������
��� ,223 ��������
��� �� �������	%� ������������ �	� �	� =��	'���	��!� &
7���'���	�!� ���!�� ��� ����������	 ��� ;���'�	� *#

$� ���	������� ���� ���'��
�"� ����	 �� ������	��
�"�� �� ������&

�	� ������	���
��� ��	 ������������� ��� !%��� ����	 �!%�	 �(�� �� ���	
����� �
 �	�����
 ���(� �� ������	��� �	������ �!�� ������ �����%
��&
�	��(� �����	�� �������� ��
� ����'��	��� �	����	��� >
����	� ��	 =��	'&
���	��� & 7���'���	�� ���
�����# 7�	� ������ �	� ����%��� ���	%��� �����&
������� ������ ��	� �����
"���	� �
� ��'�"�����
� ��� ��� ������	 �	� 
���'	&
���"� ����� ��
� �������	%
 ���
������� �
� ���������
� ��	 �
� �����&
�	���
��� ��� �����	��	�(� �	��	���	(� ��	� �!����	� ���
������ �������
��� �������!�

���# 5 ���
��
 ����	 �� ���'"����	 ����� �� ������ �����
������ �� �����	��	�� ������ ��� ��� !%��� ��
 ����	 ��	� ���
��"����� �����
�
� ���������
� ���
������� ���� 
 ����'��	�� ���� 
�������	 
���'	���#



���	�������

� ������� 	
��� �
���� �����
������ ��� �� �
������������

��� ����������� �
3#3 $���'��	�!� ������ �����%
���	��(� # # # # # # # # # # # # # # 2
3#, +�	��� �"��'� ���� ����
� # # # # # # # # # # # # # # # # # # # ,�
3#� 1���	�� �����	� # # # # # # # # # # # # # # # # # # # # # # # # # # ,)
3#) ����'	(�
 �"��'� # # # # # # # # # # # # # # # # # # # # # # # # ,2

� �
�����  
����� ��� ������
��� ���
 !�������� ��� �� �����"
�
�� Riemann #�
,#3 1���	�� ��	 	������	�!� �����	� �� ���	�� ��������� ��	 �����&

�	��"� ����	��"� %(���� # # # # # # # # # # # # # # # # # # # # # �,
,#, 1���	�� �����	� �� ��''��'��
��� ��	 	��������� Riemann # # )3
,#� 5 ����� ��� 	������	(� Riemann # # # # # # # # # # # # # # # # )-
,#) 5 �	����	�	���
�� �
� ����
� ��� 	������	(� Riemann # # # # *,

# �
�����  
����� ���  ��������� ���������$
 ���  ��%�
��$

 ��$
 �� ��
�����
� ��
	��
� &'

( ������  ��� ��
 �
����
  
����


�#3 6����	 ��
� ����'��	�� ��������
 # # # # # # # # # # # # # # # 8)
�#, +	 �����	 ��	� ����'��	�!� �����	� # # # # # # # # # # # # # # # # 82
�#� +	 �����	 ��	� �	����	�!� �����	� # # # # # # # # # # # # # # # # :-
�#) 5 	�������'
�� ���	�� ���� ��� ������� # # # # # # # # # # # # .3

( �����  ��� ��
 �
����
  
����


�#* 5 ����'��	�� ��������
 # # # # # # # # # # # # # # # # # # # # # .8
�#8 5 �	����	�� ��������
 # # # # # # # # # # # # # # # # # # # # # # -*

.
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' )�����
��*�  ��������� �� �������	����� Riemann �'
)#, +	 �'��'
���	�!� �����''��'��
��� �� ��� �	������	�
 ����


�� ���	�� 	�������'
�� 	������	�� �	�����
 # # # # # # # # # # 2)
)#� $� ��(�
�� �'	��� �	�����
� ��� ��''��'������ Riemann # ,3,

+ ,��������� ����������$
  ��$
 ��&
*#3 ?��	�� ������������ �
� 7���'���	��� 1��������� # # # # # # ,38
*#, $� ����'���	�� ��(�
�� �'	�(� ������ # # # # # # # # # # # # ,,*
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���� ��� ��
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	����	����� ��	

�����	
���

��
��� �������
�%�� ��� ���������*�  
�����- .+/� .&/ ��� .��/0

��� ��������	
� ��
��� ���������������

1
���	� �0�0���� ����� G �	
���
 ���������� ����� �� � G ����
 �������


��� ����� ��
 �
 ���
������
�

G × G → G : (g, h) �→ gh ��
 G → G : g �→ g−1

����
 ��������� � G �	
���
 ��� � Lie� �� 	��
 ���� �
������
���� ����
����������� ���� �
 �������� ���
������
� �� ����
 ������

1
���	� �0�0# ��� ���������� ��� � �������������$
 ����
 ��� ��
��
�� (G, X, ϕ)� ���� G ����
 ��� ������

�� ������ X 	��� ������

��� �����
��
 ϕ : G × X → X ��� ������� ���
���
�� ��� 
������
�� �
� ��	��
�@

 � ϕ(e, x) = x ��	

!� ϕ(g1, ϕ(g2, x)) = ϕ(g1g2, x) 

� ��"� g1, g2 ∈ G ��
 x ∈ X�

���� ���� �� 	
�� ���
�
����� ��� ���
�
��� �� ��������� �����

2



,3

5 ��	��� (G, X, ϕ) �����A���	 ��	  
��� �
� G ���� X �!�� �
� ϕ# B� �!�
����%�	 �������� �"�%��
�� 
� �������� gx ���� ϕ(g, x) �	� x ∈ X ��	 g ∈ G
��	 
� �����'�A���� �� (G, X) �
� ����
 �
� G ���� X#

2�
���
��� �0�0' B�� �
 ���	���	�
 ����
� ϕ ��������	 �	 ���	������	�

ϕg : X → X �� ϕg(y) = ϕ(g, y) ��	 ϕx : G → X �� ϕx(h) = ϕ(h, x).

C����
��"�� ��� �	� ��
� g ∈ G 	�%"�	 (ϕg)−1 = ϕg−1 ��	 ��� 
 ϕ ���A�	
��� �������	��� ������ φ : G → H(X) �� φ(g) = ϕg� ���� H(X) ����	 

����� ��� ���	�����	��(� ��� X#

1
���	� �0�0+��� ������������ 3equivariant4 ���
���
�� ��� ��� �����
(G1, X1, ϕ1) �� ��� ����� (G2, X2, ϕ2) ����
 	�� #��
��
 ���
�������� (h, f)
�� h : G1 → G2 ������ �������
��� ������ ��
 f : X1 → X2 ������
���
���
��� ���� �� ������� �
�
����� �� ����
 ����"��
��$

G1 × X1 X1
�

�
G2 × X2

� X2

�
fh × f

%��� �
�
�� ��������� ��� G1 = G2 = G ��
 h = idG� � f "� �	
���
 G �
�����	
����

&� #��
��
 (h, f) "� �	
���
 �����������	� �����
%���	�� �� ��"��
�
��� �
� ���
������
� h ��
 f ����
 
������
���� ���� �������
�� ����
�����

1
���	� �0�0& '(��� � ����� (G, X)� '(�� ����)���� U ��� X "� �	
���

G � �
�������� �)���� � G � ��
���� �� 

� ��"� u ∈ U 	����
 gu ∈ U


� ��"� g ∈ G� *��+ �����
���� � ����� X "� �	
���
 G � �$
��� !
����
���� x ∈ X ����
 �� �)���� Gx = {gx : g ∈ G}�

+	 ���%	!� ����	 ���	���	�� �� �	������� G & �"��'� ���� G & %(���# 6"�
���%	!� ���� ����	  !��� ���� " ����� ���� �����A����	# <� ����� ��� �����
�������	 ��� �%!�
 	���������� ���� G & %(�� X �� �'���	� 	���������� �	�
���%	!�@ ��	 �"����� �� �
� ����� �"� ���	%��� x, y ∈ X ����	 	���"����
�� Gx = Gy� � �''	(� �� gx = y �	� ����	� g ∈ G# +��A���	 !��	 � %(���
& �
'��� X/G ��	 
 ���	���	�
 & �
'��� p : X → X/G# + X/G �� �
�
����'���� & �
'��� �����A���	 �$
�� ��
 �
���$
 �
� ����
�#



,,

1
���	� �0�05 '(��� G � ����� X �	
���
 �����
�� ��
 � �������
�� �����
����������� �� 
��)�
 X = Gx 

� ����
� ,��"�- x ∈ X�

6���� �0�07 .
� 	��� G � ���� X � �����
�� ���
���
�� p : X → X/G ����

������� ��
 ���
���� /� (h, f) : (G, X, ϕ) → (H, Y, ψ) ����
 
������0����� �

���
����� ��� ��� ����� ���
���
�� f̃ : X/G → Y/H ����
 ��������

2�
� ����� �0�08 9/��� H ��� �'�	��� �������� ���� ����'��	��� ������
G# 5 ��	����� ����
 H × G → G : (h, g) �→ gh−1 �����	 ��� %(�� ���
��	����(� ����'���� G/H ��� ����	 ��	 � %(��� ���%	(� ����%	� gH ���
g ∈ G� ����� �
� ����
�# + G/H ������	 �������� G & %(��� �� ����


G × G/H → G/H : (g1, [g2]H) �→ [g1g2]H .

1
���	� �0�0�� .
� 	�� ������ x ���� G � ����� X ���#���
 � ��� �
����
����� ��� Gx = {g ∈ G : gx = x}� 1	�� ��
 � G ��� ������
� ����
X� �� 
��)�
 Gx = {e} 

� ��"� x ∈ X�

5 ����� 	��������� !%�	 �	� � �� %���	��� 	�	��
���@

2
	���� �0�0�� '(��� x ������ 	��� G � ����� X� &���

 � � Gx ����
 ���
��� �������� ��� G�

!� Ggx = gGxg−1 

� ��"� g ∈ G�

2� � G � ���
���
�� ϕ̃x : G/Gx → Gx �� �)�� ϕ̃x([g]Gx) = gx ����

��������  � ��
 ���� ���� ��
 ����� ���
�����
�����

2
	���� �0�0�� '(��� (h, f) : (G, X, ϕ) → (G′, Y ′, ϕ′) ��� 
������0����
���
���
�� ��
 x ∈ X� &���$

 � f(Gx) ⊆ Gf ′(x)�

!� h(Gx) ⊆ Gh′(x)�

2� /� � (h, f) ����
� ��
��	��� 
������
����� ���� �
 ����
�)����
 �
���
�
���� ����
 
��������

9/��� X !��� ����'��	��� %(���# 5 �����	
��� ��������� 3evalua-
tion map4 ω : H(X) × X → X �� ω(f, x) = f(x) 	������	�� �	� 	�	��
���
�,� ��	 ��� ��� +�	���" 3#3#�# B� � X ����	 G & %(��� �� ����
 �
� ϕ� �����



,�

�����'�A����� �� φ : G → H(X) ��� ��������� �������	���� 
 ���	���	�

(φ, idX) 	������	�� �
 �%!�


idX ◦ ϕ = ω ◦ (φ, idX).

$�
���	� '�	���� ���	�'��	�� �� ��(�
��@ 0���%�	 ����'���� ���� %(��
H(X) (��� 
 ω ��	 
 φ �� ����	 ����%��� ���	������	�D 9+��� � X ����	 ���	��
�������� %(���� ��
� H(X) ���A���	 
 �������� " �
����� ����'���� ���
!%�	 �� ������
 �
� �	���!��	� ��� ����'�� {(K, U) : K ⊆ X ������!� ��	
U ⊆ X ���	���}� ���� (K, U) = {f ∈ H(X) : f(K) ⊆ U}# 7�
 ���!%�	��

� 
����"�� �
� ����'���� ���� ���� H(X)# B�� ��	�'!��� � X ����	 ���	��
������	��� %(���� ���� 
 H(X) ������ ���� ����'��	��� ������ �� ��� 

�
 �"�
��
 ���	��������# 5 �������� ���	��� ����'���� ����	 
 �	������

����'���� �� ���� �
� ����� 
 ω ����	 ����%��# /���	�A������ '�	���� ���
H(X) �� �
� ������� & ���	��� ����'����� 	�%"�	 �� � ��@

2
	���� �0�0�# '(��� X 	��� ���
�� �����
�� ����� ��
 G ��� ������

��
������ &���� � ���3� ��� �)�"���� ����
 ������� ���� H(X) ����
���	��
�� ��� �����
� ���
��� ������
��� (�
��	��� 

� ��"� ���
���
�� ������
ϕ : G × X → X� � �������
��� �������
���� φ : G → H(X) ����
 �������
��
 � ���
���
�� (φ, idX) : (G, X, ϕ) → (ϕ(G), X, ω|ϕ(G)×X) ����
 
������0���
��� /���������� ��"� ������� �������
���� φ : G → H(X) ���
�
 �� �����
ϕ : G × X → X� �� �)�� ϕ(g, x) = φ(g)(x)�

$� ����"��'� I =
⋂

x∈X Gx �
� G ��� ���
�����	�� ��
� �
���� ��� G &
%(��� X '!����	 � 
�
�� ��
�
�� �
� ����
� ��	 ����	 �����	�� ��������
�
� G� �� ������� ��� �������	���" φ : G → H(X)# 9+��� I = {e}� 
 ����

'!����	 ����� 3effective4 ���� %(�� X# B� �������� �
 ����
 �
� ������
G/I �� ��� ���	�'��	�� ������ ����"���	 �	��� 
 ����
 (G/I, X) ���� X#

��� ����	
 ������ ���� ��
���

1
���	� �0�0� '(��� X 	��� G � ������ .
� ��"� x ∈ X ���#���� �� L ��

J �
���� ��
���$

L(x) = {y ∈ X : ∃{gi}i∈I �� gi → ∞� ��
 gix → y},

J(x) = {y ∈ X : ∃{gi}i∈I ��
 {xi}i∈I �� gi → ∞, xi → x �� gixi → y}�



,)

���� �� �)�0��� gi → ∞ �������
 ��
 �� �)��
� ��� 	��
 ������ �����������
���� ����� G�

2
	���� �0�0# '(��� X 	��� G ������ &���� 

� x ∈ X 
��)��� �� �3��$

 � &� �)���� L(x) ��
 J(x) ����
 G � ���������� ����)���� ��� X� (�
�
��	��� L(gx) = L(x) ��
 J(gx) = J(x)� 

� ��"� g ∈ G�

!� Gx = Gx ∪ L(x)�

2� &� D(x) = Gx ∪ J(x) ����
 ���
���� 

� ��"� x ∈ X�

4� � ����
� Gx ����
 ���
���� �� ��
 ���� �� L(x) ⊆ Gx� 5 ����� ����
��
X/G ����
 Hausdorff� �� ��
 ���� �� J(x) ⊆ Gx� 

� ��"� x ∈ X�

6� /�� ��
��	��� � X ����
 ���
�� �����
��� ���� �� �)���� L(x) ��
 J(x)
����
 ���
����

��� ������� ��
����

1
���	� �0#0� � ����� ���� ������

��� ������ G �� 	��� ���� X "�
�	
���
 �
���� 3proper4� �� 
��)�
 J(x) = ∅� 

� ��"� x ∈ X� 5 ����� X
"� �	
���
 ���� �
����� G � ������

9/��� 	���"����� ��	���� ���	�� �	� �����	� ���	�� ������(� ������ �&
����!�	 ��� �
� C�����
 3#�#-#

2
	���� �0#0# '(��� X� 	��� 
���
�� G � ������ &���$

 � *�"� ����� 
��������� ����
 �����
���

!� � ���
���
�� G/Gx → Gx �� [g]Gx �→ gx ����
 G ���
�����
���� 

�
��"� x ∈ X�

2� 5 X/G ����
 ����� Hausdorff.

4� *�"� ����
� ����
 ���
��� ����)���� ��� X�

9/��� X !��� G & %(��� �� ���	���	�
 ����
� ϕ : G × X → X� V !��
���	��� ����"��'� ��� ��	 U ⊆ X# $� �"��'�

G(U, V ) = {g ∈ G : gU ∩ V �= ∅} =
⋃
x∈U

(ϕ−1
x (V c))c



,*

����	 ���	��� ����"��'� �
� G� ���� V c := X\V # /��	�� 
 ���	���	�
 G →
G : g �→ g−1 ����	 ���	�����	���� ��	 	�%"�	

G(U, V ) = (G(V, U))−1 := {g−1 : g ∈ G(U, V )},

�� G(V, U) ����	 ����
� ���	��� ����"��'� �	� G#

2
	���� �0#0' ��� ����� ��� ������ G ���� ���� X ����
 
���
�� ��
��
 ���� �� 

� ��"� �)� �����
� ����)���� K1 ��
 K2 ��� X �� �)����
G(K1, K2) ����
 �����
	� ���� G ��
 

� ��"� ���
��� V ��� G(K1, K2)
���� G� �������� ���
��	� U1 ��
 U2� ��� K1 ��
 K2 ���� G� �������
��� ��
G(U1, U2) ⊆ V �

6���� �0#0+ '(��� X 	��� 
���
�� G � ����� ��
 H, Y ���
��� ����)����
��� G ��
 X� �������
��� /� ������
���� 	�� ��� ����� ����
 �����
	�� ����
�� �)���� HY = {hy : h ∈ H ��
 y ∈ Y } ����
 ���
��� ���� X�

<�� ���	���	�
 F : A → B 
� '!����	 �
����� �� ���	���!��	 �� �������
�� ������� � 	���"����� �� ����	 �'�	��� ���	���	�
 ��	 ���	���!��	 �� �����"&
��'� �� �������#

2
	���� �0#0& '(��� (h, f) : (G1, X1) → (G2, X2) ��� 
������0���� ���
���
�
���

 � /� � h : G1 → G2 ����
 
���
�� �������
���� ��
 � G2 ��� 
���
�
���� X2� ���� ��
 � G1 ��� 
���
� ���� X1�

!� /� �
 ���
������
� h ��
 f ����
 ���� � f ����
 
���
� ���
���
�� ��
 �
G1 ��� 
���
� ���� X1� ���� ��
 � G2 ��� 
���
� ���� X2�

2	
���� �0#05

 � 5 ���
��
���� ���� 
���
�� ������ (G, X) �� ��� �������� H ��� G
����
 
���
� ������ �� ��
 ���� �� � H ����
 ���
��� �������� ��� G�

!� '(��� ��� � G ��� ���� X ��
 	��
 ������ ������ I 	�� �����
	�
�)�����&���� � ���
����� ����� G/I ×X → X : (gI, x) �→ gx� ����


���
� �� ��
 ���� �� � ����� ��� G ���� X ����
 
���
��

2� '(��� ��� � G ��� ����� ������ X ��
 Y � '(���� ������� f : X → Y
��� G � ���
���
��� /� � Y ����
 
���
�� G ������ ���� ��
 � X ����


���
�� G � ������



,8

2
	���� �0#07 '(��� X 	��� ���
�� �����
�� G � ������ &� ������� ����


���)����$

 � � ����� ����
 
���
��

!� .
� ��"� �����
	� ����)���� K ��� X �� �)���� G(K, K) ����
 ������

	��

2� .
� ��"� �)� ������ x ��
 y ��� X� �������� ���
��	� U ��
 V ��� x
��
 ��� y� �������
��� ���� �� G(U, V ) �� ����
 ����
�� �����
	��

2
	���� �0#08 ��� ���
�� �����
�� ����� G ��� 
���
� �� 	��� ���� X�
�� ��
 ���� �� 

� ��"� �)� ������ x, y ��� ����� �������� ���
��	� ��� x
��
 y� �������
��� ���� �� G(U, V ) �� ����
 ����
�� �����
	��

1
���	� �0#0� � ����� ���� ������

��� ������ G �� 	��� ���� G �	
���

Palais � �
���� ��� ��"� ������ x 	��
 ���
� 3small4 ���
��� U � ������
��"� y ∈ X 	��
 ��� ���
��� V ��� �3������
 ��� �� x ��
 ��� U � ���� ��
G(U, V ) �� ����
 ����
�� �����
	��

+	 Palais & ����	�� �����	� !%��� ���'!�� 	�	��
���@

2
	���� �0#0�� '(��� G � ����� X� ���� G ���
�� �����
�� ������

 � /� � X ����
 �����
��� ������ ���� � ����� ��� G ���� X ����
 Palais
� 
���
�� �� ��
 ���� �� � X/G ����
 �����
��� ������

!� /� � X ����
 ������ �����
���� ���� � G ��� Palais � 
���
� ���� X�
�� ��
 ���� �� � X/G ����
 ������ �����
����

2	
���� �0#0�� /� � 
���
�� G � ����� X ����
 ���
�� �����
��� ���� �
X ����
 Palais � 
���
�� ����� ��
 � X/G ����
 ���
�� �����
���

2�
� ������� �0#0�#

��- 9��
��$� �
�����  
����� ��� ������
%����� �������:��

1
���	� �0#0�' ��� ����� (X, G) ��� ���
��$� �
���� 3properly dis-
continous4 �� 

� ��"� x, y ∈ X� �������� ���
��	� U ��
 V ��� X ��
 y�
�������
��� ���� �� �)���� G(U, V ) �� ����
 ��������	���



,:

B�� �� ��������� ��� ����� G ��� ��� �����%(� ����	� ��� ���� %(���
X ����	 ����	���!�
 �� �
� �	���	�� ����'����#

1
���	� �0#0�+ '(��� X ��
 Y �)� ������

��� ����
 ��
 p : X → Y
��� �������� ��� ���
���
��� '(�� ����)���� A ⊆ Y "� �	
���
 evenly
covered� �� ������
 	��� �� ����� �
���
��� ������

��� ����� D ��
 	���
���
�����
���� h : D × A → p−1(A) ���� �� �
�
�����

D × A p−1(A)�

� �
�

�
���

A

pr

h

p

�� ����
 ����"��
��� ���� pr : D × A → A ����
 � ���0����
� ���
���
�� p : X → Y �	
���
 �����	
��� ����:��� �� ��"� ������

��� Y 	��
 ��� evenly covered ���
���� 7����	��� ���� ���
���
��� ��
����8��
�� 	��� ���
�����
���� γ ��� X �	
���
 ������
%���	� �������:�� 3deck
- transformation4 �� p ◦ γ = p� 5
 ��������
���� ��
����8�� �������#���
��� ����� Γ� � ����� ��� ���� X �	�� ��� ���
���
��� ����������

6���� �0#0�& '(��� p : X → Y ��� ���
���
�� ��
����8�� ��
 f1, f2 : X →
X �)� ���
������
� �� p ◦ f1 = p ◦ f2� &���� �� �)���� B = {x ∈ X : f1(x) =
f2(x)} ����
 ���
��� ��
 ���
��� ���� X�

2
	���� �0#0�5 '(��� p : X → Y ��� ���
���
�� ��
����8��� ���� � X
����
 ���� ��3� ������
��� ��
 ��
 ���
�� ������
��� ������ &���� � �����
��� ��������
���� Γ ��� �������� 
���
� ��
 ���)"��� ���� X�

7����(�� �� ����	������ �
� Γ �� �
� �	���	�� ����'����� ���� ���� ���
����	� ���� X �� ���	�� �������� �����# E�%"�	 ���	 ���	������@

2
	���� �0#0�7 '(��� G ��� ����� ��� ��� �������� 
���
� ���� ������

��
���� X�

 � *�"� ������ x ∈ X 	��
 ��� Gx � ���
��� U �� G(U, U) = Gx�

!� .
� ��"� �	��
� ���
��� U � � �����
�� ���
���
�� p : X → X/G ���
�

���
�����
��� U/Gx → p(U)�

2� /�� ��
����"	���� � ����� ����
 ���)"���� ���� � p ����
 ���
���
��
��
����8�� ��
 � G ��� ���� X �	�� ��������
���� ����8���



,.

#�- 1�� �� ������
�$


5 ����� ��� 	������	(� !��� ���	�� �������"� ����	����	��	��� %(���
��� ����	� ���� %(�� �!�� �
� ���	���	�
� �����
�
�� ���� 
� �����	%
��
��
� C�����
 ,#3#-# /	�	������� ��� ��''��'��
�� Riemann ����	 ����	�� G
& %(���� ���� G 
 ����� ��� 	������	(� �
�#

'�- 1����
��� �$
��

9/��� G ����'��	�� ����� ��	 K �������� �������� �
�# ����(����
�
� ��	����� ����
 K × G → G : (k, g) �→ gk−1� 
 K ��� ����	� ��
� G�
�� �������� �����# 7��� %(�� G/K ���A���	 
 ����
 G × G/K → G/K
�
� G �� (g, [h]K) �→ [gh]K # $���� 
 �����	�� ���	���	�
 p : G → G/K ����	
����	� ���	���	�
 ��	� �� �� ��"���� 
 �������� ����
 ����	 ����	�#

+�- 9/��� !��� G & %(��� S ��	 H ��� �������� �������� �
� G# 5
����


H × (G × S) → G × S : (h, (g, s)) �→ (gh−1, gs)

����	 ����	� ��	 � %(��� G ×H S = (G × S)/H ��� ���%	(� �
� '!����	
twisted product ��� G ��	 S#

&�- 1	� G ��� ���	�� ������� ����� ���A���	 �� ��	����� ���''�����
�!��� Haar# <� �'����
 ��� %(��� C0(G) ��� ����%(� ����������� �
�
G �� �	���	�!� �	�!� ��	 ������� ���!�� ��������� ��� %(�� L2(G) ���
��������	�� �'��'
�(�	��� ����������� �
� G# +��A���� �
� ���	���	�


λ : G × L2(G) → L2(G) : λ(g, f) = fg, ���� fg(x) = f(g−1x).

$���� 
 λ ����	 ����
 unitary �����%
���	��(� ���� L2(G) ��	 ����	 ����	�
����
 ���� ���%��� P = L2(G)\{0}# 9/��� || · ||2 
 ����� ��� L2(G) ��	
B(f, ε) 
 ���'� �!����� f ��	 ������� ε ���� L2(G)#

1	� f ∈ P ��	 d, ε > 0� 
����"�� �� �"��'�

Mf (d) = {g ∈ G : gB(f, d · ||f ||2) ∩ B(f, d · ||f ||2) �= ∅}.
F��� �
� �����	���
��� ��� �!���� Haar ��
� G� ����%�	 ������!� �"��'�
K ⊆ G �� (∫

G\K
|f |2dg

)1/2

< ε.



,-

1	� ��%�� u ∈ B(f, d · ||f ||2)� !%���� ||u||2 > (1 − d)||f ||2� �����(∫
G\K

|u|2dg

)1/2

≤
(∫

G\K
|u − f |2dg

)1/2

+

(∫
G\K

|f |2dg

)1/2

≤ d · ||f ||2 + ε.

/���!���∫
K
|u|2dg =

∫
G
|u|2dg −

∫
G\K

|u|2dg > (1 − d)2 · ||f ||22 − (d · ||f ||2 + ε)2.

�� ��� ���� ��� �	� 0 < d ≤ 1/3 ��	 ε ������ �	���� 	�%"�	 Mf (d) ⊆
K · K−1� ����� �� Mf (d) 
� ����	 �%��	�� ������!�@

9/��� g �∈ K · K−1 �� g ∈ Mf (d)# $��� g−1K ⊆ G\K ��	 
� ����%�	
u ∈ B(f, d · ||f ||2) �� gu ∈ B(f, d · ||f ||2)# B��

(1 − d)2 · ||f ||22 − (d · ||f ||2 + ε)2 <

∫
K
|gu|2dg =

∫
g−1K

|u|2dg

≤
∫

G\K
|u|2dg ≤ (d · ||f ||2 + ε)2,

�
'���

d ∈ (−∞,− ||f ||2 +
√

2ε

(
√

2 − 1)||f ||2
) ∪ (

||f ||2 −
√

2ε

(1 +
√

2)||f ||2
,∞),

��� ����	 ������ ���� 0 < d ≤ 1/3 ��	 �� ε ����	 ������ �	���#
1	� f1, f2 ∈ L2(G) ���A���� Vfi = B(fi,

1
7 ||fi||2), i = 1, 2# �� ��� ����

��� �� T = G(Vf1 , Vf2) ����	 �%��	�� ������!�� 	�	��
�� ��� ����	 	�%������

��� �
� ��
�	��
�� ���� Palais �	� �
� ����
@

1	� T �= ∅ ����%�	 g1 ∈ T �!��	�� (���

T = {g ∈ G : g(Vλ(g1,f1)) ∩ Vf2 �= ∅} · g−1
1 .

9B��� �����"�� �� ���
!����� ��� Vf1 ∩ Vf2 �= ∅ ��''	(� 
!����� f ′
1 =

λ(g1, f1)�# 0���%�	� '�	���� f ∈ Vf1 ∩ Vf2 # $���� ����� Vf1 ∪ Vf2 ⊆
B(f, 1

3 ||f ||2)� �����

T ⊆ G(Vf1 ∪ Vf2 , Vf1 ∪ Vf2) ⊆ Mf (
1
3
)

��	 �� T ����	 �%��	�� ������!� ��� �� ��(�� �!��� �
� �����	 
�# �



,2

���  �������� ������

1
���	� �0'0� '(��� G ��� ������

�� ����� ��� ��� �� 	��� ���� X� '(��
����)���� F ��� X "� �	
���
 ������$ �� ��
��� 3fundamental set4
��� X� ��

 � GF = X

!� �� F ����
 �
��� �)�����

6���� �0'0# /� ������
 "����
���� �)���� �� 	��� G � ���� X� ���� � G
����
 ���
�� �����
�� ��
 � ����� ����
 Palais � 
���
��

B�� �
� �%!�
 G(U, F ) = G(U,F ) �	� U, F ⊆ X ����"���	 ���� ���� ��
F ����	 
���'	(��� �"��'�� ���� ��	 �� F ����	 
���'	(��� �"��'�#

6���� �0'0' '(��� G ��� ���
�� �����
�� ����� ��� ��� 
���
� �� 	���
���� X� /� � X/G 	
��
 ���������
�� ��
 A ����
 �
��� ����)���� ��� X�
���� ������
 ���
��� "����
���� �)���� 

� ��� G ���� X ��� ���
	��
 �� A�

;�$
��� �0'0+ '(��� G ��� ���
�� �����
�� ����� ��� ��� 
���
� �� 	�
��� ���� X� /� � X/G ����
 ���������
��� ���� � X 	��
 "����
���� �)�����

$� �������� �����	��"��� �� �
����	�� �
 ��'!�
 �
� �����������	��
��� %(��� ��� ���%	(�#

2
	���� �0'0& '(��� G ��� ���
�� �����
�� ����� ��� ��� 
���
� �� 	���
���� X� /� ����
� ��� �
� �������� ���"���� 
��)�
 

� ��� X� ���� � X/G
����
 ���������
���

 � 9�����
 G � ���������� ����
�� ���� X�

!� 5 X ����
 ���
�� �����
�� ��
 σ � �����
���

2� 5 X ����
 ���������
��� ���
�� �����
�� ��
 � G ����
 σ � �����
���

4� 5 X ����
 ���
�� �����
�� ��
 ��"� ������
�� ���
����� ��� X ���
��
 ���
��� ��
 σ � �����
��� ,.
� ������

��$ � X �� ����
 ���
��
�����
��� ���
�� ������
��� ��
 ���������
���-

2�
���
��� �0'05 B�� �� �������� ������������ ��
���	 ���	�'��	�� ��
��(�
��@ �� � X ����	 !��� ����	�� G & %(���� ���� 
 �����������	� ��� X
����������	 �
� �����������	� ��� %(��� ��� ���%	(� X/GD $� ��������



�3

������	��� ����	 ���
�	�� �����
�
#

2�
� �����- �����"�� ���� R
2� !�� C∞ �'���� �	�������	�� ����� �
�

������ Y = f ∂
∂x � ���� f : R

2 → R ��� C∞ �����!�
� 
��	�� ������
�
 ��
�
���� �
���	���" �� �"��'� {(n, 1/n) : n ∈ N}# 9/��� X = R

2\⋃∞
n=1 Ln�

���� Ln = {(x, 1/n) : x ∈ (−∞, n]}# $��� 
 ����� R ��� ����	� ���� X
�!�� ��� �����	��" ���������� ��� �� �	�������	�� ����� Y # + %(��� ���
���%	(� X/R ����	 � R �� ����'���� ��� �����'����	 ��� �� ���	��� �"��'�
�
� ����
��� ����'����� ��� R �� ��	�'!�� ���	��� �"��'� �� R\{1/n : n ∈
N}# $� �'�	��� �"��'� {0} ��	 {1/n : n ∈ N} ��� �	�%���A����	 �G ���� �
�
����'����� ����!��� � X/R ��� ����	 �'���� �����	��� %(��� ��	 �����(��
��� �
� C�����
 3#�#,3� 
 ����
 ��� R ���� X ��� ����	 Palais ����	�# 9B���
��� �� F���� 3#)#)� � X ��� !%�	 
���'	(��� �"��'� ��	 ��� �� ��(�
��
3#)#*� � X/R ��� ������ �� ����	 ������������ %(���# �

C����!��	� ����� ���	��� �� ��(�
��� �� � %(��� ��� ���%	(� ����	 ����&
�������� ��
� �	�	�� ��������
 ��� 
 ����
 ����	 Palais & ����	�#



�������� �

���
	��  ��
�	� ��	
	
�������� 
��� !��������
��	 �� ��
������ Riemann

��
��� �������
�%�� ��� �
�����  
�����- .+/� .��/� .�#/ ��� .�'/0

��� ������� 	�� ��������	
� ��
���� �� ����	
 �!"

������� 	�� �!��	��	��� �����	��� ����!�

�� 
����"�� ���	�� ��������� ��	 ������	��"� %(����# + %(��� ��� ����%(�
���	�������� ��� ���	�� ������� ��	 ������	��" %(��� X ���� ����� ����
C(X, X)� 
� ����	 ����	���!��� �� �
� ������� & ���	��� ����'���� ��	 

����� I(X, d) 
� ����	 ����	���!�
 �� �
� ����'���� �
� �� ���%(��� ���
C(X, X)# �� �����'�A���� �� B(x, ε) �
 ���'� ������� ε > 0 ��	 �!�����
x ∈ X ��	 �	� ��
� �"��'� A ⊆ X �� B(A, ε) �
� !���
 �'�� ��� ε & ���'(�
�� �!���� �� �
���� ��� A#

1
���	� �0�0� '(�� ����)���� F ��� C(X, X) "� �	
���
 �����
��*� 3e-
quicontinous4� �� 

� ��"� x ∈ X ��
 ε > 0� ������
 δ = δ(x, ε) > 0
�	��
�� ���� 

� ��"� y ∈ X �� d(x, y) < δ ��
 ��"� f ∈ F �� 	�%"�	
d(f(x), f(y)) < ε#

7�� 	������%� ����"��'� ��� C(X, X) 
 �������� ���	��� ����'����
��������	 �� �
� ����'���� �
� ���� �
���� �"��'	�
�# $� �"��'� I(X, d)
����	 	������%!�� ����� �����"�� �� �� ��'�������� %�
�	����	(���� �
�

�,



��

����'���� �
� ���� �
���� �"��'	�
�# /��	��� � X ����	 ����	��� %(����
�����"�� �� %�
�	����	������ ���'��
��� �����������# 5 �������	� ���
	������%(� ����'�� %�����
��A���	 ��� �� �������

;�$
��� �0�0# ,Ascoli-Arzela- /� �� �)���� F ⊆ C(X, X) ����
 
�������	�
��
 �� �)���� F (x) = {f(x) : f ∈ F} ����
 ����
�� �����
	� 

� ��"� x ∈ X�
���� � ���
�������� F � ��� F ���� C(X, X) ����
 �����
	� ��
 
�������	�
�)����#

$� ��(�� ���	�� ����!'���� ��� 
� ��� ����� ����	 
 ���	�� �������	�
�
� I(X, d)#

2
	���� �0�0' � ����� I(X, d) ����
���	�� �� ��� �����
� � ���
���
������
�� ����
 ������

�� �����#

/����
3�# 5 �"�
��
 ����	 ����%�� �	��'� ��� 
 ��
� I(X, d) ��� �� 3#3#,�#
9/��� {fn}n∈N ��	 fn → f ∈ I(X, d)# $���� �	� ��
� x ∈ X !%����

d(fn
−1(x), f−1(x)) = d(f(f−1)(x), fn(f−1(x))) → 0,

����� fn
−1 → f−1 ���� �
����# �

6���� �0�0+ '(��� 	�� �)���� F ⊆ I(X, d)� ��


K(F ) = {x ∈ X : F (x) = {f(x) : f ∈ F} ����
 ����
�� �����
	� }.

&���� �� K(F ) ����
 ���
��� ��
 ���
��� ����)���� ��� X#

2�
���
��� �0�0& 5 ���	�� 	�!� �
� �������� �����	 
�� ����	 �� �������
��� �� ������	 F (x) �
� ���%	�� I(X, d)(x) ����	 ������!� ������ '��� �
�
���	��� �������	�� ��� %(��� X� �����"�� �� �� ������(������ �� �	�
�%��	�� ������� ���	�%� ��� ���� X#

/����
3�# �� ��� ���� ��(�� ��	 �� K(F ) ����	 ���	��� %�
�	����	(����
!�� ��'� ��	%���
�� �������	��@ 9/��� x ∈ X �!��	�� (��� �� F (x) �� ����	
������!�# + X ����	 ���	�� �������� %(���� ����!��� �	� ��
� y ∈ F (x)

� ����%�	 ηy > 0� (��� �� B(y, ηy) �� ����	 �%��	�� ������!�# $���

F (x) ⊆
⋃

y∈F (x)

B(y, ηy/2),



�)

������ '��� �������	��� 
� ����%��� {yi}k
i=1 �� F (x) ⊆ ⋃k

i=1 B(yi, ηyi/2)#
�!������ η = min{ηyi/2 : i = 1, . . . k}� !%����

B(F (x), η) ⊆
k⋃

i=1

B(yi, ηyi).

9B��� �� B(F (x), η) 
� ����	 �%��	�� ������!�#
9/���� �(��� y ∈ B(x, η)# $��� d(f(y), f(x)) = d(y, x) < η �	� ��
�

f ∈ F � �����

F (y) ⊆ B(F (x), η),

����!��� ��	 �� F (y) ����	 �%��	�� ������!�# 9B�� y ∈ K(F )� ��G ���� !����	
B(x, η) ⊆ K(F )� �
'��� ��	 �� K(F ) ����	 ���	���#

1	� �� ������ ���� ��	 ����	 ��	 �'�	���� 
����"�� !�� �
���� ����(����
&
� x ∈ K(F ) ��	 ε > 0 �� �� B(x, 3ε) �%��	�� ������!�# 1	� y ∈ B(x, ε) ∩
K(F ) !%����

F (y) ⊆ F (B(x, ε)) ⊆ B(F (B(x, ε)), ε) = F (B(x, 2ε)) =
⋃
f∈F

B(f(x), 2ε),

���� �	 �"� ��'������� 	���
��� 	�%"��� �	��	� �� f ∈ F ⊆ I(X, d)� ����
f(B(x, ε)) = B(f(x), ε)#

F��� �
� �������	�� ��� F (y)� ����%�	 ��������!�� �"��'� L ⊆ F ��
F (y) ⊆ L(B(x, 2ε))# 1	� ��%�� f ∈ F ����%�	 g ∈ L �� f(y) ∈ B(g(x), 2ε)�
�����

d(f(x), g(x)) ≤ d(f(x), f(y)) + d(f(y), g(x))
≤ d(x, y) + d(f(y), g(x)) < 3ε.

/���!��� F (x) ⊆ L(B(x, 3ε))� ����� �� F (x) ����	 �%��	�� ������!�� �
'���
x ∈ K(F )# �

2
	���� �0�05 � ����� I(X, d) ����
 ���
��� ����)���� ��� C(X, X)#

/����
3�# 9/��� {fn}∞n=1 ⊆ I(X, d) ��� ���'��
��� (��� fn → f # 1	� ��
�
x, y ∈ X 	�%"�	

d(x, y) = d(fn(x), fn(y)) → d(f(x), f(y)),

����� d(f(x), f(y)) = d(x, y) ��	 �����(� 
 f 
� �	��
��� �
� ����	�� d ��	

� ����	 ����%��# <!��	 �� ��� ���� ��� 
 f ����	 ���#



�*

9/��� F = {fn
−1 : n ∈ N}# B�� �� ���
��"���� F���� ��	 '���

�
� ������	���
��� ��� X� 
� !%���� K(F ) = X� ��� �
� ����̈��
��
 ��	
K(F ) �= ∅� ��� �'

�"�	@ �	� ��%�� x ∈ X 	�%"�	

d(x, fn
−1(f(x))) = d(fn(x), f(x)) → 0.

9/��� V ��� �%��	�� �������� ���	�%� ��� x# 5 ���'��
�� {fn
−1(f(x))}n∈N


� ���	!%���	 ��'	�� ��
� V � ����� �� F (f(x)) 
� ����	 �%��	�� ������!��
����!��� f(x) ∈ K(F ) �= ∅# B����� '�	���� �� ��� ���� ��	

F (X) = K(F ).

9/��� y ∈ K(F )# /����� �� F (y) ����	 �%��	�� ������!�� �����"�� ��
���
!����� ��� fn

−1(y) → x ��''	(� ������� �� �����'��
���� �	� ����	�
x ∈ X# /���!���

d(fn(x), y) = d(x, fn
−1(y)) → 0,

����� fn(x) → y# 9+��� fn(x) → f(x)� �����(� f(x) = y ��	 
 f ����	 ���# �

;�$
��� �0�07 � ����� I(X, d) ����
 ���
�� �����
��#

/����
3�# �� ��� ���� ��� ����%�	 �%��	�� �������� ���	�%� �
� ������	���
��� X ��
� I(X, d)� ����� 
� !%���� ��'�	(��	� '��� �
� ���!%�	�� ���
�������(� ��
� I(X, d)#

9/��� x ∈ X ��	 Vx ��� �%��	�� �������� ���	�%� ��� x# $���� �� �"��'�

I(X, d)(x, Vx) = {g ∈ I(X, d) : g(x) ∈ Vx}

����	 ���	�%� �
� ������	��� ��
� I(X, d) �	�%"�	 ���	�� �� ��
� ����%�
����
�� �����

I(X, d)(x, Vx)(x) ⊆ Vx,

����!��� x ∈ K(I(X, d)(x, Vx)) �= ∅# 9B��� ���� ���
����!���� !%����

K(I(X, d)(x, Vx)) = X.

B�� ���� ��	 �� ��(�
�� Ascoli-Arzela� �� I(X, d)(x, Vx)) ����	 �%��	��
������!� ���� C(X, X)# B��" 
 I(X, d) ����	 �'�	��� ���� C(X, X)� ��
I(X, d)(x, Vx) 
� ����	 �%��	�� ������!� ��	 ��
� I(X, d)# �



�8

2
	���� �0�08 � I(X, d) ��� 
���
� ���� ���� X#

/����
3�# B�� �� ���
��"���� ��(�
��� 
 I(X, d) ����	 ���	�� ���������
������ �"����� �� ��� 	���"���� ��	��� �
� ��
�	��
��� �	�	�� �	� �����	�
���	�� ������(� ������� ����� �	� ��
� x, y ∈ X �� ���"�� �������	%��
���	�%!� Ux, Uy (��� �� �"��'�

I(X, d)(Ux, Uy) = {g ∈ I(X, d) : (gUx) ∩ Uy �= ∅}

�� ����	 �%��	�� ������!� ��
� I(X, d)#
/�	'!����� �� ε !��	 (��� �� B(y, 2ε) �� ����	 �%��	�� ������!� ��	


!����� Ux = B(x, ε), Uy = B(y, ε)# 1	� g ∈ I(X, d)(Ux, Uy) ��	 z ∈ Ux ��
g(z) ∈ Uy 
� !%����

d(g(x), y) ≤ d(g(x), g(z)) + d(g(z), y) = d(x, z) + d(g(z), y) < 2ε,

�����

g ∈ F = {h ∈ I(X, d) : h(x) ∈ B(y, 2ε)},

�����(�

I(X, d)(Ux, Uy) ⊆ F.

B���!��	 �� ������ ���� ��	 �� F ����	 �%��	�� ������!�@ B�� �� ��!��� ���&

��"����� ��������	 ��	 x ∈ K(F )� ���" �� B(y, 2ε) ����	 �%��	�� ������!��
����!��� K(F ) = X# B�� �� F���� ,#3#* ��	 ��� �� ��(�
�� Ascoli-Arzela�
!����	 ��	 �� F 
� ����	 �%��	�� ������!� ���� C(X, X)# 9B��� '��� �
� �&
'�	����
��� �
� I(X, d) ���� C(X, X)� �� I(X, d)(Ux, Uy) 
� ����	 �%��	��
������!� ��
� I(X, d)# �

$� ������� 
�(�
�� ��� ���%��	 ���� ��� ��	��!��� ����̈��
!��	�� ��&
� ����� G ��� ��� �� !��� %(�� X ������ �� ����	 �������� �
� ������
��� 	������	(� ��� %(��� X ����	���!��� �� ��� ����	�� ������� �� �
�
����'���� ���� ���	 ��� �����	��"�	 ��� ��'� ��� ������ 	������	(� ��
�
������ ��� 6������#

;*�
��� �0�0� '(��� G ��� ���
�� �����
�� ����� � ����� ��� 
���
� ��
	��� ���
�� �����
�� ����
����
��
�� ���� X �� ���������
� ���� ����
�
�� X/G� &���� ������
� ����
�� d ���0��� �� ��� ������
�� ��� ������
�	��
�� ���� � G �� ����
 �������� ��� I(X, d)� ������ � d �� ����
 G �



�:

����������#

/����
3�# 9/��� φ 
 ����
 �
� G ���� %(�� X ��	 d∗ : X × X → R
+ ���

���	������� ����	�� ������� �� �
� ����'���� ��� %(���# B�� �
� 3#)#)�
����%�	 ���	��� 
���'	(��� �"��'� F # +��A���� �
� H��������	��

d1 : X × X → R
+ : d1(x, y) = inf{d∗(x, y), d∗(x, F c) + d∗(y, F c)},

�	� ��
� x, y ∈ X� 
 ����� ����	 ����%�� ���� X × X �� �
� ��������

����'���� & �	������ ��� �
� d∗� '��� �
� �%!�
�

|d1(x, y) − d1(x′, y′)| ≤ d1(x, x′) + d1(y, y′) ≤ d∗(x, x′) + d∗(y, y′).

+ ���	�� �������� ����	����	��	��� %(��� X ����	 ���	�'��	��� ��	 �� F c

����	 �'�	��� �"��'� ���� X# 9B��

d(x, F c) = 0 ⇔ x ∈ F c ⇒ d1(x, y) = 0 ⇔ x = y � x, y ∈ F c.

9/��� �(�� x, y ∈ X �� x �= y# 5 ���	���	�


H(x,y) : G → R
+ : g �→ d1(gx, gy),

����	 ����%��# �� ��� ���� ��	 
 H(x,y) !%�	 ������� ���!�� ����� ������ ��
%�
�	����	

�� 
 �'��'����
 �@ �!��� Haar� ��
� G#

$� F ����	 
���'	(��� �"��'�� ����� ����%��� Ux, Uy ���	�%!� ��� x ��	
y� �������	%�� (��� �� Kx = G(Ux, F ) ��	 Ky = G(Uy, F ) �� ����	 �%��	��
�������# $���

supp H(u,v) = {g ∈ G : gu ∈ F � gv ∈ F} ⊆ G(Ux, F ) ∪ G(Uy, F ),

�	� ��
� (u, v) ∈ Ux × Uy# 7����(� 
 H(x,y) !%�	 ������� ���!�#
+��A���� �
 H��������	��

d : X × X → R
+ : d(x, y) =

∫
G

d1(gx, gy)dg,

�	� ��
� x, y ∈ X#
5 d ����	 G & ���''����
� ���" �� �!��� Haar ����	 ���''����� ��� �	�

�������!� ��
� G# /���
�� 
 d ����	 ����	��# C������	� �	� x, y ∈ X ��
d(x, y) = 0 �� �"��'�

K = {g ∈ G : H(x,y)(g) �= 0} = G(x, F ) ∪ G(y, F ) = φx
−1(F ) ∪ φy

−1(F )



�.

!%�	 �
���	�� �!��� ��	 �����%���� 
� ����	 ���	��� ��
� G# 9B��� 
� ��!��	
�� 	�%"�	 K = ∅# 9+���� ���� ����'�����	 �	� x �= y� ���" �� F �!���	 ��
�
���%	� �
� G ���� X �� 
���'	(��� �"��'�# /���!��� x = y� �
'��� 
 d
����	 ����	��# <!��	 �� ��� ���� ��� 
 d ����	 ������� �� �
� ����̈���%����
����'���� ��� %(���#

9/��� Td, Td∗ �	 ����'����� ��� d ��	 d∗� �������	%� ��	 Ux, Uy ���	�%!�
��� x, y ���� ���
����!���# �����"�� ���� Ux×Uy �
� ����'���� �	������
��� �������	 ��� �
� d∗|Ux×Uy # 9/���

{(ui, vi)}i∈N ⊆ Ux × Uy �� (ui, vi) → (u, v) ∈ Ux × Uy.

$���� �	� ��
� g ∈ G !%����

H(ui,vi)(g) → H(u,v)(g), ����� H(ui,vi) → H(u,v)

���� �
���� ���� C(G, R)# /���
�� �	� ��
� (w1, w2) ∈ Ux × Uy 	�%"�	 ��	
supp H(w1,w2) ⊆ Kx ∪ Ky� �����

|H(w1,w2)(g)| ≤ max
h∈Kx∪Ky

|H(w1,w2)(h)| < ∞,

�
'��� H(w1,w2) ∈ L1(G)# B�� �� ��(�
�� ;��	��%
�!�
� 7"�'	�
� �	� ��
�!��� Haar �
� G ����"���	

d(ui, vi) =
∫

G
d1(gui, gvi)dg →

∫
G

d1(gu, gv)dg = d(u, v).

/���!��� 
 d|Ux×Uy ����	 ����%�� ���� Ux × Uy# 9/��� ε > 0# $���� 

d(x, ·) : Ux → R

+ ����	 ����%��� ����� ����%�	 δ > 0 �� Bd∗(x, δ) ⊆ Ux

��	 d(x, y) < ε �	� ��
� z ∈ Bd∗(x, δ)# 9B�� Bd∗(x, δ) ⊆ Bd(x, ε)� �
'���
Td ⊆ Td∗ #

<!��	 �� ��� ���� ��� ����
��� ���'�	���@ 9/��� ε > 0 ��	 x ∈ X#
�!'���� �� ����%�	 δ > 0 �� Bd(x, δ) ⊆ Bd∗(x, ε)# $� F ����	 ���	���

���'	(��� �"��'�� ����� ����%�	 g ∈ G� (��� gx ∈ F # F��� �
� ���!%�	��
�
� ����
�� ����%�	 δ1 > 0 �!��	�� (���

Bd∗(gx, δ1) ⊆ F

��	

g−1Bd∗(gx, δ1) ⊆ Bd∗(x, ε).

B� ���"�� δ > 0 �� Bd(gx, δ) ⊆ Bd∗(gx, δ1)� ����

Bd(x, δ) = g−1Bd(gx, δ) ⊆ g−1Bd∗(gx, δ1) ⊆ Bd∗(x, ε),



�-

���" 
 ��(�
 	���
�� 	�%"�	 ���	�� 
 d ����	 G & ���''����
# 9B��� �����"�� ��
���
!����� � ��%�� ��� x ∈ F ��	 ��� �� Bd∗(x, ε) ����	 �%��	�� ������!�
����"��'� ��� F #

<�� ���	�%� U ��� e 
� '!����	 ������
��� �� �	� ��
� g ∈ U 	�%"�	
g−1 ∈ U # +	 ��������� ��	 �������	�!� ���	�%!� ��� e �����'�"� ���
 ���	&
�%(� ���# F��� �
� ���!%�	�� �
� ����
�� ����%�	 �������� ��	 �������	��
���	�%� V1 ��� e (��� �� 	�%"�	 V1x ⊆ Bd∗(x, 2

3ε)# 9/��� 0 < r < ε/3#
C�'	 '��� �
� ���!%�	�� �
� ����
�� �	� ��
� y ∈ Bd∗(x, 2

3ε + r) ����%���
�������� ��	 �������	�� ���	�%� Vy ��� e ��	 ���	�%� Wy ��� y ∈ X �!��	���
(��� �� 	�%"�	 VyWy ⊆ Bd∗(x, ε)# $���

Bd∗(x,
2
3
ε) ⊆

⋃
y∈Bd∗ (x, 2

3
ε+r)

Wy,

������ '��� �������	��� ����%��� yi ∈ Bd∗(x, 2
3ε + r), i = 1, . . . , k� ��

Bd∗(x,
2
3
ε) ⊆

k⋃
i=1

Wyi .

$� V2 =
⋂k

i=1 Vyi ����	 �������� ��	 �������	�� ���	�%� ��� e# 1	� g ∈ V2

��	 z ∈ Bd∗(x, 2
3ε) ����%�	 yi◦ , i◦ ∈ {1, . . . , k}� �!��	�� (��� z ∈ Wyi◦ # $���

gz ∈ Vyi◦Wyi◦ ⊆ Bd∗(x, ε),

�����

V2Bd∗(x,
2
3
ε) ⊆ Bd∗(x, ε).

9/���� �(��� g ∈ V = V1 ∩ V2 ��	 y �∈ Bd∗(x, ε)# $���� �� d∗(gx, gy) < ε/3�

� !%����

d∗(x, gy) ≤ d∗(x, gx) + d∗(gx, gy) ≤ 2
3
ε,

���" gx ∈ V1# 9B��

y = g−1(gy) ∈ V2Bd∗(x,
2
3
ε) ⊆ Bd∗(x, ε),

��� ����	 �����# /���!���� �	� ��
� g ∈ V ��	 y �∈ Bd∗(x, ε) 
� 	�%"�	

d∗(gx, gy) > ε/3.



�2

=���� �'��
 �
� ���	���
���� ���
!����� ��� ε < d∗(x, F c)� ���� !%����
���
!��	 ��	 Bd∗(x, ε) ⊆ F # $���� �	� ��
� g ∈ V1 ��	 z ∈ F c 	�%"�	

d∗(x, z) ≤ d∗(x, gx) + d∗(gx, z),

�
'���

d∗(gx, z) ≥ d∗(x, z) − d∗(x, gx) ≥ d∗(x, F c) − d∗(x, gx) ≥ 2
3
ε.

9B��� �	� ��
� g ∈ V1, y �∈ Bd∗(x, ε) 	�%"�	 d∗(gx, F c) ≥ 2
3ε� �����

d∗(gx, F c) + d∗(gy, F c) ≥ ε/3.

B�� �	� �,#,� ��	 �,#��� ����"���	 ��	

d1(gx, gy) ≥ ε/3,

�	� ��
� g ∈ V, y �∈ Bd∗(x, ε)# /���!���

d(x, y) =
∫

G
d1(gx, gy)dg ≥

∫
V

d1(gx, gy)dg ≥ ε/3
∫

V
dg

�	� ��
� y �∈ Bd∗(x, ε)# 9/��� δ = ε/3
∫
V dg# $���� �	� ��
� y ∈ Bd(x, δ)

!%���� y ∈ Bd∗(x, ε)� ����� Bd(x, δ) ⊆ Bd∗(x, ε)� �
'��� Td∗ ⊆ Td� ��	 
 d
����	 ������� �� �
� ����'���� ��� %(��� X# �

2�
���
��� �0�0�� + ���	��� ��'�� ��� �!���� Haar ��
 ������ ���
6������ ����	 �� ����	 G & ���''������ ���������	�� �'��'
�(������ �

���''������# 9/��	� ��
� �������� �����	 
� ������� �
� G ���''����

����	�� �� �"�� d(u, v) =

∫
G d1(gu, gv)dg#

<� ���
 �� �������� �
����	�� ��(�
��� 
� ������ ���� ��� ���'��
�
%�����
�	��� ��� 	������	�(� �������#

;�$
��� �0�0�� '(��� X 	��� ���
�� �����
�� ��
 ������
��� ����
���
����� ��
 d ��� ���0��� ����
�� ���� X� &���� ��"� ���
��� �������� G
��� ������ ��� 
������
�� I(X, d)� ��� 
���
� ���� X� /���������� 	��� G
��� ����� ��� ��� �
��� ��
 
���
� �� 	��� ���
�� �����
� ���� X� &����
������
 ���� ���0��� �� ��� ������
�� ��� ����� ����
�� d ��
 	��� ��������
�
���� Φ : G → I(X, d)� ���� � Φ �� ����
 
������
���� ��� ��� �
����� ����
�� Φ(G) �� ����
 ���
��� �������� ��� I(X, d) ��
 � ����� (Φ(G), G) �� ����




)3


���)���� �� ��� ���
���

/����
3�# $� ��(�� ������	 ��� ���������� ����	 ������!� ��� �
� C�����

,#3#- ��	 �� 3#�#:�,�#

B���������� !��� φ 
 ����
 �
� G ���� X# 1	� ��
� g ∈ G 
 φg ��&
��	 ���	�����	���� ��� %(��� X� ����� ���A���	 � ����%��� ��� �
� 3#3#,��
��������	����

Φ : G → H(X) : g �→ φg,

���� H(X) ����	 �� �"��'� ��� ���	�����	��(� ��� %(��� X ����	���!��
�� �
� ������� & ���	��� ����'����# 9+��� 
� ������ ���� ��!��� 
 Φ ����	
���	�����	���� ��� �
� �	����� �
�#

C������	� !��� ��� 
 Φ ��� ����	 ���	�����	���� ��� �
� �	����� �
�#
$���� ����%�	 ������ {gi}i∈I �� φgi → φg �	� ����	� g ∈ G ��	 gi �→ g# B�
��
� ��������� ��� �	��"�� ��%� ���'���� ���������� ���� �� g1 ��	 g2 ����	
�"� �	������	�� ��	� �"� ����	��"�� ��� {gi}i∈I � 
� ��%��� φg1 = φg2 � '���
���!%�	�� �
� Φ# B��" 
 ����
 ����	 �	���� ���� �
�����	 g1 = g2� ����� ��
{gi}i∈I !%�	 �
� 	�	��
�� ��� ��
� ��������� ��� !%�	 ��������� ��� ���'���	
�� ��	�� ��	�# 9B��� �� h ∈ G ����	 �� ��	�� ��	�� ���� 	�%"�	 gi → h ��	�
'��� �
� �	����
��� �
� ����
�� h = g� ��� ����	 ����� ��� �
� ��%	�� ���
���
��
# /���!���� 
� ��!��	 �� ����%�	 ��������� {gij}j∈J � �� gij → ∞#
$��� ����� �	� ��%�� x ∈ X 
� !%���� gijx → gx ��	 gij → ∞� ���"

 �"�'	�
 ��
� ������� & ���	��� ����'���� ����������	 �
� ���� �
����
�"�'	�
# 9B�� gx ∈ L(x)� ��� ����	 ����� ��� �
� ��
�	��
�� �
� ����
�#
7����(� gi → g1� �	� ����	� g1 ∈ G# B��" 
 ����
 ����	 �	��� 	�%"�	 g1 = g�
����� 
 Φ 
� ����	 ���	�����	���� ��� �
� �	����� �
�#

+ X 
� !%�	 ����������� %(�� ���%	(�� ��� �
� 3#)#8�*�# 9B��� ��� ��
���
��"���� ��(�
��� ����%�	 G & ���''����
 ������� ����	�� d ���� X#
/���!��� G ∼= Φ(G) ⊆ I(X, d)# 9+��� 
 Φ(G) ��� ����	� ���� X� ������
'��� �
� 3#�#.� 
� ����	 ���	�� �������� ��	 �����(� �'�	��� �������� �
�
I(X, d)# �?'!�� I8J� Ch. III, 2.1, Prop.4�# �

��� ������� ��
���� �� �������#����� 	�� �����"

����� Riemann

7�
 ���!%�	� ��	 �!%�	 �� �!'�� ��� ,�� ����'����� 
 M 
� ����	 ������	��
��''��'��
�� Riemann �� ����	�� ������� g ��	 
 I(M, d) 
� ����	 
 �����



),

	������	(� �
� M � ���� d 
� ����	 
 ��������
 ����	�� ��
� M � ��� ��
����	�� ������� g#

B�� �� ��(�
�� ,#3#. ��	 �
� C�����
 ,#3#-� 
 I(M, d) ����	 ���	��
�������� ����'��	�� ����� ��� ��� ����	� ��
� M # �� ��� ���� ��� 

I(M, d) ����	���!�
 �� �
� ������� & ���	��� ����'���� ����	 ����� Lie ���
��� �	������	�� ��
� M # 7�
� �����	 
 ����" ��� �����'!������ 
� %�
�	&
����	������ �� �������� ��(�
��� �� ����� ���A�	 �
����	�� ��'� ��
�
�����	 
 ��� 8�� ����'������ ��� Hilbert ��	 ��� ������ �
� �����	 
 ����&
'�������� ���	�� ���������	 ��
� �������!�
 �����	��	�� �	��	����� �	� �
�
�����
�
 ��� 8� ����'
�� ��� Hilbert �?'!�� I,�J� Ch. 4, 4.2, Th.2 ��	
Cor.2�#

;�$
��� �0�0���� ���
�� �����
�� ������

�� ����� G ����� �
��	� ����
������� ,������ ������
 ���
��� ��� e ��� ��� ���
	��
 ����� ��������� ���
G ����� ��� ��� ����
��	��- ����
 ����� Lie#

2	
���� �0�0# *�"� ���
��� �������� ���� ������ Lie ����
 ����� Lie#

$� ������� ��(�
�� %�����
��A�	 �	� 	��������� ���� ��''��'��
��� Rie-
mann@

;�$
��� �0�0' �Myers-Steenrod� '(��� M ��
 M ′ �)� ������������� Rie-
mann �� ����
��)� ������	� g ��
 g′� ����
�	� d, d′ ��
 �
������
� n ��
 m�
�������
��� '(��� ������ f : M → M ′ ��� ���
���
�� ��� �
������ �
� ����
�	�
d, d′� &���� � f ����
 �
������
�� ��
 �
������ ���� ����
��)� ������	�#

2�
���
��� �0�0+ �� ����
�������� ����	� ���	��� %���	�� �	� �
� ���!&
%�	�� �����'!����� ��� �
 1�������� Riemann# 1	� ���	�������� '�����!��	��
�����!������ ��� �	�'�� I,,J� Vol. I, Ch. 4# �!�����

Ax(r) = {u ∈ TxM : gx(u, u) < r} ��	 B(x, r) = {y ∈ M : d(x, y) < r}.
9/�� ���	��� ����"��'� W �
� M '!����	 ����	��
%� ��
�
��	� ��

����%�	 δ > 0 �!��	�� (��� �	� ��
� y ∈ W �� 	�%"�	 W ⊂ expy(Uy(δ))#
9/�� ����"��'� U �
� M '!����	 ���	������ �����	�� ��	 ����
� ���"

 ������� ��
�	� �� ����	 ���	������ �����	�� ��	 �	� ��
� �"� �
���� ���
x, y ∈ U � ����%�	 ��
� ��	 �����	�	��� ����� γ ��� �� ����!�	 ��	 ����
�� ����� ���	!%���	 ��
� U ��	 	�%"�	 d(x, y) = ����� �γ�# B�� ������

�(�
��� ��
� �
���� ��
� M !%�	 �	� ���
 ���	������ �����	�(� ��	 	�%���
�����	�	��� ����(� ���	�%(� ��
� ����'���� �
� M # B���� ����	 ��'	��� �
'���� �	� ��� ����� 
 d ����	 ������� �� �
� ����'���� �
� M #



)�

9/��� �(�� x ∈ X# 0���%�	 ε > 0 (��� �	� ��
� 0 < ρ < ε �� 	�%"���
�� � ��@

�� +��A���	 
 ��
��	�� ���	���	�
 expx : Ax(ρ) → B(x, ρ) ��	 ����	 ���	&
�	����	�
#

�� $� B(x, ρ) ����	 ���	������ �����	�� ��	 	�%��� �����	�	��� �����
���	�%� ��� x#

�� $����A����� �� ��%�� y ∈ M �� �� (y, 0) ∈ TM � �����"�� �� ���&

!����� ��	 ����%�	 ���	�%� By ��� �
����� ��
� (TyM, || · ||y)� (��� 

expy : By → B(x, ρ) �� ����	 ���	�	����	�
# �!������ V =

⋃
y∈B(x,ρ) By


 ���	���	�


Exp : V → B(x, ρ) × B(x, ρ) : (p, up) �→ (p, expp up)


� ����	 ���	�	����	�
� ���� �� V ����	 ���	��� ����"��'� ��� TM #
9/���� �(��� x ∈ M ��	 r > 0� (��� �� B(x, r) �� ����	 ���	������

�����	�� ��	 	�%��� �����	�	��� ����� ����"��'� ��� M # 9/�� ����"��'�
A ⊆ B(x, r) 
� '!����	 ��� ������� ��
�	� �� �	� ��
� �"� �
���� ���
A� 
 �����	�� �'�%	��
 �����	�	��� ��� �� ����!�	 ���	!%���	 ��� A# 1	�
������	��� �� B(x, r) ����	 �����	�	��� �����# /���
�� �	� y ∈ B(x, r) ����&
%�	 ε > 0� (��� B(y, ε) ⊆ B(x, r)� ����� �� B(y, ε) ����	 ��	 ���� �����	�	���
�����# 1��	��� !�� �"��'� A ⊆ B(x, r)� ����	 �����	�	��� ����� �� ��	 ����
�� �	� ��
� y ∈ A �� �"��'� Exp−1(A) ∩ TyM ����	 ���
	��
%� ��
����
�
'��� �	� ��
� v ∈ Exp−1(A) ∩ TyM �� ��
"������ ����� {tu, t ∈ [0, 1]}
���	!%���	 ��	 ���� ��� Exp−1(A) ∩ TyM # 7����(�� ���� A ⊆ B(x, r)� ��
A 
� ����	 ��	 ���� �����	�	��� �����# 1	� ������	���� �� B(x, ρ) ����	 ��	
���� �����	�	��� ������ ���� 0 < ρ < ε# 9/��	� ��
� y ∈ B(x, ε) !%�	 �	�
���
 �����	�	��� ����(� ���	�%(�� 
 �'�	����
�� ��� ������ ���	�%���	 ���
B(x, ε) ��	 ��� ����	 �����	�	��� �����# 7�����	�!��� �	� y ∈ B(x, ε) ��	 �	�
����''
'� b > 0� 
 �	���!��	� {B(y, σ)}σ∈(0,b) �����'�� ���
 ��� �����	�	�&
�� ����!� ���	�%!� ��� y#

1
���	� �0�0& %� 	��� ����
�� ���� (M, d) 	�� segment ����
 � �
����
�
�� ������)� ���
���
��� X : [a, b] → M �� ��� 
�
�����$ 

� ��"� t1, t2, t3 ∈
[a, b] �� t1 ≤ t2 ≤ t3 
��)�
 � ��	��

d(X(t1), X(t2)) + d(X(t2), X(t3)) = d(X(t1), X(t3)).

2�
���
��� �0�05 5 !���	� ��� segment ���	��"�	 �
� !���	� ��� ��
�&
������� ��������# 9+��� ����	 ������������ ���� � ����	��� %(��� ����	



))

��''��'��
�� Riemann� ���� !�� segment ����	 !�� �����	�	��� ������	@

6���� �0�07 '(��� M ��� ������������ Riemann �� ����
�� ������� g ��

�������
�� ����
�� d� &���� ��"� segment X : [a, b] → M ����
 
����
�
���#

/����
3�# 9/��� t ∈ [a, b] ��	 U ��� ���	������ �����	�� ��	 	�%��� ���&
��	�	��� ����� ���	�%� ��� X(t)# F��� ���!%�	��� ����%�	 ε > 0 (���
X([t − ε, t + ε]) ⊆ U # $���� ��� �� �
���� X(t − ε) ��	 X(t + ε) �	!�%�&
��	 �����	�� �����	�	��� τ : [t − ε, t + ε] → U ��

τ(t − ε) = X(t − ε), τ(t + ε) = X(t − ε)

��	

d(X(t − ε), X(t + ε)) = Lt+ε
t−ε(τ) =

∫ t+ε

t−ε
||τ̇(s)||τ(s)ds.

9/���� �(��� ��	 ����%�	 c ∈ [a, b] �� X(c) �= τ(c) ��	 !��� γ, γ′ �	
�����	�!� �'�%	���� �����	�	��!� ��� �� X(t− ε) ��� X(c) ��	 ��� �� X(c)
��� X(t + ε)� �������	%�# 9/���

γ ∗ γ′ : [t − ε, t + ε] → U : (γ ∗ γ′)(s) =
{

γ(s), t − ε ≤ s ≤ c
γ′(s), c ≤ s ≤ t + ε

.

B��" �� X(c) ��� ���	!%���	 ��
� τ � '��� �����	���
���� 
 γ ∗ γ′ ���
������ �� ����	 
 �'�%	��
 �����	�	��� ��� ����!�	 �� X(t − ε), X(t + ε)#
9B��

d(X(t − ε), X(c)) + d(X(c), X(t + ε)) = Lc
t−ε(γ) + Lt+ε

c (γ′)
= Lt+ε

t−ε(γ ∗ γ′) > Lt+ε
t−ε(τ)

= d(X(t − ε), X(t + ε))

��� ����	 ������ ���" 
 X ����	 segment# 9B��� 
 X 
� �����A���	 �� �
� τ
��� [t − ε, t + ε]#

7����(� �	� ��
� t ∈ [a, b] ����%�	 εt > 0� (��� 
 X|[t−εt,t+εt] �� ����	
�����	�	���# /���!���� 
 X 
� ����	 �����	�	���# �

2�
���
��� �0�08 B�� �� ��������� �� �	� ��� ����"'
 X : [a, b] → M
	�%"�	 ��	 d(X(t1), X(t2)) = |t1 − t2|� �	� ��
� t1, t2 ∈ [a, b]� ���� 
 X ����	
segment ��	 �����(� �����	�	���# <�'	��� 
� ����	 ��������	��!�
 �� ��
����� �
�#



)*

2�
���
��� �0�0� $� ���
��"���� F���� ����	 !��� �������	�� %���&
��
�	��� �	� �
� �����	�	��!�� � ������ %�
�	����	�� ���� �
� ���!%�	� �	��
����"'
� �	� �� ����'� �	 ��
� �	����	�	���
�� �
�� �� �����	�	����#

2	
���� �0�0�� '(��� τ : [a, b] → M �
� ���� ������� C1 ����)�� ���
����	�
 �� x, y ∈ M � '(���� ������� ��� L(τ) = d(x, y)� &���� � τ ����


����
�
���� /�� ��
��	��� � ||τ̇(·)||τ(·) : [a, b] → R

+ ����
 ���"��� �� ����
s ∈ [a, b]� ���� � τ "� ����
 ��������
��	�� �� �� ����� ��� ��� ��� ���"���
����#

/����
3�# $� ��"���� �!��� ��� C��������� ����	 ����	��!��# 1	� �� ��(��
�!���� ����� �� ��� ���� ��� 
 τ ����	 segment#

9/��� '�	��� a ≤ t1 ≤ t2 ≤ t3 ≤ b ��	 τ(a) = x, τ(b) = y# �!�����
xi = τ(ti) �	� i = 1, 2, 3# 9/���� ����
�� ��� �� τ1, τ2, τ3, τ4 ����	 �� ������	�
�
� τ ��� ���	���	%�"� ��� [α, t1], [t1, t2], [t2, t3], [t3, t4]#

/ ��	���" �
� ����	��� d !%���� ���

d(x, x1) ≤ L(τ1), d(x1, x2) ≤ L(τ2), d(x2, x3) ≤ L(τ3) ��	 d(x3, y) ≤ L(τ4).

9/��� ��� ��� ��� ���!� �
� ��	���
��� ����	 ����	�# $���

d(x, y) ≤ d(x, x1) + d(x1, x2) + d(x2, x3) + d(x3, x4)
< L(τ1) + L(τ2) + L(τ3) + L(τ4)
= L(τ) = d(x, y)

�� ����� ����	 �����#
9+��	� ����"���	 ��	 d(x1, x3) = L(τ2 ∗ τ3)# /���!���

d(x1, x2) + d(x2, x3) = L(τ2) + L(τ3) = L(τ2 ∗ τ3) = d(x1, x3),

����� 
 τ ����	 segment ��	 �����(� �����	�	���# �

6���� �0�0�� '(��� M ��� n � ������������ Riemann �� ����
�� �������
g ��
 ���
����� ����
�� d� '(���� ������� x ∈ M ��
 v, w ∈ TxM �)�
�����
��� �
��)������ .
� s ∈ R ������ �
���� ���#����
 �
 
����
�
��	�
�� �)���� α(s) = expx(sv) ��
 b(s) = expx(sw)� '(��� ω ∈ [0, π]� ����
cos ω = gx(v, w)� &��� 
��)�
 ��


sin
ω

2
= lim

s→0

d(α(s), b(s))
2s

.



)8

1	� �
� �����	 
 �����!������ ��� I,,J� Ch. IV, Sec. 3, Th. 3.10# �

/����
3� ��� :���������  � �2# 9+'�� �	 �����	�	��!� 
� 
����"���	 ������&
��	��!��� �� �� ����� ����# 9/��� x◦ ∈ M �� y◦ = f(x◦) ∈ M ′# F���
�
� ���!%�	�� �
� f � ����%��� U ��	 V ���	������ �����	�!� ��	 	�%"��
�����	�	��� ����!� ���	�%!� ��� x◦ ��	 y◦� �������	%�� �� f(U) ⊆ V # 9/���
vx◦ ∈ Tx◦M �� ||vx◦ ||x◦ = 1 ��	 τ : [−ε, ε] → U 
 �����	�	��� ��� U ��
��%	�!� ���
���� (x◦, vx◦)# $���� �	� ��
� t1, t2 ∈ [−ε, ε] 	�%"�	

d′(f(τ(t1)), f(τ(t2))) = d(τ(t1), τ(t2)) = |t1 − t2|.

B�� �
� C������
�
 ,#,#-� 
 f ◦ τ ����	 �����	�	��� ��������	��!�
 �� ��
����� �
�� ����!��� 
 f ��!'��	 �����	�	��!� ��������	��!��� �� �� �����
���� �� �����	�	��!� ��������	��!��� �� �� ����� ����# 7����'�A���� ��
F (vx◦) �� �	������ ��� Ty◦M

′ ��� ����	 
 ��"���
 ��� �	� �"� ��%	�!� ���
�&
��� �
� f ◦ τ #

$� F (vx◦) ����	 �����	��� ���� (Ty◦M
′, ||·||′y◦)� ���" 
 f◦τ ����	 ��������	&

��!�
 �� �� ����� �
�# /���
�� 	�%"�	 F (−vx◦) = −F (vx◦)# C������	�

 �����	�	��� τ ′ : [−ε, ε] → U �� ��%	�!� ���
���� (x◦,−vx◦) !%�	 �"��
τ ′(s) = τ(−s)� '��� �
� �����	���
��� �
� '"�
� �
� �	����	��� � ���&
�
� ��� �����	�	��(� ��� �	� �������	�!��� ��%	�!� ���
����# 5 τ ′ ����	
��������	��!�
 �� �� ����� �
�# 9B��� 
 f ◦ τ ′ ����	 
 �����	�	��� �� ��%	�!�
���
���� (y◦,−F (vy◦)) ��	 
 �%!�
 ����"���	 ��� ��� ��	��� ��� F (−ux◦)#
<� ����� ��� ����� ���A���	 
 ���	���	�
 F ��� ���	����A�	 �����	��� �	��"&
����� ��� Tx◦M �� �����	��� �	��"����� ��� Ty◦M

′#
9/��� �(�� γ : [−ε, ε] → U �����	�	��� ���
���� ��%"�
���� �� ��%	�!�

���
���� (x◦, v) ∈ Tx◦M\{0}# $���� 
 �����	�	���

γ′ : [−ε/||v||x◦ , ε/||v||x◦ ] → U : γ′(s) = γ(s/||v||x◦)

!%�	 ��%	�!� ���
���� (x◦, v/||v||x◦) ��	 ����	 ��������	��!�
 �� �� ����� �
�#
/���!���� 
 �����	�	��� f ◦γ′ !%�	 ��%	�!� ���
���� (y◦, F (v/||v||x◦))# 9B���
�	� �� s ��� ����� ���A���	 
 γ� 
 �����	�	��� f ◦ γ 
� 	������	�� �
� �%!�


(f ◦ γ)(s) = (f ◦ γ′)(||v||x◦s)

��	 
� !%�	 ��%	�!� ���
���� (y◦, ||v||x◦F (v/||v||x◦))# <����"��� '�	���� ��
������������ �
� F �� � ��@

F : Tx◦M → Ty◦M
′ : F (v) =

{ ||v||x◦F (v/||v||x◦), v ∈ Tx◦M\{0}
0, v = 0

.



):

+������ F (0) = 0� �	��	 
 �����	�	��� γ : R → U �� �"�� γ(s) = x◦ !%�	
���
��� ��%"�
�� ��	 ��%	�� ���
��
 (x◦, 0)� ����� 
 f ◦ γ 
� !%�	 ��%	��
���
��
 (y◦, 0)#

/ ��	���"� 
 F 	������	�� �	� �%!��	�

F (λv) = λF (v) ��	 ||F (v)||′y◦ = ||v||x◦

�	� ��
� λ ∈ R, v ∈ Tx◦M # /�	�'!��� 
 F ����	 ,&,# C������	� �	�
v1, v2 ∈ Tx◦M �� F (v1) = F (v2) 
����"�� �	� �����	�	��!� ���
���� ��%"�
&
��� γ1 ��	 γ2 �� ��%	�!� ���
���� (x◦, v1) ��	 (x◦, v2)� �������	%�# $���� �	
������	��!� f ◦γ1, f ◦γ2 
� !%���� � ���
!����� �	� ��	�� ��%	�!� ���
�����
������ 
� 	�%"�	 f ◦γ1 = f ◦γ2 ��� ��	�� ����� ��	���" ����# 9+���� 
 f ����	
,&,� ����� γ1 = γ2� ��� ��	�� ����� ��	���" ����� �����(� v1 = v2#

9/��� expx◦ ��	 expy◦ �	 ��
��	�!� ���	���	��	� ��	��!��� ��� U ��	 V �
���	����%��# �����"�� ���� �����	��"� %����� (U, ϕ) ��	 (V, ϕ′) �� ϕ =
E−1 ◦ exp−1

x◦ ��	 ϕ′ = E′−1 ◦ exp−1
y◦ � ���� ����� ��	��

E : R
n → Tx◦M : E(ei) =

(
∂

∂xi

)
x◦

�	� i = 1, . . . , n

��	

E′ : R
m → Ty◦M

′ : E′(e′i) =
(

∂

∂yi

)
y◦

�	� i = 1, . . . , m.

+	 E, E′ �� ����	 �����	�!� 	��������� ����� �������	%��� %(����# /����� 

f ����	 ,&,� ��� �
� C������
�
 ,#,#-� �	� ��%�"�� ����%� ����"'
 τ 
 f ◦ τ
����	 �����	�	���� �� ��	 ���� ��� ��	 ���� �� 
 τ ����	 �����	�	���# 9B���

� 	�%"�	

(f ◦ expx◦)(v) = (expy◦ ◦F )(v)

�	� v ������ �	��� ���� Tx◦M � (��� �� ���A����	 ��	 �� �"� �!'
 �
� 	���
���#
$��	�� 	�%"�	

f = expy◦ ◦F ◦ (expx◦)
−1.

B����� '�	���� �� ��� ���� ��� 
 F ����	 �����	�� ��	 ��� �	��
��� ����
����	��"� ������!� gx◦ ��	 g′y◦ � ���" ���� 
 f 
� ����	 �	������	�
 ��	� '���
�
� ���	��� �
� ��������
�

ϕ′ ◦ f ◦ ϕ−1 = E′−1 ◦ F ◦ E,



).

�� ���� ��� %����� (U, ϕ), (V, ϕ′)� 
 f 
� �	��
��� ���� ����	��"� ������!�
g, g′#

F��� �
� ����!��	�� �
� F � ����� �� ��� ���� ��	 
 F ����	 �����	�� ��	
��� 	�%"�	

g′y◦(F (v), F (w)) = gx◦(v, w)

�	� ��
� v, w ∈ Tx◦M �� ||v||x◦ = ||w||x◦ = 1@
9/��� v, w ∈ Tx◦M �� ||v||x◦ = ||w||x◦ = 1# 1	� s ∈ R ������ �	���


� ���A����	 �	 �����	�	��!� α(s) = expx◦(sv), b(s) = expx◦(sw), α′(s) =
expy◦(sF (v)), b′(s) = expy◦(sF (w)) ��	 
� 	�%"�	

f ◦ α = α′, f ◦ b = b′.

B�� �
� ��	���
�� Cauchy - Schwartz ���������	 |gx◦(v, w)| ≤ 1 ��	
|g′y◦(F (v), F (w))| ≤ 1� ����� ����%��� ω, ω′ ∈ [0, π] �� cos ω = gx◦(v, w) ��	
cos ω′ = g′y◦(F (v), F (w))# 9B��� ��� �� ���
��"���� F���� ��	 �
� ���
��"&
���
 �%!�
� ���������

sin
ω

2
= lim

s→0

d(α(s), b(s))
2s

= lim
s→0

d′(α′(s), b′(s))
2s

= sin
ω′

2
,

���" 
 f �	��
��� �	� ����	�!�# /���!���

gx◦(v, w) = cos ω = 1 − 2 sin2 ω

2
= 1 − 2 sin2 ω′

2
= cos ω′ = g′y◦(F (v), F (w)).

<!��	 �� ��� ���� ��� 
 F ����	 �����	��#
9/��� {v1, . . . , vn} �	� ��
������	�� ���
 ��� %(��� (Tx◦M, || · ||x◦) ��	

!��� v ∈ Tx◦M �� v =
∑n

i=1 aivi� ���� ai = g(v, vi) �	� i = 1, . . . , n# 5
F �	��
��� �	��
��� ���� ����	��"� ������!� gx◦ ��	 g′y◦ � ����� �� �"��'�
{F (v1), . . . , F (vn)} ����	 ��
������	�� �"��'� ���� %(�� (Ty◦M

′, || · ||y◦)#
$���

g′y◦(F (v), F (vi)) = gx◦(v, vi) = ai

��	 F (v) =
∑n

i=1 aiF (vi) + w� ���� w ∈ ( span{F (v1), . . . , F (vn)})⊥g′y◦ #
9+���

n∑
i=1

a2
i = gx◦(v, v) = g′y◦(F (v), F (v)) =

n∑
i=1

a2
i + g′y◦(w, w),

����� w = 0 ��	 F (v) =
∑n

i=1 aiF (vi)� �
'��� 
 F ����	 �����	��# �



)-

��� $ ��
�� �%� ���������� Riemann

$� �������� F���� ����	 �� ���	�� �	� �� ��� ���� ��� 
 I(M, d) ����	 �����
Lie#

6���� �0#0� '(��� B(x, r) ��� ���
������ �����
�� ��
 
����� 
����
�
���
����� ����� ���� n � ������������� Riemann M ��
 C 	�� �����
	� �����
����)���� ��� B(x, r) �� ������
�� ������ y� &���� �� C ����
 ���
�����
��
�� �
� ���
��� n � �����#

/����
3�# $� B(x, r) ����	 ���	������ �����	�� �"��'�� ����� ��
� ���&
��	�	��� γ ���  ��	���	 ��� �� y 
� �!���	 �� �"����� ∂C� ��� C# E�%��	A�&
����� ��	 
 γ 
� �!���	 �� ∂C ���� �	� ���� ���� �����	 �� ∂B(x, r)@

9/��� z ∈ ∂C !�� �
���� �
� γ# B��" �� C ����	 �����	�	��� ������
�	� ��
� w ∈ C◦ ��� ������	�� ��� C� ���A���	 
 �����	�� �����	�	��� γw :
[0, aw] → C �� γw(0) = z ��	 γw(aw) = w# $� �"��'�

⋃
w∈C◦ γw(0, aw) ����	

���	��� ���	�%� ��� γy(0, ay) = γ(−ay, 0) ����" ��	 �	 �"� ����	 ��������	&
��!��� �� �� ����� ���� ��	 
 γy !%�	 ����
��
 ���� ��� �
� γ�#

C������	� �� B(x, r) ����	 ���	������ �����	�� ��	 	�%��� �����	�	���
����� ���'�� ����� ����%�	 δ > 0 (��� B(x, r) ⊆ expz(Az(δ)) ��	 
 expz :
Az(δ) → expz(Az(δ)) �� ����	 ���	�	����	�
# 9B�� ��

⋃
w∈C◦

γw(0, aw) = (expz)
−1

⎛⎝ ⋃
λ∈(expz)−1(C◦)

{tλ : t ∈ (0, 1)}
⎞⎠ ,

����	 ���	���� �����

γ((−ay, 0)) ⊆
⋃

w∈C◦
γw(0, aw) ⊆ C◦

�����(� 
 γ �!���	 �� ∂C ��� z ��� ����#
/��	�� 
 ���	���	�
 expy : Ay(δ) → expy(Ay(δ)) ����	 ���	�	����	�
� ��

C ��	 ∂C ����	 ���	�����	�� �� �� (expy)−1(C) ��	 (expy)−1(∂C)� �������	%�#
9/��� S

n−1 
 �����	��� ������ ��� TyM # +��A����

ϕ : (expy)
−1(∂C) → S

n−1 : u �→ u/||u||y.

5 ϕ ����	 ��'� ��	��!�
 ��	 ����%��� ���" �� 0 �∈ (expy)−1(∂C)#
0���%�	 ε > 0 �� expy(Ay(ε)) ⊆ C◦# $���� �	� ��
� v ∈ TyM �� ||v||y =

1� 	�%"�	 expy(εv) ∈ expy(Ay(ε))� ������ ��� �� ��������� 
 �����	�	���



)2

��� C ��� ����!�	 �� y �� �� expy(εv) 
� �!���	 �� ∂C �� �����	�� �
����
z ∈ C# 9B�� ϕ(exp−1

y (z)) = v� �
'��� 
 ϕ ����	 ���#
9/��� �(��� u1, u2 ∈ (expy)−1(∂C) �� u1/||u1||y = u2/||u2||y# $���

u1 = ||u1||y
||u2||y u2 ∈ ∂C� ����� �	� t ∈ R ������ �	���� ���A���	 
 �����	�	���

expy(tu1) 
 ����� �!���	 �� ∂C ��� �
���� expy u1 ��	 expyu2# /���!���
expy u1 = expy u2� ����� u1 = u2 ��	 
 ϕ ����	 ,&,# 5 ϕ ����	� '�	����
����%�� ��	 ���	����������
 ���	���	�
 ��� �� ������!� (expy)−1(∂C) ���
������!� S

n−1 ��	 �����(� 
� ����	 ���	�����	����#
/������������ �
� ϕ−1 ��� Ay(1) �����	�� ���� ��	� ������� {tu : u ∈

S
n−1 : t ∈ [0, 1]}� ����"���	 � A
��"����� ���	�����	���� ���� " ��� Ay(1)

��	 C ∼= (expy)−1(C)# �

;�$
��� �0#0# � ����� I(M, d) ����
 ����� Lie#

/����
3�# �� ��� ���� ��� 
 G = I(M, d) ��� !%�	 �	��!� ��������� �����
�� A
��"���� ����	 ���!��	� ��� ���������� ,#,#,#

9/��� x0 ∈ M ��	 r > 0 �!��	�� (��� �� B(x0, r) �� ����	 ���	������
�����	�� ��	 �����	�	��� ����� ���	�%� ��	 �� 	������	�"���	 �� �����������
�
� C������
�
� ,#,#*# 9/���� ����
�� {e1, . . . , en} �	� ���
 ��� Tx0M ��� ��
���	!%���	 ��� Ax0(r)# �!����� xi = exp(ei), i = 1, . . . , n ��	 �����'�A����
�� [z1, . . . , zn]z0 ��� ������ �� ���'�� �� �	��"����� z1, . . . , zn ∈ Tz0M ��
���� �
� �������� ���
# F��� �
� ���!%�	�� �
� ������
�
�

H : B(x◦, r) × . . . × B(x0, r) → R :
(y0, y1, . . . , yn) �→ det([exp−1

y0
(y1), . . . , exp−1

y0
(yn)]y0),

����%��� U0, U1, . . . , Un ���	������ �����	�!� ��	 �����	�	��� ����!� ��&
�	�%!� ��� x0, x1, . . . , xn� �������	%�� ��  !��� ���� " ���� �'�	����
��� ��	
�� �	� ���'��
�� 	�	��
���@

,# $� �"��'� U0 ∪ . . . ∪ Un �� ����	 ������!� ����"��'� ��� B(x0, r)#

�# $� �"��'� U0, . . . , Un �� ����	 �����	�	��� �����#

)# 1	� ��
� y ∈ U0 ��	 ��
� n & ��� (y1, . . . , yn) ∈ U1 × . . .×Un 
 n & ���
��� �	��������� (e′1, . . . , e′n) ∈ (TyM)n �� e′i = exp−1

y (yi), i = 1, . . . , n�
�� ����	 ���
 ��� TyM #

�����"�� ��������� ���	�%!� W0, . . . , Wn ��� x0, . . . , xn� �������	%�� ��
Wi ⊆ Ui �	� ��
� i = 0, . . . , n# 1	� ���
��� i ∈ {0, . . . , n}� '��� �
�
�������	�� ��� Ui� ����%�	 A′

i� ���	�%� ��� e ∈ G� (��� A′
iUi ⊆ B(x0, r)#
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9+��	�� '��� �
� �������	�� ��� Wi� ����%�	 ���	�%� Bi ��� e� �� BiWi ⊆ Ui#
�!������ Ai = A′

i ∩Bi� �� A =
⋂n

i=0 Ai 
� ����	 ���	�%� ��� e� �� AWi ⊆ Ui

��	 AUi ⊆ B(x0, r) �	� ��
� i = 1, . . . , n#
E�%��	A������ ��	 �� A ���	!%�	 ���� �
� ����	��!�
 �������� �
� G# ��

���
!����� �� ����
��� ��	 
� ��
�

�"�� �� �����@
9/���� '�	���� h �= e ��	 H ⊆ A 
 �������� �
� G ��� ��������	 ��� ��

h# /��	�� ���!� �'�	��(� ��	 �����	�	��� ����(� �������'�� ��� B(x0, r)
����	 �'�	��� ��	 �����	�	��� ����� �"��'�� !%�	 ��
�� �� �	'������ �	� �
�
������� ��� ������� ��
�� ���� !��� �������'�� B ��� B(x0, r) ��� 
�
���A���	 �� 
 ���� �'�� ��� �'�	��(� ��	 �����	�	��� ����(� �������'��
��� B(x0, r) ��� ���	!%��� �� B� ��� �
� ����̈��
��
 ��	 �� B 
� ���	!%���	
�� ���'�%	���� !�� �'�	���� �����	�	��� ����� ����"��'� ��� B(x0, r)#

/��	�� HWi ⊆ Ui� ���A���	 
 �'�	��� �����	�	��� ����� 
��
 ��� Ci ⊆
Ui� �	� ��
� i = 1, . . . , n# $� Ci 
� ����	 H & ���''�����# C������	� �	�
��
� b ∈ H �� bCi 
� ����	 �'�	��� ��	 �����	�	��� ����� �"��'�� ���"
�� b ����	 	��������� ��	 HWi = bHWi ⊆ bCi� ����� Ci ⊆ bCi� ��� ���
��	��� �
� �'�	���� �����	�	��� ������ 
��
�# $� ��	� ��	%���
�� ����	 Ci ⊆
b−1Ci� ����� Ci = bCi# /���
�� ��� �� ���
��"���� F����� �� Ci 
� ����	
���	�����	�� �� ��� �'�	��� n & ���'�# 9B��� ��� �� ��(�
�� 7��
���"
7
����� ��� Brouwer � 
 	�������� h 
� !%�	 ���
��� �
���� yi ∈ Ci �	�
��
� i = 0, . . . , n# /���!���� '��� �
� �����	���
��� ��� �����	�	��(� ���
B(x0, r)� ���" �� �
���� y0 ��	 yi 
� �!���� ���
��� ��� �
� 	�������� h� ��
��	� 
� ��������	 ��	 �� �
� �����	�	��� ��� �� ����!�	 �	� ��
� i = 1, . . . , n#

B�� �� ��(�
�� ,#,#)� 
 h ����	 '��� ���	���	�
 ��	 �	� �
� ���������

���	���	�
 Ty0h ��� h ��� y0� 	�%"�	 Ty0h(e′i) = e′i� ���� e′i = exp−1

y0
(yi)#

9B�� Ty0h = idTy0M � ���" �� {e′i}n
i=1 �����'�"� ���
 ��� Ty0M � '��� �
�

	�	��
��� �)� ��� ����'�� Ui#
9/%����� '�	���� �
� 	�������� h ��� !%�	 ���
��� �
���� y0 ��	 Ty0h =

idTy0M = Ty0idM # �����"�� �� �"��'� C = {z ∈ M : Tzh = TzidM}#
$��� y0 ∈ C �= ∅ ��	 �� C ����	 �'�	��� ��
� M # 9/��� z0 ∈ C ��	 Uz0

��� ���	������ �����	�� ��	 	�%��� �����	�	��� ����� ���	��� ���	�%� ���
z0# $���� �	� ��
� w ∈ Uz0 � 
� ����%�	 �����	�� �����	�	��� γw : [0, l] ��
γw(0) = z0 ��	 γw(l) = w� �	� ����	� l ∈ R+ ������ �	���# /����� z0 ∈ C�
!%���� ��	 h(z0) = z0� ����� �	 �����	�	��!� h ◦ γw ��	 γw 
� !%��� ��	��
��%� �� z0# /�	�'!�� (h ◦ γw)·(0) = Tzh(γ̇w(0)) = γ̇w(0)� ������ '��� �
�
�����	���
��� �
� '"�
� �
� �	����	��� � ����
� ��� �����	�	��(� ��� �	�
�������	�!��� ��%	�!� ���
����� 
� 	�%"�	 (h ◦ γw)(s) = γw(s)� �	� ��
�
s ∈ [0, l]# /���!���� �	� s = l !%���� h(w) = w ��	 �����(� Az(δ) ⊆ C#
9B��� �� C ����	 ���	��� ��	 �'�	��� ����"��'� ��� ������	��" %(��� M �
����� C = M ��	 h = e ��� ����	 �����# /���!���� 
 G ��� !%�	 �	��!�



*,

��������� ��	 ����	 ����� Lie# �

��� $ ���&������#���� ��� ��
��� �%� ����������

Riemann

7�
 ���!%�	�� 
� ��� ���� ��� 
 I(M, d) ��� �	������	�� ��
� M � �'��'
&
�(������ !��	 �	� ���	�!� 	�	��
��� �
� ����
� ��� 	������	(� �� ��� ��'&
'��'��
�� Riemann#

6���� �0'0� '(��� X 	��� ���
�� �����
�� ����� ��
 {ψn}n∈N ��� �������
"�� ������� ����������� ψn : X → R �� limn→∞ ψn = ψ ���� ������ ����
X� &���� �� �)���� ��� ������� ���	��
�� ��� ψ ����
 ����� ���� X#

/����
3�# +��A���� �� �"��'� En = {x ∈ X : 

� ��"� V ���
��� ��� x

��)�
 supu, v∈V |ψ(u) − ψ(v)| ≥ 1

n}� �	� ��
� n ∈ N# 5 �	���!��	� {En}n∈N

�����'����	 ��� �'�	��� �"��'� ��� X ��	 �� �"��'� E =
⋃∞

n=1 En ����	 ��
�"��'� ��� �
����� ����!%�	�� �
� ψ# �� ��� ���� ��� �� �"��'� X\E ����	
����� ���� X# B�� �� ��(�
�� ��� Baire �?'!�� I:J� Ch. XI, Sec. 10, Th.
3�� ������ �	� ��
� n ∈ N �� X\En �� ����	 ����� ���� X# �� ���
!�����
�� ����
��� ��	 
� ����'� ���� �� �����@

9/���� '�	���� ��� ����%�	 n0 ∈ N� (��� �� X\En0 �� �
� ����	 ������
����� 
� ����%�	 A ⊆ En0 �� ����� ����	 ���	��� ���� X#

+��A���� �� �"��'� Zn0N = {x ∈ En0 : |ψk(x) − φl(x)| ≤ 1
3n0

� 

� ��"�
k, l ≥ N} ��� ����	 �'�	��� ���� X# 1	� x ∈ Zn0N � ��
(� �� l �����	 ���
���	��� 
� 	�%"�	

|ψn(x) − ψ(x)| ≤ 1
3n0

�	� ��
� n ≥ N # /���
�
⋃∞

N=1 Zn0N = X\En0 � ���" 
 φn ����'���	 ����
�
���� ��
 φ#

$� A =
⋃∞

N=1(A ∩ Zn0N ) ����	 ���	�� ������!�� �� ���	��� �"��'� ���
X� ���� �� A ∩ Zn0N ����	 �'�	��� ��� A# ;��� ���!��	�� ��� �� ��(�
��
��� Baire� 
� ����%�	 N0 ∈ N ��	 B ���	%�� ��� A� ����!��� ��	 ���� X�
(��� B ⊆ A ∩ Zn0N0 #

9/��� ε > 0# 1	� ��
� ���	�%� W ⊆ B ��%����� w ∈ B 
� ����%���
x, y ∈ W ⊆ Zn0N0 ⊆ En0 ��

|ψ(x) − ψ(y)| ≥ 1
3n0

, |ψ(x) − ψN0(x)| ≤ 1
3n0

, |ψN0(y) − ψ(y)| ≤ 1
3n0

.
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/���!���

|ψN0(x) − ψN0(y)| ≥ 1
n0

− ε,

�
'���

sup
u, v∈W

|ψN0(u) − ψN0(v)| ≥ 1
n0

��	 ���� ��������	 �� ��
� ���	�%� W ��� w ��� ���	!%���	 ��� B# 9B��� 

ψN0 
� ����	 �����%�� ��� w ��� ����	 �����# �

6���� �0'0# '(��� G 	��� ���
�� �����
�� ����� ��
 Bn � �����
��� ����
�� ���� R

n� '(���� ������� F : G×Bn → R ������� ��������� �� ��������
���
�	� ����
�
��� Fj(g, x) = ∂

∂xj
F (g, x1, . . . , xn) �� ���� x� 

� ��"� g ∈ G

���"���� /� x0 ∈ Bn� ���� �� ������ h0� ��� ����� � Fj ����
 ������� ���
(h0, x0)� ����
 ����� ��� G#

1	� �
� �����	 
 �����!������ ��� I,�J� Ch. V, 5.1, Lemma 2# �

6���� �0'0' '(��� G ��� ����� Lie ��� ��� ������� ���� n � �
������
������������ Riemann M �	�� ��� φ : G × M → M � /� 

� ��"� g ∈ G�
� ���
���
�� φg : M → M ����
 �
������
��� ���� � ���
����� ����������
�����

Tφ : G × TM → TM : (g, (p, vp)) �→ Tpφg(vp)

����
 �������#

/����
3�# 9/��� φ = (φ1, . . . , φn) �	 ���������!��� �
� φ �� ��%���� %���

�
� M # B���� �� ��� ���� ��� �	 ���	�!� ��������	 φij(g, p) = ∂φi

∂xj
(g, p) ����	

����%���# /����� 
 φ ����	 ����
� 	�%"�	

φi(gh, x) = φi(g, φ1(h, x), . . . , φn(h, x)), �,#,�

��G ����� �� �����(�	�
� ���������

φij(gh, x) =
n∑

k=1

φik(g, φ(h, x))φkj(h, x) �,#��

�	� ��
� g, h ∈ G ��	 x ∈ M ��	 i, j ∈ {1, . . . , n}#



*)

B� ��� ���� ��� 
 φij ����	 ����%�� ��� (e, x) �	� ��
� x ∈ M, i, j ∈
{1, . . . , n}� ���� �	� h ∈ G ����� ��� e �� φkj(h, x) 
� ����	 ����� ���
φkj(e, x) = δkj ��	� '��� ����%���� �
� φik(g, ·)� �� φik(g, φ(h, x)) 
� ��&
��	 ����� ��� φik(g, x)� �	� ��
� k ∈ {1, . . . , n}# 9B��� '��� �
� �,#*�� ��
φij(gh, x) 
� ����	 ����� ��� φij(g, x)� �
'��� 
 φij 
� ����	 ����%�� ���
(g, x)� �	� ��
� (g, x) ∈ G × M � �	� ��
� i, j ∈ {1, . . . , n}#

9/���� '�	���� (e, x0) ∈ G × M ��	 %���
� (U, ψ) ��� x0 ��
� M ��
ψ(U) ⊆ Bn� ���� Bn ����	 
 �����	��� ���'� ���� R

n# B�� �� ���
��"&
���� F����� �� �"��'� Eij ��� �
����� ���!%�	�� ��� ���	�(� �����(���
φij(·, x0)� 
� ����	 ����� ��� G� �	� ��
� i, j ∈ {1, . . . , n}# /���!���� ��� ��
��(�
�� ��� Baire� �� �"��'� E =

⋂n
i,j=1 Eij 
� ����	 ��	 ���� ����� ���

G# 9B��� ����%�	 h0 ∈ G �� (h0, x0) ∈ E#
$(��� �	� (h, x) ����� ��� (e, x0) �� (h0h, x) 
� ����	 ����� ��� (h0, x0)�

������ '��� �
� ���!%�	�� �
� φij ��� (h0, x0)� �� φij(h0h, x) 
� ����	 ��&
��� ��� φij(h0, x0)# /���
�� '��� �
� ���!%�	�� �
� φik(h0, ·) ��� x0� ��
φik(h0, φ(h, x)) 
� ����	 ����� ��� φik(h0, x0) �	� ��
� k = 1, . . . , n� �����
��� �
� �,#��� ����"���	

φij(h0h, x) =
n∑

k=1

φik(h0, φ(h, x))φkj(h, x). �,#)�

1	� h = e ��	 x = x0 ���������

φij(h0, x0) =
n∑

k=1

φik(h0, x0)δkj . �,#*�

5 ���A���� det[φij(·, x0)] ����	 ����%�� ��� h0 ��	 �	����
 ��� �� �
�!�� ���"

 φg ���� ���	�	����	�
� �	� ��
� g ∈ G# B��" 
 ���A���� det[φik(h0, φ(h, x))]
����	 ����� ��� det[φik(h0, x0)] ��	 �	����
 ��� �
������ ���
�����	(����
�� j� '"������ �� �����	�� �"��
�� �,#8� �� ���� φkj(h, x) ��	 '������&
���� ��G �H	� �
� �,#:�� �	��	��(����� ��� �� φkj(h, x) 
� ����	 ����� ���
δkj = φkj(e, x0)� �
'��� ��� �	 φkj 
� ����	 ����%��� ��� (e, x0)� �	� ��
�
k, j ∈ {1, . . . , n}# �

6���� �0'0+ '(��� G ��� k � �
������ ����� Lie ��
 m 	�� �	��� Haar ��
������ &���� ������
 ������"�� ����������� {fn}n∈N, fn : G → R ��

lim
n→∞

∫
G

fn(g)h(g)dg = h(e)



� ��"� h ∈ C(G, R)#



**

/����
3�# 9/��� ω !�� ���	%��� ����� �
� G ��	 (U, ψ) !��� %���
� �
� G
�"�� ��� �� e �� ψ(e) = 0� �!��	��� (���

ψ∗ω = λdx1 ∧ . . . ∧ dxk,

�	� ����	� '��� ������
�
 λ : ψ(U) → R
+∗ � ���� ψ = (x1, . . . , xk)# +��A�����

�
� ���	���	�


F : ψ(U) → R
k �� �"�� F (x1, . . . , xk) = (

∫ x1

0
λ(t, x2, . . . , xk)dt, x2, . . . , xk),

!%���� det TxF = λ(x)# 9B�� 
 F ����	 ���	�	����	�
 ��� �
� �	����� �
� ��	
�����"�� �� ���	������������ �
� ψ �� �
� ��������!��	�
 �
� ϕ = F ◦ ψ
�$� �������	%� �
� �����!��	�
� �� �� ����� �� �� �	� ����"'�� �� ��(���

�	�����
�# $��� �	� ϕ = (y1, . . . , xk) ����"���	 
 �%!�


ϕ∗ω = λ ◦ F−1(F∗(dx1 ∧ . . . ∧ dxk))

=
λ ◦ F−1

det TF−1(x)F
dy1 ∧ . . . ∧ dyk = dy1 ∧ . . . ∧ dyk,

�
'��� 
 ϕ �	������ �� �����	�� ���	%��� ����� ��� R
k# +��A���� �
 ���


���	�%(� {Vn}n∈N ��� e �� Vn = ϕ−1(B(φ(e), 1
n) �	� ��
� n ∈ N# $����

	�%"��� Vn+1 ⊆ Vn �	� n ∈ N ��	
⋂∞

n=1 Vn = {e}# B�� ��� ��	��� ���� �� Vn


� !%�	 �!��� ��� �� �� �!��� �
� k & �	������
� ���'�� ������� 1/n� �����

lim
n→∞

m(Vn)
m(Vn+1)

= lim
n→∞

(n + 1)k

nk
= 1.

1	� ��
� n ∈ N� ��� �� F���� ��� Uryshon �?'!�� I:J�Ch. VII, Sec. 4,
Th. 1�� ����%�	 gn : G → [0, 1] �� supp gn ⊆ Vn ��	 gn|Vn+1 = 1# +��A����
�
�

fn : G → R : fn =
1

m(Vn+1)
gn.

�� ��� ���� ��� 
 {fn}n∈N ����	 
 A
��"���
 ���'��
�� �����������#
1	� ��%�"�� ������
�
 h ∈ C(G, R)� !%���� �
� �	�����
 h = h+ −

h−� ���� h+(w) = max{h(w), 0} ��	 h−(w) = max{0,−h(w)} ����	 
��	�!�
���������	�# B����� '�	���� �� � �������� �
� �	�	�� ��������
 �
� h ∈
C(G, R) �� h(g) ≥ 0 �	� ��
� g ∈ G# 9/��� ε > 0# 5 h ����	 ����%�� ��� e
��	� ���" 
 �	���!��	� {Vn}n∈N ����	 ���
 ���	�%(� ��� e� ����%�	 n0 ∈ N�
(��� |h(w) − h(e)| < ε �	� ��
� w ∈ Vn0 # $���

1
m(Vn)

∫
Vn

|h(w) − h(e)|dw ≤ ε,



*8

�	� ��
� n ≥ n0� �����

lim
n→∞

1
m(Vn)

∫
Vn

h(w)dw = h(e).

/���
�

lim
n→∞

1
m(Vn+1)

∫
Vn

h(w)dw = lim
n→∞

(
m(Vn)

m(Vn+1)
· 1
m(Vn)

∫
Vn

h(w)dw

)
= h(e),

������ '��� �
� ��	���
���

1
m(Vn+1)

∫
Vn+1

h(w)dw ≤
∫

G
fn(w)h(w)dw ≤ 1

m(Vn+1)

∫
Vn

h(w)dw,

����"���	

lim
n→∞

∫
G

fn(w)h(w)dw = h(e).

�

;�$
��� �0'0& '(��� G ��� ����� Lie ��� ��� ������� ���� M �	��
��� φ : G × M → M � '(���� ������� ��� 

� ��"� g ∈ G� � ���
���
��
φg : M → M ����
 �
������
��� &���� � ����� φ ����
 �
������
��#

/����
3�# 1	� ��
� h ∈ G 
 ���	���	�
 Rh : G → G �� g �→ gh ����	 '���#
B� ����%��� ���	��!� ���	�%!� B1 ��	 B2 ��� e ∈ G ��	 x0 ∈ M � �������	%��
(��� 
 φ �� ����	 �	������	�
 ��
� ���	�%� B1 × B2 ��� (e, x0) ∈ G × M �
���� 
 φ ◦ (Rh × idX) 
� ����	 �	������	�
 ��
� ���	�%� h−1B1 × B2 ���
(h−1, x0) ∈ G × M # 9B��� ����� �� ��� ���� ��� 
 φ ����	 �	������	�
 �� ���
���	��� ���	�%� ��� (e, x0)#

B�� �
� ���!%�	� �
� φ ����%��� ���	�%� V ��� e ∈ G ��	 W ⊆ U � ����
�	 W ��	 U ����	 ���	������ �����	�!� ��	 �����	�	��� ����!� ���	�%!� ���
x0 �� V W ⊆ U # 9/��� A = (expx0

)−1(U) ��	 B = (expx0
)−1(W )# /����� 


expx0
����	 ���	�	����	�
 ��� A� ����� �� ��� ���� ��� 


Φ = exp−1
x0

◦φ : V × W → A ⊆ Tx0M

����	 �	����	�	�
#
5 G ����	 ����� Lie � ����� ����%�	 �	������	�
 ������
�
 f : V → R ��

������� ���!�# $���� 
 ���	���	�


V × W → Tx0M : (g, x) �→ f(g)Φ(g, x)



*:

����	 ����%�� ��	 �	� ���
������
���� x ∈ M !%�	 ���!� !�� ����"��'� ���
supp f # 9B��� %�
�	����	(���� �� ������!� ��	 ���''����� ��� �	� �� 	!�
�������!� �!��� Haar ��
� G� ���A���� �
�

F : W → Tx0M, F (x) =
∫

V
f(g) · Φ(g, x)dg.

1	� g ∈ G ���
��� 
 Φg ����	 �	������	�
� ���" 
 φg ����	 �	������	�

� ���
!����� ����� ���A���	 
 ��������� TxΦg : TxM → Tx0M # B�� ��
F���� ,#)#)� 
 ���	���	�


TΦ : V × TW → Tx0M �� (g, (x, v)) �→ TxΦg(v)

����	 ����%�� ��	 ��
� ���������!�
 ��� ������ TxΦg !%�	 ������� ���!�
��� ���	!%���	 ��� supp f # 9B��� �� �'��'�����

∫
V f(g) · TxΦgdg ���A���	

��	� ��� �� ��(�
�� ;��	��%
�!�
� 7"�'	�
� �	� �� �!��� Haar � ����%�	 

��������� �
� F ��� x ∈ W ��	 ����	 ��
 ��

TxF =
∫

V
f(g) · TxΦgdg.

B�� ������ 	�	��
�� �	� �� �'��'����� Haar� 
 �	���!��	� ���	��������
{DF (x)}x∈W � ������	 ����%(� ��� �� x ∈ W # B�� �� ���
��"���� F�����
�	���������� ����%��!��� �� V � ����%�	 ���'��
�� ����������� {fn}n∈N, fn :
V → R �� ������� ���!�� (���

lim
n→∞

∫
V

fn(g) · h(g)dg = h(e)

�	� ��
� h ∈ C(V, R)# 9B��

lim
n→∞

∫
V

fn(g) · Tx0Φgdg = Tx0Φe = idTx0M .

5 idTx0M ∈ GL(Tx0M) ����	 ���	���!H	��� �����	��� �����%
���	����
��	 �� GL(Tx0M) ⊆ End(Tx0M) ����	 ���	��� ����"��'� ��� End(Tx0M)#
/���!���� ����&%�	 ε > 0� (��� B||·||(idTx0M , ε) ⊆ GL(Tx0M)� ���� || · ||
����	 ��� ����� ���� End(Tx0M) ��'�� �	 ������ ��� %(��� End(Tx0M) ����	
	���"������#

0���%�	 '�	��� n0 ∈ N ������∫
V

fn0(g) · Tx0Φgdg − idTx0M

���� < ε,



*.

������ 
!������ f = fn0 � !%���� Tx0F ∈ GL(Tx0M)# /���!���� 
 F ����	
���	�� ���	�	����	�
 ��� x0# B����� '�	���� �� ��� ���� ��� 
 F ◦expx0

◦Φ =
F ◦ φ|V ×W ����	 �	������	�
 �� ��� ���	�%� ��� (e, x0)@

0���%�	 �������	�� ���	�%� V1 ��� e ��
� G� (��� V1 · V1 ⊆ V # 0��
!&
������ ��� supp f ⊆ V1� !%����

(F ◦ φ)(h, x) =
∫

V1

f(g) · Φ(g, φ(h, x))dg

=
∫

V1

f(g) · (exp−1
x0

◦φ)(g, φ(h, x))dg

=
∫

V1

f(g) · (exp−1
x0

◦φ)(gh, x)dg

=
∫

V1h
f(wh−1) · Φ(w, x)dw,

���� 
 ��'������ 	���
�� 	�%"�	� �	��	 �� �!��� Haar ��	'!%

�� �� ����	
���''����� ��� �	� �� 	!� �������!�#

�����"�� �
 ������
�


H : G × V1 × W → Tx0M : (w, h, x) �→ f(wh−1)Φ(w, x)

��	 �
� ���	���	�


ψ : G × G → G : (w, h) �→ wh−1.

5 f ◦ ψ !%�	 ���	�!� �����(���� �� ���� h ��� ����	 ����%��� �� ���� �	�
�����'
�!� w ��	 h# /���
�� � ���
!����� 
 φw !%�	 ���	�!� �����(���� ��
���� x� ����� �� ��	� 	�%"�	 ��	 �	� �
� Φw# B�� �� F���� ,#)#)� �	 ���	�!�
�����(��	 �	� Φ �� ���� x 
� ����	 ����%��� �� ���� �
� �����'
�!� w ��	
x# 9B��� 
 H 
� !%�	 ���	�!� �����(���� �� ���� h ��	 x ��	 ���!� 
� ����	
����%��� �� ���� �	� �����'
�!� w, h ��	 x#

7��
�����	(���� �� h ��	 x� � ���!�� �
� H(h,x) ���	!%���	 ��� supp f ·h
��� ����	 ������!� ��	 	�%"�	 m(supp f · h) = m(supp f) < ∞# B��" 
 Hw

!%�	 ���	�!� �����(���� �� ���� h ��	 x ��� ����	 ����%��� �� ���� w� ��� ��
��(�
�� ;��	��%
�!�
� 7"�'	�
�� 
 F ◦φ 
� ����	 ����%(� ���������	�
 ��
���� �	� �����'
�!� h, x ��	 
 �	����	�
 
� ������	 �!�� ��
� ��� �'��'����

������
�
 H# 7����(�� 
 φ|V1×W ∈ C1(V1 × W, V1W )� ������ '��� �
�
��%	��� �������
�
� ��
� �����	 
� φ ∈ C1(G × M, M)#

+��A���	� '�	���� 
 ���������
 ����
 �
� φ ���� TM

Tφ : G × TM → TM : (g, (p, up)) �→ Tpφg(up),



*-


 ����� 	������	�� �
� ��%	�� ���
��
� ������ �� �
� ��	� �	��	����� �����	&
 
� ��� ��������
�� �� ��(� ��������	 ��	 Tφ ∈ C1(G×TM, TM)� �
'���
φ ∈ C2(G × M, M)# /�����	��� �����	��"���	 ��	 φ ∈ Ck(G × M, M) �	�
��
� k ∈ N� ����� 
 φ 
� ����	 '���# �

2	
���� �0'05 '(��� G, H �)� ������ Lie �� �������
�� �����
��� ���
����
eG ��
 eH � '(���� ������� f : G → H ������� �������
����� &���� � f ����

�
������
��#

/����
3�# �����"�� ��
� H �
 ����


Φ : G × H → H : (g, h) �→ f(g)h,


 ����� 	������	�� �
� ���
!��	� ��� ���������� ,#)#8 ��	 �����(� 
� ����	
�	������	�
 ����
# 9B�� ��	 
 ΦeH = f 
� ����	 �	������	�
# �

;�$
��� �0'07 � I(M, d) ��� �
������
�� ���� M #

/����
3�# 5 I(M, d) ��� ����%(� ��
� M ��	 ��
� f ∈ I(M, d) ����	 '��&
� ���	���	�
 ��� �� ��(�
�� ,#�#�# /���!���� 
 ����
 (f, x) �→ f(x) �
�
I(M, d) ��
� M 	������	�� �	� ���
!��	� ��� ���������� ,#)#8 ��	 �����(�
��� �	������	�� ��
� M # �

7�
 ���!%�	� 
� ��� ���� !���� �������	%� �� �� ��(�
�� ,#3#,,� %���&
��
�	��� ��� 	������	�(� ������� ��''��'������ Riemann� %�
�	����	(&
���� !�� �������	%� 
�(�
�� �	� ����	��"� ������!�# 5 M 
� ����	 ��� ����&
��	�� ��	 ������������ �	������	�
 ��''��'��
��#

;�$
��� �0'08 /� � ����� Lie G ��� 
���
� ��
 �
������
�� ���� M � ����
������
 G � ����������� ����
��� �������� Riemann ���� M #

/����
3�# 9/��� φ 
 ����
 �
� G ��
� M # /����� 
 M ����	 ���������&
���� � 	���	(���� ��� �	��!�	�
 �
� �������� ���������A���� !��� ����	��
������� τ ��
� M # + M/G ����	 ������������ %(���� ����� ��� �� 3#)#8�*�
��	 �� 3#)#)� ����%��� 
���'	(�
 �"��'� F1 ��	 F2 �	� �
 ����	� ����
 �
�
G ��
� M �� F1 ⊆ F2� ���� �� F1 ����	 �'�	��� ��	 �� F2 �� ����	 ���	���
��
� M # B�� �� F���� ��� Uryshon� ����%�	 '��� ������
�
 f : M → [0, 1]
�� supp f ⊆ F2 ��	 f |F1 = 1#

1	� ��
� x ∈ M ��	 u, v ∈ TxM ���A���� �
� ���	���	�


αx(u, v) : G → R : αx(u, v)(g) = f(gx)τ(Txφg(u), Txφg(v)),



*2


 ����� ����	 '��� �� ������� ���!�# C������	� ����%�	 Ux ���	�%� ��� x�
(��� �� G(Ux, F2) �� ����	 �%��	�� ������!�# 1	� g ∈ G �� gx �∈ F2 
� 	�%"�	
f(gx) = 0� ����� αx(u, v)(g) = 0# /���!���

supp(αx(u, v)) ⊆ G(x, F2) ⊆ G(Ux, F2).

=�
�	����	(���� !�� ���''����� ��� �	� ��	����!� �������!� �!��� Haar�
���A���� �
 �	�����	�� ���	���	�


τ̃x : TxM × TxM → R : τ̃x(u, v) =
∫

G
αx(u, v)(g)dg.

5 τ̃ ����	 '��� �� ���� �� �
���� ��������� x ∈ M ��	 ����	 G & ���''����

�	�����	�� �����# /���
�� �� �"��'� φ−1

x (F1) ����	 �
 ����� ���" �� F1 �!���	
��
� ���%	� �� 
���'	(��� �"��'�# 9B��� �	� u ∈ TxM\{0} �� τ̃x(u, u) = 0
�� �"��'�

C = {g ∈ G : αx(u, u)(g) �= 0} = {g ∈ G : f(gx) �= 0}
= {g ∈ G : gx ∈ f−1(R\{0})}
= G({x}, f−1(R\{0}))
= φ−1

x (f−1(R\{0}))

����	 ���	��� ��	 �
 ����� ���" ���	!%�	 �� �"��'� φ−1
x (F1)# 7����(�� !&

%�	 �
 �
���	�� �!��� Haar� ��� ����	 �����# 9B��� �� �	� ����	� u ∈ TxM
	�%"�	 τ̃x(u, u) = 0� ���� ��������	�� 
� 	�%"�	 ��	 u = 0� ����� 
 �	����&
�	�� ���	���	�
 τ̃x ���A�	 !�� 
��	�� ��	��!�� ������	�� �	������� �	� ��
�
x ∈ M � �
'��� 
 τ̃ ����	 !��� G & ���''������ ����	��� ��������# /��	�� 


��������
 ��� �
� τ̃ ����	�� d̃ ���A�	 ��
� M �
� ����̈���%���� ����'�����

 τ̃ 
� ����	 � A
��"����� G & ���''������ ����	��� ��������# �

2�
���
��� �0'0� �����"�� ��� ������� ��	 ������	�� ����� Lie G# 9/&
��� Lg, Rg 
 ��	����� ��	 
 �� 	� �
� ��������� �������	%�� ��	 Ω !�� �	���'&
'����� ���	%��� ����� ��
'��� (Lg)∗Ω = (Rg)∗Ω = Ω� �	� ��
� g ∈ G� ��
�
G �� volΩ(G) = 1 �!��	�� (��� �	 Lg, Rg �� �	��
��"� ��� ���������'	����
�	� ��
� g ∈ G# $���� �� �
� ��������� ��� �� ���
��"���� ��(�
���
�����"�� �� �������"������ !��� �	���''����� ����	�� ������� ��
� G#

C������	 !��� Φ̃e �	� �������	��� 
��	�� ��	��!�
 �	�����	�� ����� ����
TeG# 9/���

Ad : G → GL(TeG) : Ad
g

= Te(Lg ◦ Rg−1)
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 adjoint �����������
 �
� ������ G# 1	� ��
� u, v ∈ TeG ���A����

f : G → R, f(g) = ((
∗

Ad
g

)Φ̃e)(u, v) = Φ̃e(Ad
g

(u), Ad
g

(v)).

$!'��� ���A���� �
� �	�����	�� ����� Φe ��

Φe(u, v) =
∫

G
f(g)Ω(g)

��	 ��� ����	�� ������� Φ ��

Φg(ug, vg) = ((L∗
g−1)Φe)(ug, vg) = Φe(TgLg−1(ug), TgLg−1(vg))

�	� ��
� ug, vg ∈ TgG#
B� �	� ��
� g ∈ G 	�%"�	 
 �%!�
 (Ad∗

g)Φe = Φe� ����

(L∗
g−1)Φe = (L∗

g−1 ◦ (L∗
g ◦ R∗

g−1))Φe = (R∗
g−1)Φe,

�
'��� � ��	����� ���''������ �������� Φ ��� ������� ����	 � ��	�� �� ���
�� 	� ���''����� ������� (R∗

g−1)Φe� ����� � Φ 
� ����	 � A
��"����� �	���'&
'������ ��������#

B����� '�	���� �� ��� ���� ��� (Ad∗
g)Φe = Φe� �	� ��
� g ∈ G@ 1	� ��
�

g ∈ G ��	 u, v ∈ TeG !%����

((
∗

Ad
g

)Φe)(u, v) =
∫

G
((

∗
Ad
w

)Φ̃e)(Ad
g

(u), Ad
g

(v))Ω(w)

=
∫

G
((

∗
Ad
wg

)Φ̃e)(u, v)Ω(w)

=
∫

G
f(Rg(w))Ω(w).

9+���� 
 Rg ����	 ���	�	����	�
 ��� �	��
��� ��� ���������'	��� ��	 (R∗
g)Ω =

Ω# /���!���∫
G

f(Rg(w))Ω(w) =
∫

G
f(Rg(w))((R∗

g)Ω)(w) =
∫

G
f(w)Ω(w),

����� (Ad∗
g)Φe = Φe# �

;�$
��� �0'0�� '(��� M ��� ������������ Riemann� &���� � �����
I(M, d) ��� 
���
�� �
������
�� ��
 �
��� ���� M � /���������� 	��� G
��� ����� Lie ��� ��� �
���� 
���
� ��
 �
������
�� �� ��� ���� ������������
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M � &���� ������
 ����
��� �������� Riemann g �� ���
����� ����
�� d ��

	��� ����� ��������
���� Φ : G → I(X, d)� ���� � Φ �� ����
 ���
�
����
��
	�
 ��� �
����� ���� �� Φ(G) �� ����
 ���
��� �������� ��� I(X, d) ��	 

���	�� ����
 (Φ(G), M) �� ����	 	���"���
 �� �
� ��%	�� (G, M)#

/����
3�# $� ��(�� ������	 �����	��"���	 �� ����'
�
 ��� ��'������� �����&
'������� ���#

9/��� G ��� ����� Lie ��� ��� �	������	��� ����	� ��	 �	��� ��
� M ��
����
 φ# B�� �� ��(�
�� ,#)#-� ����%�	 G & ���''������ ����	��� ��������
Riemann ��
� M �� ����(���
 ����	�� d#

B��'��
(���� �
� �	��	����� �����	 
� ��� ���������� ,#3#,,� ���A���	
� ��������	����

Φ : G → H(M) : g �→ φg,

��� ����	 ���	�����	���� ��� �
� ������� ��� Φ(G)# /��	�� 
 Φ(G) ����	 �'�	&
��� �������� �
� I(M, d)� ����	 ����� Lie# + Φ ����	 ����%�� �������	����
���� " ��� ������ Lie G ��	 I(M, d)� ������ ��� �� C��	��� ,#)#:� 
� ����	
'��� ���	���	�
# $� ��	� 
� 	�%"�	 ��	 �	� �
� (Φ|G)−1 : Φ(G) → G� ����� �
Φ 
� ����	 ���	�	����	�
 ��� �
� �	����� ���# /���!���� 
 G 
� ����	 ���	�	�&
�����	�
 ��	 �������	�� �� �
� Φ(G)# 5 	��������� ��� ������� (G, M) ��	
(Φ(G), M) ����"���	 �����# �
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�������� �

���
	��  ��
�	� ��	
 	�
��
�	� �������	�"� ��	
 	�#��	�"�  ��"� 
�
�����
	��� �	������

��
��� �������
�%�� ���  ��������� �� ��
�����
� ��
	��
� ������"
���$
 ���  ��%�
��$
  ��$
- .�/� .#/� .'/ ��� .+/0

� ������ ��	� �
� ���
�
� ���
�
�

��� '��	�� ���� ��������	� ������%��

1
���	� #0�0� '(��� X 	��� G � ����� ��
 x ∈ X� '(�� ����)���� S ���
X ��� ���
	��
 �� x "� �	
���
  ����� 3slice4 ��� x� �� ������
 G � ��������
��� ���
��� U ��� x ��
 ��� G � ���
���
�� f : U → G/Gx �� f−1({Gx}) = S#

2�
���
��� #0�0# B�� ��� ��	��� ����"���	 ��	 U = GS� ��	 
 f ��&

���A���	 ����������� ��� �	� �	�!� �
� ��� S� ��	 ����	 ��� ��	 ��	 
 f |Gy :
Gy → G/Gx ����	 ���# F���������� ��G �H	� �� ������� Gy ∼= G/Gy� 	�%"�	 

�%!�
 Gs ⊆ Gx �	� ��
� s ∈ S� ��( 
 f |Gs ����	 ,&,� �� ��	 ���� �� Gs = Gx#
6	�	�

�	�� � ������ S �!���	 �
� ���%	� ��� x ���� ��� x� ��( ������ ��
���	!%�	 �� �������	�� ���%	(� Gxs ��� �� s ∈ S� �
'��� Gs ⊆ Gx# 9+���
Gs = Gx ���� � ������ �!���	 �
� ���%	� ��� s ���� ��� s#

8)



8*

2�
���
��� #0�0' 5 !���	� �������� ����	 ������	�� �� �
� !���	� ���	��
����@ 9/��� (G, X) ��� ����
 ��� ��� ���	�� ������� %(��� X� x ∈ X ��	
p :→ X/G 
 ���	���	�
 ���� %(�� ��� ���%	(�# $� T ⊆ X '!����	 ������
���� 3local section4 ��� x �	� �
 ����
� �� x ∈ T � �� p(T ) ����	 �%��	��
�������� ���	�%� ��� p(x) ���� X/G ��	 ����%�	 ��� ����%�� ���	���	�

σ : p(T ) → X �� p ◦ σ = i� ���� i ����	 
 !�
��
 ��� p(T ) ���� X/G# 5
C�����
 �#3#. ���%���A�	� ��� ���	��	���"�� �	� !���	�� �������� ��	 ����	&
�� �����# /���"��	�� 
 "��� 
 ������ ��� ����������	 �
� "��� 
 ���	�(�
���(�� ���� ���%��	 �� �������#

2�
� �����- �����"�� �
 ����
 �
� G = {±idR2} ���� %(�� X = R
2#

$��� G0 = G� ����� � X ����	 �'	��� ������ ��� 0# /���"��	�� ��� ����%�	
���	�� ���� ��� 0# C������	� �� V = p(T ) ����	 ��� ���	�%� ��� 0 ���� %(��
X/G ��	 σ : V → X ����	 ��� ����%�� ���	���	�
� ���� 
� ����%�	 �"�'��
S

1
ε ������� ε > 0 (��� p(S1

ε ) ⊆ V # C�����(� p(S1
ε ) ∼= RP

1 �@ � , & �	�������
�����'	��� %(����#

�����"�� �
� ���	���	�


φ : p(S1
ε ) ∼= RP

1 → S
1 : φ =

σ|p(S1
ε )

||σ|p(S1
ε )||

,


 ����� ����	 �'	�� ���� �
� �����	��� ���	���	�
� S
1 → RP

1# �!������

A = {[x] ∈ RP
1 : φ([x]) = (x1, x2), x1 > 0}

��	

B = {[x] ∈ RP
1 : φ([x]) = (x1, x2), x1 < 0}

�����
��"�� ��� �� A ��	 B ����	 ���	��� �"��'� �� ���� ���� ��	 �� �
�
	�	��
�� RP

1\{[0, 1]} = A ∪ B# 9+��� RP
1 ∼= S

1# /���!���� �� RP
1\[0, 1] =

A ∪ B ����	 ������	��# 9B�� ���� A = ∅� ���� B = ∅# 9/���� B = ∅# $����
���	�� 
 φ ����	 �'	�� ���� �
� S

1 → RP
1� 
 �	���� �
� 
� ����	 �� �	�� ���	�&

�� 
�	�"�'	� ��� S
1 ��A� �� !��� ��� ���� �"� ��'��� ���# B''�� 
 �	����

�
� φ ��!��	 �� ����	 ������!� �"��'�� �������
# �

6���� #0�0+ '(��� X 	��� G ������ ��
 x ∈ X �� Gx �����
	�� /� �����
��
 ������ ��� x� ���� ������
 G � ���
��� U ��� x� � ����� �� ����
 
���
��
G � �����#

/����
3�# / ��	���"� ����%�	 G & ���	�%� U ��� x ��	 ��� G & ���	���	�

f : U → G/Gx# $� ������� �	������� ����	 ����
��	��@
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G × U U�

�
G × G/Gx

� G/Gx

�
fidG × f

5 Gx ����	 �������� ��	 �����(� �'�	���� ����� 
 G ��� ����	� ���� %(��
G/Gx� ��� �� 3#�#,� �)� ������	����# /��	�� 
 idG ����	 ����	�� ��� ��
3#�#8�,�� 
 G ��� ����	� ��
� U � ����� 
 U ����	 
 A
��"���
 ���	�%�# �

<	� ����� ���	������� ��� �������� F������� �����'�� �� ���	�%�����
����" ��� ����'����# 9+��� 
� ����� ��� �
� ������
 C�����
� 
 "��� 

������ �� ����	� �
���� x ��� %(��� ����	 �
����	�!� �'
�������� �	� �
�
���	�� ���� ��� %(��� ����� ��� x ��	 �	� �
� ������	���� �
� ����
� ����#

2
	���� #0�0& '(��� G ��� ���
�� �����
�� ����� ��
 X 	��� G � ������
9��"	����� ��
 � Gx ����
 �����
�� ��
 ��
 �� S ⊆ X �� x ∈ S ����
 �	��
��
���� �� �)���� U = GS �� ����
 ���
��� ��� x� &���� �� ������� ����


���)����$

 � &� S ����
 ������ ��� x�

!� &� S ����
 Gx � ����������� �� U ����
 ���
��� ��� x ��
 � ���
���
��
G × S → U : (g, s) �→ gs� ���
�
 ���
�����
��� ψ : G ×Gx S → U �
���� ��� G × S "����)�� �� �����

Gx × (G × S) → G × S : (h, (g, s)) �→ (gh−1, hs).

2� &� S 	��
 �
� ������"�� 
�
������$

��K� (���
 Gx � �����������

,0;- /� gS ∩ S �= ∅� ���� g ∈ Gx�

,
;- 9�����
 ���
��� V ��� S ��� U = GS �	��
�� ���� �� �)����
G(S, V ) �� ����
 ����
�� �����
	��

,�;- &� U = GS ����
 ���
��� ��� x ��
 �� S ����
 ���
��� ��� U �

/����
3�# �,� ⇒ �)�@ $� ,�'-� ,0'- ��	 ,�'- ����	 �������#
1	� �� ,
'-� 
 G ��� ����	� ��� U � ��� �� F���� �#3#*� ��	 
 p : G → G/Gx

����	 ���	��� ��	 ����	� ���	���	�
# 9B��� � G/Gx ����	 ���	�� ��������
%(��� ��	 �����"�� �� ��	'! ���� �%��	�� ������� ���	�%� K ��� Gx ����



8:

G/Gx# $� p−1(K) ����	 ������!� ��
� G� ���" 
 p ����	 ����	� ��	 	�%"�	
p−1(K) ⊆ p−1(K)� '��� ���!%�	�� �
� p# 7����(�� �� p−1(K) ����	 �%��	��
������!� ��
� G#

/ ��	���"� ����%�	 G & ���''����
 ���	�%� U ��� x ���� X ��	 G &
���	���	�
 f : U → G/Gx �� f−1(Gx) = S# F��� �
� ���!%�	�� �
� f � 
�
����%�	 ���	�%� V ��� x �� f(V ) ⊆ K# $���� �	� g ∈ G(V, V ) 
� ����%�	
s ∈ V ��

gs ∈ V ⇒ f(gs) = gf(s) = gGx ∈ K.

9B��

p(g) ∈ K ⇒ g ∈ p−1(K) ⇒ G(V, V ) ⊆ p−1(K),

�
'��� �� G(V, V ) 
� ����	 �%��	�� ������!� ��	 �����(� ��	 �� G(S, V ) ⊆
G(V, V )#
�)� ⇒ ���@ 9/��� φ 
 ����
 �
� G ���� X# $� �	�������

G × S U�

� �
�

�
���

G ×Gx S

q

φ|G×S

ψ

����	 ����
��	��# 5 Gx ��� ����	� ���� %(�� G × S� ���" ����	 ���������
��	 
 ψ : G ×Gx S → U ����	 ��'� ��	��!�
� ����%�� ��	 ���# /���
�� ��� ��
,2-,�'- ��	 ,2-,0'-� !%���� G(S, S) = Gx� ������ �� g1s1 = g2s2� ����

g1
−1g2s2 = s1 ⇒ g2

−1g1 ∈ G(S, S) = Gx.

9B�� [g1, s1]Gx = [g1g1
−1g2, g2

−1g1s1]Gx = [g2, s2]Gx � �
'��� 
 ψ ����	 ��	 ,&,#
B�� �� ����
��	�� �	������� �'!����� ���� �� 
 φ|G×S ����	 ����	�� ���� ��	

 ψ 
� ����	 ����	�� ����� 
 ψ 
� ����	 �'�	��� ��	 �����(� ���	�����	����#
�� ������ ���� ��	 
 φ|G×S ����	 ����	� ���	���	�
@

9/��� {ui}i∈I !�� ������ ��� U (��� ui → u, u ∈ U # $��� ui = gisi, gi ∈
G, si ∈ S� ����� �	� u = hs, h ∈ G ��	 s ∈ S 
� !%���� h−1gisi → s ∈ S#
<����"��� '�	���� �� ���
!����� � ��%�� ��� u ∈ S# B�� �� ,2-,
'-� ��&
��%�	 ���	�%� V ��� u �!��	�� (��� �� G(S, V ) �� ����	 �%��	�� ������!�#
/���!���� ����%�	 i◦ ∈ I� (��� �	� ��
� i ≥ i◦ �� 	�%"�	 gisi = ui ∈ V �
�
'��� gi ∈ G(S, V ) �	� ��
� i ≥ i◦# 9B��� '��� �
� �%��	��� �������	��
��� G(S, V )� ����%�	 gij → g �	� ����	� g ∈ G# $��� sij → g−1u ∈ S� ���"



8.

�� S ����	 �'�	���� ��� �� ,2-,�'-# 9B��� 
 φ|G×S ����	 ����	�#

��� ⇒ �,�@ 5 �����'� ϕ : G × S → G ����	 Gx & ���	���	�
 ��	 �����	 �
�

ϕ̃ : G ×Gx S → G/Gx,

��� ����	 ����
� G& ���	���	�
� 
���(���� ���� G ×Gx S �
 ����


G × (G ×Gx S) → G ×Gx S : (g, [h, s]Gx) �→ [gh, s]Gx .

B�� �
� ���� 
 ψ−1 ����	 ���	�����	���� ��	 G & ���	���	�
� ����� ���A���	 


f : U → G/Gx : f = ϕ̃ ◦ ψ.

5 f ����	 ����%�� G & ���	���	�
 ��

f−1({Gx}) = ψ−1(Gx × S) = GxS = S,

��G ���� !����	 x ∈ S� ���" f(x) = Gx# 9B��� �� S 
� ����	 ������ ��� x# �

2�
���
��� #0�05 5 ψ ������	 G & ���	���	�
 
���(���� ���� U �
 ��&
�	�'��	�� ����
 ��	 ���� G ×Gx S �
 ����


G × (G ×Gx S) → G ×Gx S : (g, [h, s]Gx) �→ [gh, s]Gx .

2
	���� #0�07 '(��� X 	��� ���
�� �����
�� 
���
�� G � ������ p : X →
X/G � ���
���
�� � ������ ��
 x ∈ X� '(���� ������� T ⊆ X ��� ���
�� ����
,0�	�� !�<�2-� /� Gy ⊆ Gx 

� ��"� y ∈ σ(V )� �� S = Gxσ(V ) ����
 ������
��� x� ���� V = p(T )#

/����
3�# �� ��� ���� ��	 �� S 	������	�� �	� ����̈��
!��	� �
� C�����
�
�#3#8�)�@

9/��� W ⊆ V ◦ ���	��� ���	�%� ��� p(x)# $���� 	�%"�	 σ(W ) ⊆ p−1(W )�
�
'��� Gσ(W ) ⊆ p−1(W )� ���" �� p−1(W ) ����	 G & ���''�����# /���
�� �	�
h ∈ p−1(W ) 
� 	�%"�	 σ([h]) ∈ σ(W ) ��	 p(σ([h])) = [h]# 9B��� σ([h]) = gh
�	� ����	� g ∈ G� ���� ���!��	� h ∈ Gσ(W )# /���!����

Gσ(W ) = p−1(W ),

����� �� p−1(W ) ⊆ U = GS ����	 ���	��� ���	�%� ��� x ��� U # $� �"��'�
Gx ��	 σ(V ) ����	 �������� ����� �� S = Gxσ(V ) ����	 ������!� ��	 �����(�
�'�	��� ��� U = GS#



8-

B��" � X ����	 ���	�� �������� ��	 �� S ����	 ������!�� ����%�	 ��&
� �������� ���	�%� D ��� S ���� X� ����� �� G(S, D) ����	 ������!��
��� �� 3#�#)# /���!���� 
 F = U ∩ D 
� ����	 ���	�%� ��� S ��� U ��
G(S, F ) ⊆ G(S, D)# 9B��� �� G(S, F ) ����	 �%��	�� ������!�# $!'��� ��
gS ∩ S �= ∅� ���� ����%��� h1, h2 ∈ Gx ��	 [w1], [w2] ∈ V �!��	�� (���
gh1σ([w1]) = h2σ([w2]) ⇒ [w1] = [w2] ⇒ h−1

2 gh1 ∈ Gσ([w1]) ⊆ Gx ⇒ g ∈
Gx# 9B��� �� S 
� ����	 ������ ��� x# �

2	
���� #0�08 �� �
� ����̈��"	��
� ��� =������� !�<�6� �� �� S ����
 ������
��� x ∈ X� � 	�"��� i : S ↪→ U ���
�
 ���
�����
��� ĩ : S/Gx → U/G
��� ��� ���������� U/G ��� X/G� �� ���������� ��� ���
����� ���
���
��
ρ̃ : U/G → S/Gx ��� ��� ρ : U → S/Gx �� �)�� ρ(y) = Gx(g−1y)� ����
g ∈ G �	��
�� ���� g−1y ∈ S�

/����
3�# 5 ĩ ����	 ��'� ��	��!�
 ��	 ����%�� ���� ����"���	 ��� �� �������
����
��	�� �	�������

S U = GS�

�

�
�

�
���

S/Gx

q

i

ρ

�

U/G

p

� �ĩ

ρ̃

���� �	 p ��	 q ����	 �	 �����	�!� ���	������	� ����� �������	%��� %(���� ���
�	����������#

/��	�� �� S ����	 �'�	��� ����"��'� ��� U � 
 i ����	 �'�	��� ���	���	�
#
/���!���� �	� A ⊆ S/Gx �'�	��� �"��'�� 
 ����
��	���
�� ��� �	����������
�����	 ρ−1(A) = i(q−1(A) ��� ����	 ������(� �'�	��� �"��'�# 7����(� 
 ρ
����	 ����%��� ������ �� ��	� 	�%"�	 ��	 �	� �
� ρ̃ = ĩ−1# �

0���%�	 ��	 !��� �''�� %�����
�	���� �	� �� ���� !�� �"��'� S ����	
������ �� !�� �
���� x ∈ X#

1
���	� #0�0� '(��� X 	��� G � ����� ��
 A 	�� G � ����)���� ���� ���
���
���
�� r : X → A "� �	
���
 G � retraction� �� ����
 G � ���
���
�� ��

r|A = idA#

2
	���� #0�0�� '(��� X 	��� G ������ �� x ∈ X ��
 U ���
��� ��� x ���
����
 
���
�� G � ������ '(�� ����)���� S ��� U ��� ���
	��
 �� x "� ����

������ ��� x ���� ��
 ����� ����� ���� ������
 G � retraction r : V → Gx ���



82

��� Gx �� r−1({x}) = S� ���� �� V = GS ⊆ U ����
 ���
��� ��� x#

/����
3�# 9/��� φ 
 ����
 �
� G ���� X# B��" � U ����	 ����	�� G &
%(���� 
 φx : G → Gx �����	 ��� ���	�����	��� φ̃x : G/Gx → Gx# 9/���
f : V → G/Gx 
 ���	���	�
 ��� ���A�	 �� ����� S# $� �������� ����
��	��
�	������� ���%��	 �
 �%!�
 ���� " ��� f ��	 r ��	 �����	��"�	 �
� C�����
@

U Gx�

� �
�

�
���

G/Gx

f

r

φ̃x

�

��� �� ���	�� ���� ��������	
� ��
����

<� ���	�� ����'��� ��� ������ ��� ��� ���
��"���� ����'�	� ��	 �� �"�
���
��"���� F������� ������� !��	��	 �� �	����(����� ��	 �� ������ ����
�
� "��� 
 ������ ���� ���
������ ��� ����'��	�(� ��	 �	������	��� �������#
5 ���	�� 	�!� ����	 �� �����!����� �� ����'
�� �� G & %(���� ��� !%��� ����
������	��" �	���!��� ������� �� �
� ����'���� ���� ��	 �� ������������ �

����
 �
� G �� ����"�# 7�
 �	������	�
 ��������
� 
 �����	 
 ���'��
�� �
�
��	� ���	�� 	�!�� ���� �
� �	������ !��� G & ���''������ ����	��" �������
��
� G & ��''��'��
��� 
 "��� 
 ��� ������ �	����'�A���	 ��� �� ��(�
��
,#)#-#

2�
���
��� #0�0� +	 '���	 �	� ���� ������� ���'�"���� �� �'���� ����&
�	��"� %(���� ����	 ��	 ����� �	 %(��	 �	�
!���� ��''!� ����%��� ���������	�
��	 ��	 �	 ���%���	 ���� � ���'��
�"� �� ����	 �'���� �����	��� %(��	#

6���� #0�0# '(��� X 	��� ������ �����
��� ,completely regular- �����
��
 C 	�� ����
�� �����
	� ����)���� ���� '(���� ������� f : C → [0, 1]
��� ������� ��������� �� supp f ⊆ C� &���� ������
 ������� ��	�����
F : X → [0, 1] ��� f ���� X#

/����
3�# + X ����	 �'���� �����	���� ������ ��� �� I:J� Ch. VII, Th. 7.3�
����%�	 ρ : X → PX ��� ����	 ���	�����	���� ��� X ��� �
� �	����� ���� ����
�� PX =

∏{If : f ∈ IX} ��	 {If : f ∈ IX} ����	 ��� �	���!��	� �����	����
�	���
����� �� ������� ��� �� �"��'� IX ��� ����%(� ����������� f :



:3

X → I# $� PX ����	 ������!�� ��� �� ��(�
�� ��� Tychonoff# 9B��� ���

�� I:J� Ch. XI, Th. 8.2 ���A���	 � X̃ = ρ(X)
P X

��	 ����	 
 Stone - Čech
����������
�
 ��� X#

9/��� A = ρ(C)
X̃
# $� C ����	 ���	�� ������!� ��	 ����� ����"��'�

��� �������"� A ⊆ X̃ ��	 
 ρ|C : C → ρ(C) ����	 ���	�����	����# 9B��� ��
A 
� ����	 
 Stone - Čech ����������
�
 ��� C ��	 �� ρ(C) ����	 ���	���
����"��'� ��� A ��� �� I:J� Ch. XI, Th. 8.3# �!������ f(y) = 0 �	� ��
�
y ∈ A\C� ������������ �
� f ����%(� ��� A# $� A ⊆ X̃ ����	 �'�	��� ��	 �
X̃ ����	 ��������� ������ ��� �� ��(�
�� ��� Tietze� ����%�	 ����%�� ��!�&
���
 F ′ : X̃ → [0, 1] �
� f ���� X̃# +��A����� F : X → [0, 1] �� F = F ′|X �
!%���� �� A
��"����# �

6���� #0�0' '(��� F 	�� ���
��� ����)���� ���� ������ �����
��) �����
X ��
 	��� K 	�� �����
	� ����)���� ��� X 3	�� �� ���� �� F � &���� �����
��
 ������� ��������� R : X → [0, 1] ���� �� 
��)��� R|F = 0 ��
 R|K = 1#

/����
3�# + X ����	 �'���� �����	���� ����� �	� ��
� p ∈ K ����%�	 ����%�&
� fp : X → [0, 1] �� fp(p) = 1 ��	 fp|F = 0# 1	� ��
� p ∈ X 
!�����
V (p) = {q ∈ X : fp(q) > 1/2}# 1	� ��
� p ∈ X �� V (p) ����	 ���	��� ���	�%�
��� p# $��� K ⊆ ⋃

p∈K V (p)� ������ '��� �
� �������	�� ��� K� ����%���

pi ∈ K �	� i = 1, . . . , k �� K ⊆ ⋃k
i=1 V (pi)# +��A���� �
� R : X → [0, 1] ��

�"��

R(q) = min{1, 2
k∑

i=1

fpi(q)},

����� !%���� R|F = 0 ��	 R|K = 1� ���" �	� ��
� q ∈ K 
� ����%�	
i◦ ∈ {1, . . . , k} (���

q ∈ V (pi◦) ⇒ fpi◦ (q) > 1/2 ⇒ R(q) = 1.

5 R ����	 ������(� ����%�� �� �� �'�%	��� �"� ����%(� ������������ �����
����	 ��	 
 A
��"���
# �

6���� #0�0+ '(��� X, Y �)� 
���
�
 G � ����
 ��
 	��� f : X → Y ��� G
� ���
���
��� ���
��� ���
�����
���� ��� x ∈ X ���� �� 
��)�
 Gx = Gf(x)�
&���� ������
 ��� G � ���
��� U ��� x �	��
�� ���� � f |U �� ����
 G � ���
��
����
���� ��� ���� ���
���� G � ���
���� ��� f(x)#



:,

/����
3�# B��" 
 ����
 �
� G ���� Y ����	 ����	�� ��� �� 3#�#)� ����%�	�
Q ⊆ Y ���	�%� ��� f(x) (��� �� G(Q, Q) �� ����	 �%��	�� ������!�# 5 f
����	 ���	�� ���	�����	���� ��� x� ����� 
� ����%�	 A ⊆ X� ���	�%� ���
x� (��� f(A) ⊆ Q ��	 
 f |A : A → f(A) �� ����	 ���	�����	����# 9/����	
��	 G(f(A), f(A)) ⊆ G(Q, Q)� �
'��� �� G(f(A), f(A)) 
� ����	 �%��	��
������!�#

B�� �
 ���!%�	� �
� ����
� ���� X� �	� ��
� g ∈ Gx 
� ����%���
���	�%!� Wg ��	 Bg ��� g ��	 x� �������	%� �� WgBg ⊆ A# $���� 
� 	�%"�	
Gx ⊆ ⋃

g∈Gx
Wg� ������ '��� �
� �������	�� ��� Gx� 
� ����%��� gi �	�

i = 1, . . . , k �� Gx ⊆ ⋃k
i=1 Wgi # +��A����

W =
k⋃

i=1

Wgi ��	 B =
k⋂

i=1

Bgi .

$���� �� W, B 
� ����	 ���	��!� ���	�%!� ��� Gx ��	 x� �������	%�� ��	 
�
	�%"�	 WB ⊆ A# $� G(f(x), f(x)) = Gf(x) ����	 ������!� ��	 �� W ����	
���	�%� ��� Gx = Gf(x) ������ ��� �� 3#�#)� 
� ����%�	 ���	�%� B∗ ⊆ f(A)
��� f(x) �� G(B∗, B∗) ⊆ W # �����"�� �
� ���	��� ���	�%�

C = B ∩ f−1(B∗)

��� x� ����� ��	 �� U = GC 
� ����	 ���	�%� ��� x#
1	� �� ������ ���� �� A
��"����� 
� ��� ���� ��	 
 f |U : U → f(U) ����	

���	�����	����# C������	�

e ∈ Gx ⊆ W ⇒ B ⊆ WB ⊆ A ⇒ C ⊆ A,

����� 
 f |C : C → f(C) ����	 ���	�����	����# /���
�� ���	�� �� �	�������

C f(C)�

�
gC � gf(C)

�

f |C

f |gC

����	 ����
��	��� 
 f |gC → gf(C) ����	 ���	�����	����# B����� '�	���� ��
��� ���� ��	 
 f |U ����	 ,&, ��� U � ����� 
� ����	 ��	 ���	�����	����# 9/���
g1, g2 ∈ G ��	 x1, x2 ∈ C �� f(g1x1) = f(g2x2)# $��� g2

−1g1f(x1) = f(x2)#
/��	�� f(x1), f(x2) ∈ f(C) ⊆ B∗� 
� !%����

g2
−1g1 ∈ G(f(C), f(C)) ⊆ G(B∗, B∗) ⊆ W.



:�

7����(�

g2
−1g1x1 ∈ WC ⊆ WB ⊆ A ��	 x2 ∈ C ⊆ A.

9+���� 
 f |A ����	 ���	�����	����# /���!��� g2
−1g1x1 = x2� ����� g1x1 =

g2x2� �
'��� 
 f |U ����	 ,&,� ��� ���	�����	����# �

2�
���
��� #0�0& + ����'��	��� ��"���� �
� Gx ��
� G ���%��	 ��� ����&
���	%� ����'��	�� ��"��� �
� ���%	�� ���� X ��	 �� �������� F���� ��&
���A�	 ���� �� 
 f �	��
��� �
� ����� 	��������� ����	�� x ∈ X ��	 ����	
���	�� ���	�����	����� ���� ��� �	��� G & ���	�%� �"�� ��� �� x ���� X
�����''���	 �!�� �
� f �� ���%	!� ��� Y �"�� ��� �� f(x) !��	� (��� � ��"&
���� �
� ���%	�� & �	����� ���� Y �� ����	 � ��	�� �� ��� ��"��� �
� ���%	��
& ������� ���� X#

6���� #0�05 '(��� X, Y �)� 
���
�
 G � ����
� ���� � Y �� 	��
 �����
�����
� ���� ����
��� '(���� ������� M ⊆ X, Y 	��� ��
��� G � ��������
��� X, Y ��
 f : X → Y ��� ������� G � ���
���
�� �� f |M = idM � �
����� ����
 ���
�� ���
�����
���� ��� ������ ��� M � &���� �������� G �
���
��	� ���
��	� U ⊆ X ��
 V ⊆ Y ��� M � ���� � f |U : U → V �� ����
 G
� ���
�����
����#

/����
3�# /����� Gm = Gf(m)� �	� ��
� m ∈ M � ��� �� ���
��"����
F����� ����%��� ��'"H�	� G & ���	�%(� {U ′

m : m ∈ M} �
� M ��
� Y ��	
{Zm : m ∈ M} �
� M ��
� X� (��� 
 f |Zm : Zm → U ′

m �� ����	 ���	�����	&
����#

9/��� π : Y → Y/G 
 ���	���	�
 & �
'���# $� ���	��� �"��'�

{π(U ′
m) : m ∈ M},

�����'�"� ��'�H
 �
� M/G ��	 ������ � Y/G ����	 ������������� 
� �&
���%�	 ���	�� ��������!�
 ��'!�����
 ���	��(� {Ui : i ∈ I} ��� ��'"�����
{π(U ′

m) : m ∈ M} ��	 ���	�� ��������!�
 ��'!�����
 ���	��(� {Vi : i ∈ I}
��� ��'"����� {Ui : i ∈ I} �� V i ⊆ Ui, i ∈ I# �!������ Zi := f−1(π−1(Ui))�
�	 ���	��	����

fi = f |Zi : Zi → π−1(Ui)

!%��� ����������� ���������	�

ti : π−1(Ui) → Zi.



:)

�� ��� ���� ��� �	 ti �������� ��	�� �	�!� �� G & ���	�%!� �
����� �
� M �
����� ��
� !���
 ���(� ��� ���	�%(� 
� ���A���	 ��'� 
 ���������
 �
� f #

9/��� m ∈ M # 0���%�	 ���	��� ���	�%� Wm ��� π(m) ��� �!���	
��������!�� �'�
�� ����'�� {V ir}k

r=1# B� π(m) �∈ V ir0
� ���� �� �"��'�

Wm\V ir0
����	 ��� ���	��� ���	�%� ��� π(m) ��� ��� �!���	 �� V ir0

# <&

����"�� ����!��� �� ���
!����� ��� �'� �� �"��'� {V ir}k
r=1 ��� �!�����

�� Wm ���	!%��� �� π(m)#
<	���������� ����%��!��� �� Wm� �����"�� �� ���
!����� ��� ���	!%�&

��	 ��
 ���� ��� {Uir}k
r=1� ����� ���� 
� ����	 ��	 �� ���� �"��'� ��� �
�

�	���!��	� {Ui : i ∈ I} ��� 
� �� ���	!%���#
$� ��	� ���	�(� ������������ 	�%"��� ��	 �	� �� G & �"��'�

π−1(Wm), {π−1(V ir}k
r=1 ��	 {π−1(Uir)}k

r=1.

$(��� �	� ��
� r = 1, . . . , k� !%���� tir(m) = m� ����� ����%�	 ���	���
G & ���	�%� Cm ⊆ π−1(Wm) ��� m ∈ Y � (��� tir(Cm) ⊆ ⋂k

r=1 Zir �	� ��
�
r = 1, . . . , k# 5 Cm ����	 
 G & ���	�%� ��� m ��� A
����# C������	� ��
����%�	 y ∈ Cm �� tir1 (y) �= tir2 (y)� ���� tir1 (y), tir2 (y) ∈ ⋂k

r=1 Zir # +	

{fir}k
r=1 ���A����	 ���

⋂k
r=1 Zir �� ���	��	���� �
� F ��	 ����	 , & ,# 9B���

�	� ��
� r = 1, . . . , k 	�%"�	

(fir ◦ tir1 )(y) = y = (fir ◦ tir2 )(y)

��� ����	 ����� �	� k ≥ 2� ��( �	� k = 1 ��� !%���� ����'
�� ��	���" �
�
���������
� �
� f ��
� Cm#

+��A����

t : C =
⋃

m∈M

Cm → t(C) �� t|Cm∩π−1(Vi) = ti.

$� �"��'� C ��	 t(C) ����	 G & ���	��!� ���	�%!� �
� M ��	 
 t ����	 ��'�
��	��!�
� ����%�� ��	 ���������
 �
� f |t(C)# �

;�$
��� #0�07 '(��� X 	��� ������ �����
��� ����� ��
 G ����� Lie ���
��� Palais � 
���
� ���� X� &���� 

� ��"� x ∈ X ������
 ������ ��� x#

1	� �
� �����	 
 ��� �������� ���������� 
� %��	����"�� �� �������
���� F������#

6���� #0�08 '(��� H 	��� ����� Hilbert ��
 G ��� ����� Lie ��� ���
������� ���� H �	�� unitary ��������� /� � G ��� 
���
� ���� H\{0} ��




:*



� �� x ∈ H � ���
���
�� G → H : g �→ gx ����
 �
������
��� ���� ������

��� G � ���
��� U ��� x ��
 ��� �
������
�� G � ���
���
�� f : U → G/Gx

	��
� ���� f(x) = Gx#

/����
3�# 5 ��������
 x = 0 ����	 ����	��!�
#
0��
!������ '�	���� ��	 x �= 0 ��	 ��	 
 ���	���	�
 φx : G → H : g �→

gx ����	 �	������	�
� ���� φ : G × H → H ����	 
 ����
 �
� G# $���� 

���%	� Gx ����	 �'�	��� �"��'� ��	 �����	�� �����''��'��
�� ��� H ��	
���� �������	 ��� �� ������� ��	 
 ��������
 ���	���	�
 φ̃x : G/Gx → Gx
����	 '���� immersion ��	 ����	�� ����� 
 ����'���� �
� �	����	��� ����� ���
�������	 ��
� Gx ����	 ������� �� �
� ����'���� ��� H#

B��" � H ����	 �����	��� %(���� 	�%"�	 TH � H × H� ����� ���A���	 

!�
��
 i : TGx ↪→ H × H ��	 �� normal bundle

N = N(Gx) = {(w, h) ∈ H × H : h ∈ i(TwGx)⊥}.

$� N ����	 �����	�� �����''��'��
�� ��	 �'�	��� G & ����"��'� ��� H×H�
���" �� i(TGx) ����	 G & ����"��'� ��� H × H ��	 
 G ��� �	��(�	� �!��
unitary ��'���(� ���� H × H#

5 G & ���	���	�


ψ : N → H : (w, h) �→ w + h

����	 �	������	�
 ���� H# C����
��"�� ��	 !%���� �
� �	�����
 �� ����'
��&
���	��"� �'�	���"� ���%(����

T(x,0)N = TxGx ⊕ T0i(TxGx)⊥ ∼= i(TxGx) ⊕ i(TxGx)⊥ = TxH

��	 ��	 � ���	��	���� ψ|Gx×{0} ����	 ���	�	����	�
 ��� ��� Gx� ��( � ���	�&
�	����

ψ|N∩({x}×H) : N ∩ ({x} × H) → H : (x, h) �→ x + h

����	 ���	�	����	�
 ��� �
� �	����� ���# 9B��� 
 Tψ(x,0) ����	 	������	����
%(��� Banach ���	��	��!�
 �� ��
� ����'
�����	�� ���%��� %��	���� ����&
�(� 
� ����	 	������	���� ��� %(��� Banach T(x,0)N ��	 TxH# 9B��� 
 ψ
����	 ���	�� ���	�	����	�
 ����� ��� (x, 0) ��	 '���������� ��G �H	� �
 �%!�

Gx = G(x,0)� �����"�� �� ����������� �� F���� �#,#* ��	 �� ���"�� G &
���	�%� V ��� (x, 0) ���� 
 ψ|V 
� ����	 G & ���	�	����	�
# 5 A
��"���

������
�
 ����	 


f = φ̃x ◦ π ◦ (ψ|V )−1 : U = ψ(V ) → G/Gx,



:8

���� π : V → Gx ����	 
 �����'�# �

6���� #0�0� '(��� X 	��� ����� Banach� U ⊆ X 	�� ���
��� �)���
��� K ⊆ G 	�� �����
	� �)���� ��
 ψ : G × U → R ��� �
������
��
��������� �� ψ(g, u) = 0 

� ��"� (g, u) ∈ (G\K) × U � &���� � ���
���
��
Ψ : U → L2(G) : Ψ(u)(g) = ψ(g, u) ����
 �
������
��#

2	
���� #0�0�� /� x ∈ L2(G) ����
 �
������
�� ��������� �� �����
�
���	�� ���� ������
 G � ���
��� U ��� x ��
 �
������
�� G � ���
���
��
f : U → G/Gx �� f(x) = Gx#

/����
3�# 1	� ��
� V ⊆ G ���	��� ��	 �%��	�� ������!� ����� ��	���"
����	�� %���
 �
� G 
 ���	���	�


ψ : G × V → R : ψ(g1, g2) = x(g2
−1g1) = (g2x)(g1)

����	 �	������	�
 ��	 	�%"�	 ψ(g1, g2) = 0 �	� ��
� (g1, g2) ∈ (G\(V supp(x)))×
V # 9B��� ��� �� ���
��"���� F����� ���" 
 V ����	 ���	�� ���	�	������	�

�� !��� %(�� Banach ��������!�
� �	�����
�� 
 Ψ : G → L2(G) : g �→ gx
����	 �	������	�
# /���!���� ���" �� �!��� Haar ��
� G ����	 ���''�����
�	� �	� �� 	!� �������!�� 
 G 
� ��� �!�� unitary ��'���(� ���� L2(G) ��	
�� ����!����� ����"���	 ��� �� ���
��"���� F����# �

6���� #0�0�� '(��� X 	��� ������ �����
��� ����� Hausdorff ��
 	��� G
��� ����� Lie ��� ��� Palais � 
���
� ���� X� &���� 

� ��"� x ∈ X �����
��
 ��� G � ���
���
�� Φ : X → L2(G)� ���� � Φ(x) �� ����
 �
������
��
��������� ���� G �� �����
� ���	� ��
 �� 
��)�
 Gx = GΦ(x)#

/����
3�# 9/��� W �	��� ���	�%� ��� x ��	 φ : G × X → X 
 ���	���	�

�
� ����
�# $���� �!�� ��� ���	�'��	��" ���	�����	���" φ̃x : G/Gx →
Gx� 
 ���%	� Gx ������ ���� �'�	���" ����'�� ��	 '���� ��''��'��
��� ��
����'���� ������� �� �
� ����'���� ��� Gx �� ���%(��� ��� X#

5 �����	�� ���	���	�
 π : G → G/Gx ����	 ���	���� ����!���� '��� �
�
���!%�	�� �
� φ̃x ◦ π� 
� ����%�	 �%��	�� �������� ���	�%� V ��� e ∈ G
�� V x ⊆ W # $� V x 
� ����	 �%��	�� �������� ���	�%� ��� x ��� Gx#
B�� �� F���� ��� Uryshon� ����%�	 '��� ������
�
 f : Gx → [0, 1] ��
supp f ⊆ V x ��	 f−1({1}) = x# + X ����	 �'���� �����	��� ��	 �� Gx
���	�� ������!� ����"��'� ���� ������ ��� �� F���� �#,#�� ����%�	 ����%��
��!����
 F : X → [0, 1] �
� f # /���
�� �� X\W ����	 �'�	��� ��	 �� supp f
������!�� ������ ��� �� F���� �#,#)� ����%�	 ������
�
 ν : X → [0, 1] ��



::

supp ν ⊆ W ��	 ν|supp f = 1# +��A���� �
� ���	���	�


f̃ : X → R, f̃ = ν · F,

��� ����	 ����%�� �� �	� 	�	��
��� f̃ |Gx = F |Gx = f ��	 supp f̃ ⊆ W # 5
���	���	�
 Φ : X → L2(G) �� �"��

Φ(y)(g) = f̃(g−1y)

����	 
 A
��"���
@

9/��� y ∈ X# $� supp f̃ ⊆ W ����	 �	��� �"��'�� �� ����"��'� �	���"

����'��� ����� ����%�	 ���	�%� U ��� y �!��	�� (��� �� L = G(U, supp f̃)
�� ����	 �%��	�� ������!�# 9B��� �	� g �∈ L−1 !%���� g−1U ∩ supp f̃ = ∅�
����!��� Φ(z)|g−1U = 0 �	� ��
� z ∈ U # 7����(� supp Φ(z) ⊆ L−1� ����� 

Φ(z) 
� !%�	 ������� ���!� ��	 
� ����	 ��'� ��	��!�
 �	� ��
� z ∈ U # ��
��� ���� ��	 
 Φ ����	 ����%��@

B� m ����	 �� �!��� Haar ��
� G� ���� 
 ���
��� C = m(L−1) ����	
��������!�
� '��� �
� �������	�� ��� L−1 ��	 �
� �����	���
��� ��� �!����#

9/��� ε > 0# 1	� ��
� g ∈ L−1� '��� �
� ���!%�	�� �
� f̃ ��� g−1y� 
�
����%�	 ���	�%� Ug−1y ��� g−1y� (���∣∣∣f̃ |Ug−1y

− f̃(g−1y)
∣∣∣ <

ε

3C
.

/���
�� '��� �
� ���!%�	�� �
� ����
� ��� (g−1, y)� 
� ����%��� ���	�%!�
Ug ��	 U(g,y) ��� g−1 ��	 ��� y� �������	%�� (��� UgU(g,y) ⊆ Ug−1y# $���

L ⊆ ⋃
g−1∈L Ug� ����� ����%��� gi ∈ L−1 �	� i ∈ {1, . . . , k} �� L ⊆ ⋃k

i=1 Ugi #
+��A���� �
� ���	�%� ��� y

Vy =
k⋂

i=1

U(gi,y).

9/��� z ∈ Uy ��	 g ∈ L−1# �� ����%�	 i◦ ∈ {1, . . . , k} �� g−1 ∈ Ugi◦ �
����� g−1z ∈ Ugi◦U(gi◦ ,y) ⊆ Ug−1

i◦ y� ����!���∣∣∣f̃(g−1z) − f̃(g−1
i◦ y)

∣∣∣ <
ε

3C
.

/���
� g−1z ∈ Ugi◦U(gi◦ ,y) ⊆ Ug−1
i◦ y� �����∣∣∣f̃(g−1y) − f̃(g−1

i◦ y)
∣∣∣ <

ε

3C
.



:.

5 ��	���	�� ��	���
�� ����	∣∣∣f̃(g−1z) − f̃(g−1y)
∣∣∣ ≤ ∣∣∣f̃(g−1y) − f̃(g−1

i◦ y)
∣∣∣ +

∣∣∣f̃(g−1z) − f̃(g−1
i◦ y)

∣∣∣ <
2ε

3C

�	� ��
� g ∈ L−1# 7����(�

sup
g∈L−1

|Φ(z)(g) − Φ(y)(g)| ≤ sup
g∈L−1

|Φ(z)(g) − Φ(y)(g)| ≤ 2ε

3C
,

�����

‖Φ(z) − Φ(y)‖L2(G) ≤ C · sup
g∈L−1

|Φ(z)(g) − Φ(y)(g)| ≤ C · 2ε

3C
< ε

�	� ��
� z ∈ Uy� ��G ���� !����	 ��	 
 Φ ����	 ����%��#

/ ��	���" �(��� 
 Φ ����	 G & ���	���	�
� ����� Gx ⊆ GΦ(x)# �� ��� ����
��	 �� �"��'� ���� ����	 ���@ 1	� g ∈ GΦ(x) !%����

Φ(x)(g−1h) = Φ(x)(h) ⇒ f̃(h−1gx) = f̃(h−1x)

�	� ��
� h ∈ G# 9B��� �	� h = e

f(gx) = f(x) = 1 ⇒ gx = x ⇒ g ∈ Gx,

���" f−1({1}) = x# /���!��� Gx = GΦ(x)#

5 Φ(x) ����	 �	������	�
 ������
�
 �� �"�
��
 ��� �	������	��� �������&
���� f |Gx ��	 φx : G → Gx �� g �→ gx� ����� ����	 ��	 
 A
��"���
# �

/����
3� ��� :��������� !� �># 9/��� 
 Φ ��� ���
��"����� F������� ��	
U ��� G & ���	�%� U ��� Φ(x) ���4L2(G)# �� ����%�	 G & ���	���	�


F : U → G/GΦ(x) : F (Φ(x)) = GΦ(x) = Gx

���� ��� C��	��� �#,#,3# 5 ���	���	�


f = F ◦ Φ|Φ−1(U) : Φ−1(U) → G/GΦ(x) = G/Gx

���A�	 ��� A
��"���� ����� ��� x# �



:-

��� �� ���	�� ���� ���&���	
� ��
����

1
���	� #0#0� '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� ��
��� �
������
�� ������������ X� '(�� ����)���� S ��� X "� �	
���
  ��"
%�
������  ����� ��� x ∈ X� �� ������
 ���
��� ���
��� U ��� x ��
 ���
�
������
�� G � retraction r : U → Gx �� r−1({x}) = S#

2�
���
��� #0#0# 1	� ��
� s ∈ S 
 r|Gs : Gs → Gx ����	 submersion�
���"� �!�� ��� �����	�(� ���	�	��������� G/Gs → Gs ��	 G/Gx → Gx� 

r|Gs �����	 �
 ���	�'��	�� ���	���	�


r̃ : G/Gs → G/Gx : gGs �→ gGx,


 ����� ����	 '��� submersion� ���" Gs ⊆ Gx# 7����(�� 
 r ����	 submersion
��	 �� �'�	��� �"��'� S = r−1({x}) !%�	 ���� '���� (dim X−dimG+dim Gx)
& �	�����
� ��''��'��
���#

2�
���
��� #0#0' B� �	 X, Y ����	 �"� '���� ��''��'��
��� ��	 
 '! 

����	�����	����� ���	�������
�� ��� �
� '! 
 ����	�	����	�
� �	� �
� f �
���� �� ������������ ��� F
������ �#,#* ��	 �#,#: � ���'��
�"� �� 	�%"&
��� ���" �	 ��''��	���� �
� �����	 
� �����!���� ���	�(� �	 ��	�	#

6���� #0#0+ '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� �� ���
�
������
�� n � ������������ X� '(���� ������� M ��� G � ����������� �����
�
�� ��������������� ��� X� &���� ������
 ��� ���
��� W ��� M ���� X
��� ����
 ���
�
������
�� �� ��� ���
��� V ��� M �� 	�� vector bundle ����
��� ��� M � &� vector bundle ������ �� ��
��
"�� ���������� ���� �� ����

G � ������ ��� �
 ���
��	� W ��
 V �� ����
 G � ���
�
������
��� G � ���
��	��

/����
3�# + X ����	 ���	�� ��������� ���	�� ������	��� ��	 ������������
%(���� ������ ��� �� 3#)#8�*�� � X/G ����	 ������������# 9B��� ��� ��
3#)#)� � X !%�	 
���'	(��� �"��'� ��	� ��� �� ��(�
�� ,#)#-� ����%�	 G &
���''����
 ����	�� Riemann ��� ����	 ��� X ��''��'��
�� Riemann#

$� E = {(p, vp) ∈ TX : ����%�	 �����	�	��� γ �� γ(0) = p ��	 γ̇(0) = vp

��� ���A���	 ��� [0, 1]} ����	 ���	��� ���� TX# 5 ����	� ����
 φ : G×X →
X �
� G ���� X �����	 �
� ���������
 ����


Tφ : G × TX → TX : (g, (p, vp)) �→ (φg(p), Tpφg(vp))

���� TX� 
 ����� ����	� ����
�� ����	� ��	 �� �
� ����� 
 G ������	 	������

�� ��� �������� �
� ������ ��� 	������	(� I(X) �
� X# 9B��� � TX ������	



:2

����	�� G & %(��� ��	 �� E ������	 G & ����"��'� ��� TX� ���" �	� ��
�
g ∈ G 
 φg ����	 	�������� ��	 �����(� ��!'��	 �����	�	��!� �� ��%	�!�
���
���� (p, vp) �� �����	�	��!� �� ��%	�!� ���
���� (φg(p), Tpφg(vp))# 1	�
��� ��	� '���� �	� ��
� g ∈ G 	�%"�	

φg ◦ exp = exp ◦Tφg.

����(���� ���� X × X �
� �	��(�	� ����
 G × (X × X) → X × X ��
(g, (x1, x2)) �→ (gx1, gx2) �	� g ∈ G, x1, x2 ∈ X� 
 ��
��	�� ������	 G &
���	���	�
#

+��A���	 �(��� �� normal bundle N �
� M � �
'��� �� subbundle ���
TX|M ���� ��� �
� M � �	� �� ����� 	�%"�	 ��	 Ny = TyM

⊥ �	� ��
�
y ∈ M # + N ����	 �����	�� �����''��'��
�� ��� TX �	�����
� dimX
��	 ����	 G & %(���� ���" �	� ��
� g ∈ G 
 Tφg �	��
��� �� ��
��(�	�
����'
�(����� �� 	��������# 7����(�� ���A���	 � ����	�� G & %(��� E ∩N �
� ������ ����	 �����	�� �����''��'��
�� ��� TX �	�����
� dimX� ���" ��
E ����	 ���	��� ����"��'� ��� TX#

9/��� �(�� i : E ∩ N ↪→ E 
 !�
��
 ��	 pr2 : X × X → X 
 �����'�
��
� ��"���
 ���������!�
# +��A���� �
� G & ���	���	�


H ′ = pr
2
◦ exp ◦i : E ∩ N → X.

1	� �� (x, 0) ∈ E ∩ N !%����

T(x,0)H
′ = T(x,0)(pr2 ◦ exp) ◦ T(x,0)i =

⎡⎢⎢⎢⎢⎣
1 . . . 0
. . . . .
. . . . .
. . . . .
0 . . . 1

⎤⎥⎥⎥⎥⎦
n×n

�

�
'��� T(x,0)H
′ = idTxX � 
���(���� ��� 	������	��� T(x,0)N ∼= TxX ��

�����	�� 	������	���# 9B��� 
 H ′ ����	 ���	�� ���	�	����	�
 �"�� ��� ��
�
(x, 0) ∈ E ∩N ��	 	�%"�	 G(x,0) = Gx# B�� F���� �#,#: ��	 �
� C������
�

�#�#)� ����%�	 G & ���	�%� V ⊆ E∩N ��� M×{0}� (��� 
 H ′|V �� ����	 ���	&
�	������	�
 G & ���	���	�
 �	� ��
� (x, 0) ∈ E ∩ N # �!������ W = H ′(V )
��	 H = H ′|V � !%���� �� A
��"����# �

;�$
��� #0#0& '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� ��
��� �
������
�� n � ������������ X� &���� 

� ��"� x ∈ X ������
 	���
�
������
��� ������ ��� x#



.3

/����
3�# 5 �'�	��� ���%	� Gx ����	 G & ���''����
� �����	�� �����'&
'��'��
�� �
� X� ���" 
 ���	�'��	�� ���	���	�
 φ̃x : G/Gx → Gx ����	
���	�� ���	�	����	�
� ,&, ��	 �'�	���� �� ����	� ���	���	�
 ��� ��� Gx#
+��A���	� '�	���� �� normal bundle N �
� Gx� �� ����� ����	 �'�	��� ��&
��"��'� ��	 �����	�� �����''��'��
�� ��� TX �	�����
� dimX#

C������	� !��� {< ·, · >z}z∈X �� G & ���''����� ������	�� �	������
���� X ��	 !��� {(yn, vn)}n∈N ⊆ N �� (yn, vn) → (y, v)# $��� y ∈ Gx� ���"

 Gx ����	 �'�	���# B� W : Gx → TGx ����	 !�� �	�������	�� ����� ��
�
Gx� ���� 
 < W, · >: TGx → R ����	 '���� �����

< W (yn), vn >yn→< W (y), v >y .

9+���� �	� ��
� n ∈ N !%���� < W (yn), vn >yn= 0� ���" (yn, vn) ∈ N # 9B��
< W (y), v >y= 0� �
'��� (y, v) ∈ N # + N ����	 ����
� G & %(���� ���" �	�
��
� g ∈ G 
 Tφg �	��
��� �� ��
��(�	� ����'
�(���� �� 	��������#

$(��� ��� �� ���
��"���� F����� ����%�	 G & ���	�%� V ⊆ N ��� Gx×
{0} ��	 H : V → H(V ) ⊆ X ���	�	������	�
 G & ���	���	�
# 5 �����'�
π : N → Gx ��� N ��� Gx ����	 G & ���	���	�
� ����� ���A���	 
 G &
���	���	�


r = π|V ◦ H−1 : H(V ) → Gx,


 ����� ����	 �	������	�
 G & retraction ��	 ���A�	 �� S = r−1({x})� ��� ����	
� A
��"����� ������ ��� x# �

��� $ �������(���� ����	� ���� �%� ��
��%�

7�
� C������
�
 �#3#) ��	�
������ �
� ������	���
�� �
� !���	�� �
� ���	&
��� ����� �� !��� ���	�� ������� ����	� G & %(�� �� �
� !���	� ��� ������#
9+��� 
 G ����	 ����� Lie ��	 ��� ����	� �� !��� %(�� X� ���� �	� x ∈ X�

 Gx ����	 �������� �������� �
� G ��	 �����(� ����� Lie# <������� ��

��������� �
� G �� Gx & %(�� �� �
� Gx �� ��� ��
� G �!�� �
� ��	�&
����� ����
�# $��� ����%�	 ���	�� ���� �"�� ��� ��
� �
���� �
� �����	���
���	���	�
� π : G → G/Gx ���������A����
 �� � ��@

9/��� g ��	 gx �	 �'������ Lie ��� G ��	 Gx �������	%�# �����"�� V ��
�'����	�� ����'����� �
� gx ��
� g �� ���� ���	������� �������	�
 ���

�
� gx ��
� g# $��� 
 T0 exp : T0V → TeG ����	 
 !�
��
 ��� ���A���	 �!��
�
� �	�����
� TeG ∼= V ⊕ TeGx ��	 ����	 ������(� ,&,# /���
�

T0 exp(T0V ) ∩ kerTeπ = T0V ∩ TeGx = {0},



.,

����!��� 
 T0(π ◦ exp) : T0V → T[e]Gx
(G/Gx) ����	 �����	��� 	������	�����

'��� 	���
��� �	�������� ��	 ����%��� W, U �%��	�� ��������� ���	��!�
���	�%!� ��� 0 ∈ V ��	 [e]Gx ∈ G/Gx� �������	%�� (��� 
 ���	���	�
 f =
π ◦ exp |W : W → U �� ����	 ���	�	����	�
# $���� 
 σ = exp ◦f : U → T =
exp(W ) ����	 
 A
��"���
 �'���� ���	�� ���� �"�� ��� �� e#

1	� ��%(� g ∈ G� ���A���	 
 ���	��� ���	�%� [g]GxU ��� [g]Gx ��	 

���	���	�


σg : [g]GxU → gT : [h]Gx �→ gσ([g−1h]Gx)

����	 
 A
��"���
 ���	�� ���� �"�� ��� �� g#

5 "��� 
 �
� �������� ���	��� ����� ����	��!��	 ��
� ���	����� �
�
���	��� ����� ���� G & %(���� ���� �������	 ��� �� �������#

2
	���� #0'0� '(��� S 	��� ������ ��� x ∈ X� 	��� 
���
�� G � �����
X� �� ����� φ� ���� G ����
 ����� Lie� &��� � retraction r : U → Gx ����

fibre bundle �� fibre S ��
 ����� ����� Gx�

/����
3�# 9/��� U = GS 
 ���	��� G & ���	�%� ��� S ��	 f : U → G/Gx


 ���	���	�
 ��� ���A�	 �� S# 9/���� ����
�� � ���	�����	���� ψ : G ×Gx

S → U �
� C�����
� �#3#8� π : G → G/Gx 
 �����	�� ���	���	�
 ��	
p : G ×Gx S → G/Gx 
 ����(���
 ���	���	�
 ��� �
� �����'� G × S → G#
$��� �� �	�������

G ×Gx S U�

�

�
�

�
���

G/Gx

p

ψ

f

�
Gx

r

�
φ̃x

����	 ����
��	��#
B� ��� ���� ��� 
 p ����	 fibre bundle� ���� 
 f 
� ������	 fibre bundle

�!�� �
� ψ 
 ����� 
� ������	 	������	���� Gx & bundles# $!'��� ���" 


����
 ����	 ����	�� 
 ψ̃x 
� ����	 ���	�����	����� ����!��� 
 r 
� ����	 fibre
bundle �� fibre �� S ��	 ����� ����� �
� Gx#

9/���� '�	���� ��� ���	�� ���� σ : V → G �
� π : G → G/Gx �"��
��� �� e ∈ G� ���� ��
� �	������ �
� ����������# �����"�� �
� ����%�
���	���	�


Ψ : V × S → p−1(V ) : ([g]Gx , s) �→ [σ([g]Gx), s]Gx



.�

��� ����	 ��'� ��	��!�
 ���" �	� ��
� [g]Gx ∈ V ��	 ��
� s ∈ S

p ◦ Ψ([g]Gx , s) = p([σ([g]Gx), s]Gx) = π(σ([g]Gx) = [g]Gx ∈ V.

5 Ψ !%�	 ����%� ���������
 ���	���	�
 �
�

Ψ−1 : p−1(V ) → V × S : [g, s]Gx �→ ([g]Gx , ((σ([g]Gx)−1g) · s)

��� ����	 ��'� ��	��!�
@ �	� [g, s]Gx ∈ p−1(V ) !%���� [g]Gx = p([g, s]Gx) ∈
V ��	 	�%"�	 ��� σ([g]Gx)−1g ∈ Gx� ���" 
 σ ����	 ���	�� ����� �����
σ([g]Gx)−1g · s ∈ S#

/���!��� 
 Ψ 
� ����	 ���	�����	���� ��� ����	 �
� p ���	�� �����'� ��	
�� ���� ��� ����!��	 �� ��� ���� ����	 ��	 
 �	�����
 V ×S ��� p−1(V ) ����	
������� �� �
� ��������
 �	�����
 �� ���� �
� p ��� ��� �''
 ���	�� ����
�
� G → G/Gx ��� V @ 9/��� λ : V → G ���� �	������	�� ��� �
� σ� ���	��
���� ��� e ∈ G ��	 Θ : V ×S → p−1(V ) � �������	%�� ���	�����	����# $���
�	� ([g]Gx , s) ∈ V × S !%����

Ψ−1 ◦ Θ([g]Gx , s) = ([g]Gx , (σ([g]−1
Gx

) · λ([g]Gx)) · s),

�
'��� 
 Ψ−1 ◦ Θ ����	 	������	���� fiber bundles� ����� �	������ �
� ����
�
� �	�����
� V × S �� ���� �
� p# �

/	�	������� � ������ S !%�	 ��� ���	��� ���	�%�� �
� Ψ ◦ p−1(V ) ��� ����	
���	�����	�� �� R

m × S� ���� m = dimG − dimGx#

2	
���� #0'0# '(��� G ��� ����� Lie ��� ��� Palais � 
���
� ��
 ���)"���
�� 	��� ������ �����
�� ���� X� &���$

 - � π : X → X/G ����
 locally trivial fiber bundle �� fibre ��
 �����
����� ��� G�

!- /�� ��
����"	���� � X ����
 �
������
�� ������������ ��
 � ����� ���
G �
������
��� ���� � X/G ������ ���� �
������
��� ������������� ����
�����
�� ������ ���� � π �� ����
 �
������
�� bundle � ���
���
�� � (�
��	���


� ��"� �
������
�� ����� S � ���
���
�� π|S : S → π(S) ����
 ���
�
����
��
��
 
��)�
 dimx X = dimG + dimπ(x) X/G 

� ��"� x ∈ X#

/����
3�# ,� 9/��� x ∈ X# B�� �� ��(�
�� �#,#.� ����%�	 ������ S ��� x
(��� �� U = GS �� ����	 ���	���# B�� �
� C������
�
 �#3#� ��	 �� C��	���
�#3#- �� S �!���	 ��
� ���%	� �� !�� �
���� ��	 
 π|S ����	 ��'� ��	��!���
���	�����	����# 5 C�����
 �#3#8 ��	 �� C��	��� �#3#-� ������ ���� G &
���	�����	���"� U/G ∼= π(S) ∼= S ��	 U ∼= G × S ∼= G × π(S)# 9B��� � G



.)

& %(��� U ����	 trivial ��	 �����(� 
 ������� (X, π, X/G, G) ����	 principal
fiber bundle#

�� 9/��� φ : G × X → X 
 ����
 �
� G ���� X ��	 f : U = GS → G

 ���	���	�
 ��� ���A�	 ��� �	������	�� ����� S ��� x ∈ X# 5 f ����	 �	�&
�����	�
� '��� �
� C�����
� �#3#,3# /���
�� 
 G × S → GS ����	 ���	�	�&
���	�
� 
���(���� ��� S �
� ���� ��� �������	 ��� �
� C������
�
 �#�#��
�� ���������
 �
� '��� ���	���	�
 y �→ (f(y), f(y)−1y)#

�� ��� ���� ��� � X/G �!%���	 ���� '���� ��''��'��
���� �!�� ���
������ ��� ��'"����� ��� X ��	 ��� ���� 
 ���� ����	 ��� ���
�
 �
� �	�&
�����	�
� ����� ��� ������ ��� �
� �����	#

9/��� S′ �	������	��� ������ ��� x′ �� U = GS = GS′ ��	 �������	%

���	���	�
 f ′ : U → G# +��A���� �	� �	������	��� ���	������	�

h = f |S′ : S′ → G ��	 h′ = f ′|S : S → G.

$���� 	�%"��� �	 �%!��	�

((π|S′)−1 ◦ (π|S))(s) = φ(h(s), s)

��	

((π|S)−1 ◦ (π|S′))(s′) = φ(h′(s′), s′)

�	� ��
� s ∈ S, s′ ∈ S′# 7����(�� 


(π|S′)−1 ◦ π|S : S → S′

����	 ���	�	����	�
 ��	 �����"�� �� �������� ��� U/G ���� '���� ��''��'��
&
���� ��������
 ��� �
 ���� ��� ������ S �!�� ��� ���	�����	���" π|S � 

����� 
� ����	 ��� ���
�
 ��� �
� ��	'��� ��� S# 7��
!������ �	� '���� ���!�
�� ��
� ���	��� ����"��'� ��� X/G �
� �������� ������� ���A���	 �	� '���
���� ���� X/G# B��� 
 ���� 
� ����	 ��'� ��	��!�
 �� ��
� ����%�� �"��&
'� U/G ��� X/G �
� ������ U = GS �	� ����	� ����� S� �''� ��	 ��	�
���� " ���� ���!�� ���" �"� �	������	��� �����	 
� !%��� ������!� ���!��
���� ��� ��� ��������#

5 ��������
 ���� ���� X/G ������!��	 �
� π : X → X/G �� bundle
map ��	 submersion# 9B�� π−1({x}) = Gx ∼= G� ����!��� kerTxπ ∼= TeG#
7����(� dimx X = dim G + dimπ(x) X/G# �

2�
���
��� #0'0' 9/��� (U, ψ) !��� S & straightening %���
� ��� X ��
'���
ψ(U ∩ S) = Q ∩ (Rk × {0}� �	� ����	� Q ⊆ R

n� ���� n = dim X ��	
k = dimS�# $���� � (π(U ∩ S), ψ|U∩S ◦ (π|S)−1) ����	 %���
� ��� X/G#



.*

/���!���� �� N ����	 �	������	�
 ��''��'��
�� ��	 H : X/G → N ���
���	���	�
� ���� 
 H 
� ����	 '��� ���� X/G� �� ��	 ���� �� 
 H ◦ π ����	
'��� ��� X#

2	
���� #0'0+ '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� ���
���� ������������ X� '(���� ������� S �
������
��� ������ ��� x ∈ X� &����
� G ×Gx S ����
 �
������
�� ������������ ,���) ��� �� =��
��� !�2�!,!-� �
�����
�� ����� Lie Gx ��� �
������
��� 
���
� ��
 ���)"��� ���� G × S-
��
 � ψ : G ×Gx S → GS : [g, s]Gx �→ gs ����
 ���
�
����
��#

/����
3�# 9/��� φ : G × X → X 
 ����
# 5 ���	�� 	�!� ����	 �� ��� ����
��� 
 ψ ����	 submersion ���%������ ��� 
 φ|G×S ����	 submersion#

9/��� r : U = GS → Gx 
 �	������	�
 G & retraction ��� ���A�	 ���
�	������	�� ����� S ��� ����	 submersion� ��� �
� C������
�
 �#�#�� ��	
!��� s ∈ S# 5 Gx ��� �	������	�� ��	 ����	� ��� S �� �������� ����� Lie#
E�%"�	 Gxs = Gs∩S� ���" G(S, S) = Gx ��	 ��'	��� 
 �	������	�
 ���
 �
�
���%	�� Gxs �� �����	��� �����''��'��
��� �
� S ����	 
 ��	� �� �
� ����
�
� �� �����	��� �����''��'��
��� �
� Gs �!�� �
� submersion

r|Gs : Gs → Gx(r|Gs
−1({x}) = Gxs).

�� ��� ���� ���

TsGxs = TsGs ∩ TsS :

C�����(� TsGxs ⊆ TsGs ∩ TsS# B� ξ = ηX(s) ∈ TsS ∩ TsGs �	� ����	�
η ∈ L(G)� ���� ηX : X → TX ����	 � ���	������ ���������� ��'!�� +�	���
)#,#,� ��� η ∈ L(G)� ���	�� ξ ∈ TsS = kerTsr� !%����

ηX(x) =
d

dt
(φx(exp tη))|t=0 =

d

dt
(r(φs(exp tη)))|t=0 = Tsr(ξ) = 0,

�
'��� �� x ����	 ���
��� �
���� ��� �	�������	��" ������ ηX � ����� exp tη ∈
Gx �	� ��
� t ∈ R ��	 �����(� ξ ∈ TsGxs#

$(��� ��� �
� C������
�
 �#3#�� 	�%"�	 (Gx)s = Gx ∩ Gs = Gs� �����

dim(TsGs + TsS) = dimTsGs + dimTsS − dim(TsGxs)
= dimGs + dimS − dimGx + dim Gs

= dimG + dimX − dimG

= dimTsX.



.8

9B�� TsX = TsGs + TsS ��	 �����(� TgsX = TgsGs + TgsgS �!�� �
�
���	�	����	�
� φg �	� ��
� g ∈ G# 9B��� 
 ���	���	�
 G×S → U : (g, s) �→
gs ����	 submersion� ����� �� ��	� 	�%"�	 ��	 �	� �
� ψ# 1	� s = x !%����

TgxX = TgxGx ⊕ TgxgS

�	� ��
� g ∈ G� ���" Gx ∩ S = {x} ⇒ TxGx ∩ TxS = {0}� �����
dimX = dimGx + dimS.

$�'	��

dim(G ×Gx S) = dimG + dimS − dim Gx

= dimGx + dim S

= dimX

= dimU,

����� 
 ψ ����	 ���	�� ���	�	����	�
 ��	 �����(� ���	�	����	�
# �

2�
���
��� #0'0& E�%"�	 �� 	�%������� ����!'���� ���� �� X ����	 ���
�	������	�
 ��''��'��
�� ��	 G ����	 ��� ����� Lie ��� ��� �	������	�� ��	
����	� ���� X �� �'�� �	� ������ 	��������� �� ����	 ��A����� ���� " �����
���� � X/G ������ ���� '���� ��''��'��
��� ���� �����	�� ������ (��� 

π : X → X/G �� ������	 bundle & ���	���	�
#

$� ������� ��� 
 ���	�� ���� ��� ������������� ��
� �	������ �
�
���������� ����	 '���� ��� ��
��� ��� ����!����� ��� 
 �����	 
 ��	 ��
������������ �
� C�����
� �#)#, 	�%"��� ����"�	� ��
� �	������	�
 ���
&
�����@

2
	���� #0'05 '(��� S 	��� �
������
��� ������ ��� x ∈ X� ���� 
���
��
G � ������������� X� �� ����� φ� ���� G ����
 ����� Lie� &��� � retraction
r : U → Gx ����
 ���� fibre bundle �� fibre S ��
 ����� ����� Gx�

� ����� ��	� �
� ���
�
� ���
�
�

��) $ ��������	� ������%��

5 C�����
 �#)#, ���%��	 ���� �� ����	�� G & %(��� X �!%���	 ����	� ����

����	�� ������ Lie G� ���� ����	 ���	�� ���	�����	��� �� !�� ������	���



.:

�	������ �
� ������ S × R
m# L��	�'��	��� '�	���� ��
���	 �� ��(�
��@ ���

��	!� ����̈��
!��	� ��	 �� ��	� ����� 
 �	�����
 ����� �
� ������ ������ ��
������
�� �'	��D 5 �����
�
 ��� ��(�
�� ���� 
� ��
�� �� �������� ���
�������� ����������� 
 �����	 
 ��� ������ ���������	 ���� �����"� ���
�������� ��	 ����'������	# + ���	���������� �����(��
� ������ �� �����!&
 �	 ��� �	�'�� I,�J� Ch. IV, 4.13#

;�$
��� #0+0� '(��� G ��� �� �����
��� ������
�� ��
 ���
�� �����
��
������

�� ������ &���� � G 	��
 ��

��
�	� �����
��� ���������� �
 ������
����
 ������
�	� ��
 ��#�
��� ����3) ����� '(��� K ��� ��� ���	�� &���� �����
���� ��������� Hi, i = 1, . . . , n ��� G� �
 ������ ����
 ���
�
������
�� 
������
�
�	� �� ��� ����"��
�� ����� (R, +)� (�
��	��� ��"� g ∈ G 
������
 ����
�����
�� ��
 �
������
�� ����� �� �� ����� g = t1t2 . . . tnk 

� k ∈ K ��

ti ∈ Hi 

� i = 1, . . . , n� (���	���� ��"� �����
�� �������� B ��� G ���
	�
����
 �� ����
� K ��
 
��)��� �
 ���
�
����
��
� G ∼= H1×H2×. . .×Hn×K ∼=
R

n × K ��
 G/K ∼= R
n#

1
���	� #0+0# '(��� G ��� ������

�� ������ K ��� �����
�� ��

��
��
�������� ��� ��
 X 	��� G � ������ '(�� ����)���� S ��� X �	
���
 K
�  ����� ��� x ∈ X� �� �������� G � ���
��� U ��� S ��
 G � ���
���
�
�� f : U → G/K �� f−1({K}) = S ��
 f(x) = K� &� S "� �	
���

����	� K "  ����� ��� x ∈ X� �� ������
 G ���
���
�� F : X → G/K ��
S = F−1({K}) ��
 F (x) = K#

6���� #0+0' '(��� G ��� ������

�� ����� �� �����
��� ��������� K ��

B� �� ��� ������ � K ����
 ��

��
�� �����
�� �������� ���� .
� ��"�
G � ���� X ��
 G � ���
���
�� F : X → G/B ������
 G � ���
���
��
f : X → G/K#

/����
3�# 5 B ����	 ��������� ����!��� ����%�	 ���	��	�� �������� K ′

�
� G �� B ≤ K ′# F��� ��� ���������� �#*#,� ����%�	 g◦ ∈ G (���
g◦K ′g◦−1 = K# +	 G & ���	������	�

L : G/B → G/K ′, gB → gK ′,

��	

R : G/K ′ → G/K, gK ′ → gg◦−1K,

����	 ����%���# 5 �"�
��


f = R ◦ L ◦ F : X → G/K



..

����	 
 A
��"���
 ���	���	�
# �

6���� #0+0+ '(��� G ��� ������

�� ����� ��� ��� Palais � 
���
� ����
������ �����
�� ���� X �	�� ��� φ : G×X → X ��
 B �����
�� �����
��
�������� ��� G� &���� ���� ���� X/B ���#���
 � �����

φ̃ : G/B × X/B → X/B : ([g]B, [x]B) �→ [gx]B

��� ������ G/B ��� ����
 Palais � 
���
�#

/����
3�# 5 ����
 ����	 ��'� ��	��!�
# C������	 !��� [g1]B = [g2]B ��	
[x1]B = [x2]B# $���� ����%��� h, w ∈ B �� x1 = hx2, g1 = wg2� �����
g1x1 = wg2hx2# 5 B ����	 �����	�� �������� �
� G� ����� wg2 = g2h1� �	�
����	� h1 ∈ B� ����!��� g1x1 = g2h1hx2� �
'��� [g1x1]B = [g2x2]B� ��'	
�	� '����� �����	���
��� �
� B

+	 �����	�!� ���	������	� P : G → G/B ��	 Q : X → X/B ����	 ����	���
���" 
 B ����	 ��������� ����� 


P × Q : G × X → G/B × X/B

����	 ����
� ����	�# B�� �
� �%!�


Q ◦ φ = φ̃ ◦ (P × Q)

��	 '���������� ��G �H	� �� ������� ���� �� �� ����	�� %(�� Hausdorff �	�
����	� ������ �� ����� 	�%"�	 ��	 ��
� ��������� ��� !%�	 ��������� ���
���'���	 �� ��	�� ��	�� ���� �� ������ ����'���	 �� ���� �� ��	�� !����	 

���!%�	� �
� ����
�#

9/���� �(��� [x]B, [y]B ∈ X/B ��	 Ux �	��� ���	�%� ��� x# / ��	���"�

� ����%�	 ���	�%� Uy ��� y� (��� �� �"��'� G(Ux, Uy) �� ����	 �%��	��
������!�# $� �"��'� Q(Ux), Q(Uy) ����	 ���	�%!� ��� [x]B, [y]B� �������	%�#
�� ��� ���� ��	 �� Q(Ux) ����	 �	��� ���	�%� ��� [x]B ���� X/B@

9/��� g ∈ G ��

[g]BQ(Ux) ∩ Q(Uy) �= ∅.

$���� ����%��� b ∈ B, z ∈ Ux �� bgz ∈ Uy# 9+���� ��'	 '��� �
� ����&
�	���
��� �
� B ��
� G� ����%�	 b1 ∈ B �� bg = gb1� ����� gb1z ∈ Uy ��	
�����(� [g]B = [gb1]B ∈ P (G(Ux, Uy))# 9B��

G/B(Q(Ux), Q(Uy)) ⊆ P (G(Ux, Uy)).



.-

7����(� �� G/B(Q(Ux), Q(Uy)) ����	 �%��	�� ������!�# 9B��� 
 ����
 �
�
G/B ���� %(�� X/B ����	 Palais & ����	�# �

6���� #0+0& '(��� G ��� �� �����
��� ������
�� ��
 ���
�� �����
��
� ������

�� ����� ��
 K ��� ��

��
�� �����
�� �������� ���� '(����
������� X 	��� ������ �����
��� Palais � 
���
�� G � ����� ��
 x ∈ X�
&���� ������
 G � ���
��� U ��� x ��
 G � ���
���
�� f : U → G/K ��
f(g◦x) = K 

� ����
� g◦ ∈ G#

/����
3�# B�� �
� '"�
 ��� �!����� ����'������ ��� Hilbert� ����%�	
�����	�� �������� �������� B �
� G� (��� 
 G/B �� ����	 ����� Lie ��'!��
I,�J� Ch. IV, 4.13�#

B��" 
 B ����	 �������� 
� ��� Palais & ����	� ���� �'���� �����	��
%(�� X� ����� � X/B 
� ����	 �'���� �����	���� ��� �� 3#�#,3���# B�� ��
���
��"���� F����� � X/B ����	 Palais & ����	�� (G/B) & %(���� ������ ���
�� ��(�
�� �#,#.� ����%�	 G/B & ���	�%� Ũ ��� [x]B ��	 G/B & ���	���	�


F̃ : Ũ → (G/B)
/

(G/B)[x]B

��� ���A�	 ����� ��� �
���� [x]B ��� X/B# <� �� �����'	��� ��� ���
��"&
����� F�������� ��

U = Q−1(Ũ)

����	 G & ���	�%� ��� x ��	 �� ������� �	�������

G × U U�

�
G/B × Ũ � Ũ

�
QP × Q

�

�

(G/B)
/

(G/B)[x]B

�

G/(BGx)

R

F

F̃

����	 ����
��	��@
�����"�� �
 ����
 �
� �������"� ��������� BGx ��
� G ��	 �
 ����


�
� ��������� (G/B)[x]B ��
� G/B# $���� 
 �����	�� ���	���	�
 P : G →
G/B ������	 (BGx, (G/B)[x]B ) & 	�������'
��# C������	� �� g ∈ BGx ����
g = wh �	� ����	� w ∈ B ��	 h ∈ Gx� ����� [g]B[x]B = [gx]B = [wx]B =
[x]B� ����!��� [g]B ∈ (G/B)[x]B # /������	 '�	��� 
 G & ���	���	�


R : G/(BGx) → (G/B)
/

(G/B)[x]B
: [g]BGx �→ [g](G/B)[x]B

,



.2


 ����� ����	 ����%�� ��	 ���# �� ��� ���� ��� ����	 ���	��� ��	 ,&,� �����

� ����	 ���	�����	����#

9/��� [g1](G/B)[x]B
= [g2](G/B)[x]B

# $��� [(g2
−1g1x)]B = [x]B� �����

wg2
−1g1x = x �	� ����	� w ∈ B# 9B�� g2

−1g1 ∈ BGx ⇒ [g1]BGx = [g2]BGx �
����� 
 R ����	 ,&,#

9/��� p1 : G → G/(BGx) ��	 p2 : G/B → (G/B)
/

(G/B)[x]B
�	 ����&

�	�!� ���	������	�# $���

p2 ◦ P = R ◦ p1.

1	� A ⊆ G/(BGx) !%����

P−1(p2
−1(R(A))) = (p2 ◦ P )−1(R(A))

= (R ◦ p1)
−1(R(A))

= p1
−1(A)

��	 �� ��'������ �"��'� ����	 ���	��� �� �� A ����	# 9B��� 
 R ����	 ���	����&
�	���� ��	 �����"�� �� �������� �
� G & ���	���	�


F = R−1 ◦ F̃ ◦ Q : U → G/B,


 ����� ����	 ����%�� ��	 ��� �� F (x) = B# 5 BGx ����	 ��������� ������
���" �'�� �	 ���	��	�!� �������� ��������� �
� G ����	 ��A������ ����%�	
g◦ ∈ G �� g◦(BGx)g◦−1 ⊆ K# /���!���� ������A����� �� F���� �#*#)�
��������� �� A
��"����# �

2�
���
��� #0+05 9/��� G �	� ����'��	�� ����� ��	 K ��� ���	��	���
�������� �������� �
�# 9/���� ����
�� X !��� ���	�� �������� G & %(���
��	 x ∈ X ��� ����� ����%�	 K & ������ S# $���� �����"�� �� ���"��
������� K & ����� ��� x@ !��� V ��� �������� ���	�%� ��" x� ���� ��
S ∩ KV ����	 �������� K & ������ ��� x# 9+��	�� �����"�� �� ���"�� K &
����� Sx ��� x �!��	��� (��� �� GSx �� ����	 ���	��� ���	�%� ��� x# C���
��"��� ��	'!����� �� V ⊆ GS ��
� ���	��� ���	�%� GS ��� x ��	 
!�����
Sx = S ∩ KV � ����� GSx = GV ∩ GS = GV #

;�
��	��	��� �
������ ��
� �����	 
 �
� C�����
� �#)#,� ���� 
 "��� 

���	��� ����� �
� G → G/Gx �"�� ��� �� e ∈ G� �	� ��
� x ∈ X# $�
���'��� ��(�
�� ��
� �'	�� ��������
 
� �����"�� �
� "��� 
 ���� �'	���
����� �
� ���	���	�
� G → G/K# 9+���� ���	��!��	 ��� ������� �#*#, �&
����"�� �� �(����� �
� �������� ��������
 �����
�
� 
 ����� ������ ��
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%�
�	����	

�� ��	 ��
 ���	�� ��������
� �	� ���	�� ������� %(�� X ��	
����'��	�� ����� G� ���� ��� ��(�
�� �#*#,#

;�$
��� #0+07 '(��� K ��� ��

��
�� �����
�� �������� �
�� ���
��
�����
�)�� �� �����
�)� ��
 ������
��� ������ G� '(��� X 	��� 
���
��
G � ����� ��
 S 	��� �����
�� K � ������ ��� x ∈ X �� Gx ≤ K� &���� ��
U = GS ����
 ���
�����
�� �� �� R

n × S 

� ����
� n ∈ N#

/����
3�# 9/��� y ∈ U # $��� y = gs� �	� ����	� g ∈ G, s ∈ S# B�� ��
��(�
�� �#*#,� %�
�	����	(���� ��� �����'	��� ���� !%���� g = t1t2 . . . tnk
�	� ti ∈ Hi, i = 1, . . . , n ��	 k ∈ K ��	 
 ��������
 ���� ����	 �����	��#
�!�����

f : U → R
n × S, y → ((t1, t2, . . . , tn), ks).

5 f ����	 ��'� ��	��!�
# C������	� �� y = g1s1 = g2s2� �	� ����	�
g1, g2 ∈ G ��	 s1, s2 ∈ S� ���� (g2

−1g1)s1 = s2� ����� g2
−1g1 = m ∈

G(S, S) = K� �	��	 �� S ����	 K & ������# B�� �� ��(�
�� �#*#,� !%����

g1 = t1t2 . . . tnk1, g2 = h1h2 . . . hnk2

�	� ti, hi ∈ Hi, i = 1, . . . , n ��	 k1, k2 ∈ K# 9B��

t1t2 . . . tnk1 = h1h2 . . . hnk2m,

������ '��� �����	���
��� �
� ��������
�� 
� 	�%"�	 ti = hi �	� i = 1, . . . , n
��G ���� !����	 k1s1 = k2s2#

5 f ����	 ������(� ,&, ��	 ���# �� ��� ���� ��� ����	 ��	 ����%��# 9/���
{yj}j∈J ������ �� yj → y �	� ����	� y ∈ U # $���

yj = (t1jt2j . . . tnjkj)sj , y = (t1t2 . . . tnk)s

�	� ����	� tij , ti ∈ Hi, i = 1, . . . , n ��	 k1, k2 ∈ K, sj , s ∈ S, j ∈ J # F���
�
� �������	�� ��� S� ����%�	 ��������� {sjm}m∈M �� sjm → z �	� ����	�
z ∈ S ��	� '��� �
� ��
�	��
��� �
� ����
�� 
!������ gj = t1jt2j . . . tnjkj �

� ����%�	 ��������� {gjml

}i∈I �� gjml
→ g# 9B��� �����"�� �� ���
!�����

� ��%�� ��� sj → s ��	 gj → g# $��� gjsj → gz� ����� gz = y# 9/���
g = h1h2 . . . hnl �	� hi ∈ Hi, i = 1, . . . , n ��	 l ∈ K# $���

(h1h2 . . . hnl)z = (t1t2 . . . tnk)s,

����� 
� ����%�	 m ∈ G(S, S) = K� (��� �� 	�%"�	

t1t2 . . . tnk = h1h2 . . . hnlm,



-,

��G ���� ����"���	 ��'	 ti = hi, i = 1, . . . , n ��	 k = lm# 9B��

t1jt2j . . . tnjkj → t1t2 . . . tnlm,

����� 
� !%���� tij → ti �	� i = 1, . . . , n ��	 kj → lm# 7����(�

(t1jt2j . . . tnjkj)sj → (t1t2 . . . tnlm)z = (t1t2 . . . tnk)s.

9B�� lmz = ks� �
'��� kjsj → lmz = ks#
/�����A����� �
� �������� �	��	����� ������������� ��� ��
� �����&

���� ��� �	��"�� {(t1j , t2j , . . . , tnj), kjsj)}j∈J !%�	 ��������� ��� ���'���	
��� ��	� ((t1, t2, . . . , tn), ks)# 9B��

(t1j , t2j , . . . , tnj), kjsj) → ((t1, t2, . . . , tn), ks),

�
'��� 
 f ����	 ����%��#
5 ���������
 �
� f ����	 ���� ������� ����� ����%��� ����� 
 f ����	 �

A
��"����� ���	�����	����# �

5 ������
 ������
 �����'�� �� ���	�� �����'���� �	� �
� ��!����
� ���&
���	��� ����	�(�� K & ������ �� �'	��"�# ��'!�� ��(�
�� �#*#2�#

2
	���� #0+08 '(��� S1 ��
 S2 �)� �����
��� K � �����
� &���� ������

�����
�� K � ������ S �	��
��� ���� �� 
��)��� S1 ⊆ S ��
 GS1∪GS2 = GS#

/����
3�# 9+��� GS1 ∩ GS2 = ∅� ���� ���A���� S = S1 ∪ S2# 0��
!������
�(��� ��� GS1 ∩ GS2 �= ∅# 9/��� F1 : GS1 → G/K 
 G & ���	���	�
 ���
���A�	 ��� ����� S1# $� GS1, GS2 ����	 �'�	���� ��� �� F���� 3#�#*� ������
��� �� ��(�
�� ��� Tietze� � ���	��	���� F1|S2∩GS1 ������ �� ������
�� ��
��� ����%� ���	���	�
 R : S2 → G/K#

����(���� �����	����	����� �!��� Haar ��
� K� ���A���� �
�

H : S2 → G/K �� H(x) =
∫

K
k−1R(kx)dk,

�	� ��
� x ∈ S2# $���� 
 H ����	 ����%�� K & ���	���	�
� ���" �� �!���
Haar ����	 ���''����� �	� �	� ��	����!� �������!�# E�%"�	

H(s) =
∫

K
F1(s)dk = F1(s)

�	� ��
� s ∈ S2 ∩ GS1� ����� 
 H ����	 ��!����
 �
� F1|S2∩GS1 #



-�

+��A����� �(��� �
�

L : GS2 → G/K �� L(gs) = gH(s)

�	� ��
� g ∈ G ��	 s ∈ S2# 5 L ����	 ����%��� ���" L = L1 ◦L2 ◦ f � ���� �	
L1, L2 ���A���	 �� � ��

L1 : H1 × H2 × . . . Hn × S2 → H1 × H2 × . . . Hn × G/K :
((t1, t2, . . . , tn), s) �→ ((t1, t2, . . . , tn), H(s)),

L2 : H1 × H2 × . . . Hn × G/K → G/K :
((t1, t2, . . . , tn), gK) �→ (t1t2 . . . tng)K,

��( 


f : GS2 → H1 × H2 × . . . Hn × S2

����	 ���� ��� ������� ��
� �����	 
 ��� ���������� �#*#.# B� s ∈ GS1∩S2�
���� L(gs) = gH(s) = gF1(s) = F1(gs)� ����� ���A���	 
 G & ���	���	�


F : GS1 ∪ GS2 → G/K : F |GS1 = F1, F |GS2 = L.

5 F ����	 ����%�� @ �� A ⊆ G/K ����	 �'�	��� �"��'� ���� G/K� ����

F−1(A) = (F−1(A) ∩ GS1) ∪ (F−1(A) ∩ GS2) = F1
−1(A) ∪ L−1(A),

����!��� �� F−1(A) 
� ����	 �'�	��� �"��'� ���� GS1∪GS2� ���" �� �"��'�
GSi ⊆ GS1 ∪ GS2 ����	 �'�	��� ��� GS1 ∪ GS2 �	� i = 1, 2# 9B��� ��

S = F−1({K}) = F1
−1({K}) ∪ L−1({K}) ⊆ S1 ∪ GS2


� ����	 � A
��"����� �������� K & ������# �

;�$
��� #0+0� '(��� (G, X) ��� Palais � 
���
� ����� ���� �� �����
�)��
������
��� ��
 ���
�� �����
�)� ������ G �� 	��� ���
�� �����
� ��
 ������
�
�� ���� X� &���� ������
 	�� ���
��� ����)���� S ��� X �	��
�� ���� �
X �� ����
 ���
�����
��� �� ��� R

n × S#

/����
3�# 9/��� K ���	��	�� �������� �������� �
� G ��	 φ 
 ����
 �
�
G ���� X# B�� �� F���� �#*#8 ��	 �
� C������
�
 �#*#:� �	� ��
� x ∈ X
����%�	 g◦ ∈ G ��	 �������� K & ������ Sx (��� g◦x ∈ Sx ∩ (GSx)◦# $���
x ∈ (GSx)◦� ���" 
 φg◦ ����	 ���	�����	����� �����(� X =

⋃
x∈X(GSx)◦#



-)

9+���� � X ����	 ���	�� �������� ��	 ������	��� %(���� ����� ����	 %(���
Lindelöf# 9B��� ����%��� {xi}∞i=1 ⊆ X �� X =

⋃∞
i=1(GSxi)

◦# /���!����
����%��� ��������� K & �����	 {Si}∞i=1� (��� X =

⋃∞
i=1 GSi� ���� Si =

Sxi , i ∈ N#
B�� �� ��(�
�� �#*#.� �	� �� S1 ����%�	 ���	�����	����

f1 : GS1 → R
n × S1

��	 ��� �
� C�����
 �#*#-� ����%�	 �������� K & ������ S12 ��

S1 ⊆ S12 ⊆ (S1 ∪ GS2)

��	 G(S1 ∪S2) = GS12# /�����A����� ��'	 �� ��(�
�� �#*#.� ��������� ���
���	�����	���

f2 : GS12 = (G(S1 ∪ S2) → R
n × S12,

�	� ��� ������ ��� �� ��(�
�� �#*#.� 	�%"�	

f2|GS1 = f1.

/�����	��� �������"�A���� ��� �" ���� �	���!��	� ������(� K & ������
{S12...k}k∈N ��	 �	� �	���!��	� ���	�������� {fk}k∈N� ����

GS12...k = GS12...k−1 ∪ GSk

��	

fk : GS12...k → R
n × S12...k, �� fk|GS12...k−1

= fk−1.

C�����(� X =
⋃

k∈N
GS12...k� ������ 
!������ S =

⋃
k∈N

S12...k� ���A����
�
�

f : X → R
n × S �� f |GS12...k

= fk.

5 f ����	 ,&,� ��� ��	 ���	�� ����%��# C������	 �	� x ∈ X ����%�	 k◦ ∈ N

��

x ∈ (GSk◦)
◦ ⊆ (G(

k◦⋃
i=1

Si))

◦
= (GS12...k◦)

◦,

����� 
 f |(GS12...k◦ )◦ = fk◦ |(GS12...k◦ )◦ ����	 ����%��# /����� �� (GS12...k◦)
◦

����	 ���	��� ���� X� 
 f 
� ����	 ����%��# /��	�� 
 ���������
 �
� f ����	



-*

����%��� 
 f ����	 � A
��"����� ���	�����	����# �

2�
���
��� #0+0��C	� �������	�!��� �����"�� �� ��"�� �� S �� �'	�� K &
�����@ B��'��
(���� �
� ������	�� ��������� �
� ���
��"���
� �����	 
��
���������A���� �
� �" ���� �	���!��	� ��� K & ������ {S12...k}∞k=1 ��	 ���&
A���� �
� �	���!��	� ��� G & ���	�������� {Fk}∞k=1 �� Fk : GS12...k → G/K
���� ���	�(� ��
� �����	 
 �
� C�����
� �#*#-# B� �������� �
� F : X →
G/K ���� ��
� ��'������ �����	 
� �����
��"�� ���

F−1({K}) =
∞⋃

k=1

(F−1({K}) ∩ GS12...k) =
∞⋃

k=1

Fk
−1({K}) =

∞⋃
k=1

S12...k = S,

��G ���� !����	 ��	 �� S ����	 �'�	���� �'	��� K & ������ ���� X ��	 ��'	���
���	�� ��������� ���" � X ����	 ���	�� ��������#

��* $ ���&���	� ������%��

9+��� 
 G ����	 ����� Lie ��	 ��� �	������	�� �� ��� '��� ��''��'��
��
X� ���� � X ������ �� �	�������� ���'��� �� '��� ����� �� �	������ �"�
��'�"������ %(���@

1
����� #0&0� '(��� A 	�� ����)���� ���� ����� ������������� X ��
 f :
A → Y ���
���
�� �� �
�	� �� ��� ���� ������������ Y � &���� � f "� �	
���

 ��%�
����� ��� A� �� ������
 U ���
��� ���
��� ��� A ��
 F : U → Y
���� ���
���
�� ���� F |A = f � '5��� �� A ����
 G � �)����� � f "� �	
���

 ��%�
����� G � �����	
��� �� ����
� ��
��	��� ��
 G � ���
���
���

'(�� �����
	� ����)���� S ��� X "� �	
���
  ��%�
������ K �  ������
�� ������
 �
������
�� G � ���
���
�� F : GS → G/K �	��
�� ���� �� 
��)�

S = F−1({K})#

1
���	� #0&0# '(��� G ��� �� �����
��� ������
�� ��
 ���
�� �����
��
����� Lie ��� ��� �
������
�� �� ��� ���� ������������ X� '(���� �������
K ��

��
�� �����
�� �������� ��� G� '(�� ����)���� S ��� X �	
���

 ��%�
������ ����	� K �  ������ �� ������
 �
������
�� G � ���
���
��
f : X → G/K �� S = f−1({K})#

2�
���
��� #0&0' 5 �������	%
 '��� ��������
 ��� F������� �#*#8 !%�	
��'�"����
 �����	 
@ 1	� x ∈ X� ��� �� ��(�
�� �#�#8� ����%�	 �	������	���
Gx & ������ Sx ��� x �� �� �"��'� GSx ���	��� ���� X# /���
�� ��� ��
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��(�
�� �#*#, ��	 �� F���� �#*#)� ����%�	 g◦ ∈ G �� Gg◦x = g◦Gxg◦−1 <
K# 9B��� �� F : GSx → G/Gx ����	 
 ���	���	�
 ��� ���A�	 �� Sx� �����
���
!������ �� �
� '��� G & ���	���	�


H : G/Gx → G/K : gGx �→ gg◦−1K,

��������� �
�

f = H ◦ F : GSx → G/K,

��� 
� ���A�	 ��� �	������	�� K & ����� S = Kg◦Sx ��� g◦x �� �
� 	�	��
��
GS = GSx# �

2
	���� #0&0+ '(��� G ��� ����� Lie� K ��� ���
��� �������� ��� G, X
��� ���� G � ������������ ��
 F : X → G/K ��� �
������
�� G � ���
���
�
��� &���� �� S = F−1({K}) ����
 ���
��� �����
�� K � ���������������
��� X� (������ ,���+ �����
�� ���� ��� =������ !�<�6,!- ��
 �� =��
���
!�2�4- � ����� G×K S ����
 ���� ������������ ��
 � ���
���

�� ���
���
��
ψ : G ×K S → X ����
 G � ���
�
����
��#

/����
3�# 9/��� φ 
 ����
 �
� G ���� X ��	 x ∈ X �� F (x) = g◦K �	�
����	� g◦ ∈ G# 5 K ����	 ����� Lie� �� �'�	��� �������� �
� G� ��( 
 G/K
����	 '��� ��''��'��
��# /���
�� 
 �����	�� ���	���	�
 p : G → G/K ����	
'��� submersion#

5 ���	���	�


R̃ : G/K → G/K : gK �→ gg◦K

����	 ���	�	����	�
� �� ��������
 ��� �
� �� 	� �������� Rg◦ : G → G#
/��	��

F ◦ φx = R̃ ◦ p,




Te(F ◦ φx) = Te(R̃ ◦ p) : TeG → Tg◦KG/K

����	 ���� �����(� 


TxF : TxX → Tg◦KG/K

����	 ���# 9B��� 
 F ����	 submersion� ����� �� S 
� ����	 �'�	��� �����	�� K
& �����''��'��
�� ��� X �	�����
� dimS = dimX − dimG/K#



-:

5 �������� Lie K ��� ����	�� �	������	�� ��	 �'�"
��� ���� %(�� G×S
�!�� �
� ���	���	�
� (h, (g, s)) �→ (gh−1, hs)� ������ ��� �� C��	��� �#)#�
��	 �
� C������
�
 �#)#) � � G ×K S ����	 '��� ��''��'��
�� �	�����
�
dim(G ×K S) = dimG × S − dimK� 
 ����


G × (G ×K S) → G ×K S : (g, [h, s]) �→ [gh, s]

����	 �	������	�
 ��	 
 ψ ����	� ����
�� �	������	�
# C����
��"�� ���

dim(G ×K S) = dim G + dimS − dimK

= dim X,

����� 
 ψ� �� ,&, ��	 ��� ���	���	�
� 
� ����	 ���	�	����	�
� �� ��	 ���� ��
����	 submersion#

9/��� π : G × S → G ×K S 
 ���	���	�
 & �
'���# B� ��� ���� ��� 

ψ ◦ π : G × S → X ����	 submersion� ���� ��	 
 ψ 
� ����	 submersion# 1	�
��%�� g ∈ G 
 ���	���	�


Lg : G × S → G × S : (h, s) �→ (gh, s)

����	 ���	�	����	�
 ��	 	��������	 �
� 	���
��

(ψ ◦ π) ◦ Lg = φg ◦ (ψ ◦ π).

C�������A����� ��� (e, x) ∈ G × S� !%����

T(g,x)(ψ ◦ π) ◦ T(e,x)Lg = Txφg ◦ T(e,x)(ψ ◦ π).

5 ψ ◦ π 
� ����	 submersion� �� 
 T(e,x)(ψ ◦ π) ����	 ��� �	� ��
� x ∈ S#
1	� (ve, vx) ∈ T(e,x)(G × S) ∼= TeG × TxS !%����

T(e,x)(ψ ◦ π)(ve, vx) = Teφx(ve) + vx,

��G ���� ����"���	

T(e,x)(ψ ◦ π)(T(e,x)(G × S)) = Teφx(TeG) + TxS

= TxGx + ker TxF.

9+��� ������ ��
� ��%� �
� �����	 
�� 
 F ◦ φx ����	 submersion� ����� 

Tx(F |TxGx) : TxGx → TKG/K ����	 ��� ��	 	�%"�	

dim TxGx = dim TKG/K + dim kerTx(F |TxGx)
= dim TKG/K + dim(TxGx ∩ kerTxF ).
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9B��

dim TxX = dimTKG/K + kerTxF

= dimTxGx − dim(TxGx ∩ ker TxF ) + dim kerTxF

= dim(TxGx + ker TxF ) ≤ dimTxX,

����� TxGx + TxS = TxX� �
'��� 
 T(e,x)(ψ ◦ π) ����	 ���# �

2
	���� #0&0& '(��� G ��� ����� Lie� K ��� ���
��� �������� ��� G� X
��� ���� G � ������������ ��
 S ⊆ X 	��� �
������
��� K � ������� ���� ��
U = GS �� ����
 ���
��� ��� X� &���� � f : U → R

n × S ��� ������� ����
�����
3� ��� :��������� !�4�> ����
 ���
�
����
��#

/����
3�# B���� �� ��� ���� ��	 


f ◦ ψ : G ×K S → R
n × S

����	 ���	�	����	�
� ���� ψ : G ×K S → U ����	 
 ���	�	����	�
 �
� ���&

��"���
� C�����
�# B�� �� ��(�
�� �#*#,� !%����

n = dimG − dimK

��	

dim(G ×K S) = dimG − dimK + dim S

= dim(Rn × S),

����� ����� 
 f ◦ψ �� ����	 '��� ��	 submersion# B�� �
� C������
�
 �#)#)�
����� 


f ◦ ψ ◦ π : G × S → R
n × S

�� ����	 '��� ��	 submersion� ���� π : G × S → G ×K S ����	 
 ���	���	�
 &
�
'���#

9/���� '�	���� 
 ���	�	����	�


R : G → R
n × K

��� �	���� �
� ����� Lie G ��� ��(�
�� �#*#, ��	 !��� 
 '��� ���	���	�


L : R
n × K × S → R

n × S :
(t1, t2, . . . , tn, k, s) �→ (t1, t2, . . . , tn, ks).



--

5 R × idS : G× S → R
n ×K × S ����	 ������(� ���	�	����	�
 ��	 	�%"�	 


�%!�


f ◦ ψ ◦ π = L ◦ (R × idS),

��G ���� !����	 ��� 
 f ����	 '��� ��	 ��� �	� �� ����	 ���	�	����	�
� �����

 L �� ����	 submersion# 9+���� ���� 	�%"�	� �	��	 
 ����
 K × S → S ����	
submersion# �

2
	���� #0&05 '(��� G ��� ����� Lie� K ��� �����
�� ��

��
�� ����
����� ��� G� X ��� ���� G � ������������ ��
 S1, S2 ⊆ X �)� �����
���
�
������
��
 K � �����
� &���� ������
 �����
�� �
������
��� K � ������ S
�� S1 ⊆ S ��
 GS1 ∪ GS2 = GS#

/����
3�# 9+��� GS1 ∩ GS2 = ∅� ���� 
 ������
 ����	 ����	��!�
# 0��
!&
������ '�	���� ��� GS1 ∩ GS2 �= ∅# 9/��� f1 : GS1 → G/K 
 �	������	�

G & ���	���	�
 ��� ���A�	 �� S1# $���� ����%�	 ���	��� G & ���	�%� U ���
GS1 ��	 �	������	�
 G & ���	���	�
 F1 : U → G/K �� F1|GS1 = f1# 9/���
p : X → X/G 
 �����	�� ���	���	�
# $� p(GS1) = p(S1) ����	 ������!��
�����(� �'�	��� ���� X/G� ��( �� p(U) ����	 ���	��� ���� X/G# 9B���
����%�	 ���	��� �"��'� A ⊆ X/G� (���

p(GS1) ⊆ A ⊆ A ⊆ p(U),

�����

GS1 ⊆ p−1(A) ⊆ p−1(A) ⊆ p−1(A) ⊆ U.

B� 
!����� V = p−1(A)� ����

GS1 ⊆ V ◦ ⊆ V ⊆ U

��	 �� V ����	 �'�	��� G & �"��'�#
B�� �� F���� ��� Uryshon� ����%�	 '��� ���	���	�
 R : X → [0, 1] ��

supp R ⊆ U ��	 R|V = 1# $���� 
 ���	���	�


F : X → G/K : F (x) =
{

F1(x)R(x), x ∈ U
0, x �∈ U

��� ���������	 �
� F1|V # =�
�	����	(���� �� �����	����	
�!�� �!��� Haar
�
� K� ���A����

F 1 : X → G/K �� F 1(x) =
∫

K
k−1F (kx)dk
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�	� ��
� x ∈ X# 5 F 1 ����	 �	������	�
 K & ���	���	�
 ���� ���	�(� ��
�
C�����
 �#*#- ��	 	�%"�	 F 1|V = F1|V #

9/��( f2 : GS2 → G/K 
 G & ���	���	�
 ��� ���A�	 �� S2# $���� ����%�	
���	��� G & ���	�%� W ��" GS2 ��	 G & ���	���	�
 F2 : W → G/K ��
F2|GS2 = f2# 9/��� � S3 �	������	��� K & ������ ��� ���A�	 
 F2# $����
S2 ⊆ S3 ��	 �� S3 ����	 �����	�� K & �����''��'��
�� ��� W � �����(� ��	
��� X� ���" �� W ����	 ���	��� ���� X#

+��A���	� '�	���� 
 �	������	�
 K & ���	���	�
 F 1|S3 : S3 → G/K� �
�
����� ������������ �� ��� G & ���	���	�
 F 2 : W → G/K� 
!������

F 2(gx) = gF 1|S3(x)

�	� ��
� x ∈ S3 ��	 g ∈ G# 5 F 2 ����	 '���� ���"

F 2 = L1 ◦ L2 ◦ H,

���� �	 L1 ��	 L2 ���A����	 �� � ��

L1 : H1 × H2 × . . . Hn × S3 → H1 × H2 × . . . Hn × G/K :
((t1, t2, . . . , tn), s) �→ ((t1, t2, . . . , tn), F 1|S3(s)),

L2 : H1 × H2 × . . . Hn × G/K → G/K :
((t1, t2, . . . , tn), gK) �→ (t1t2 . . . tng)K,

��( 


H : GS3 → H1 × H2 × . . . Hn × S3

����	 ���� ��
� C�����
 �#8#8#
/�����

F 2|S3∩V ◦ = F1|V ◦ ,

���A���	 
 G & ���	���	�


F : W ∪ V ◦ → G/K �� F |W = F 2, F |V ◦ = F1|V ◦

��	 ����	 '���# 9B��� ���A���	 
 �	������	�
 G & ���	���	�


F |GS1∪GS2 : GS1 ∪ GS2 → G/K,
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��� �
� ����� ���A���	 � �	������	��� K & ������ S = (F |GS1∪GS2)
−1({K})

��� ����	 ��������� ���" �� GS2 ����	 �'�	��� ����"��'� ��� X� ��� �� 3#�#*
��	 	�%"�	

S = f1
−1({K}) ∪ F 2|GS2

−1({K}
⊆ S1 ∪ (GS3 ∩ GS2)
= S1 ∪ GS2.

�

;�$
��� #0&07 '(��� G ��� �� �����
��� ������
�� ��
 ���
�� �����
��
����� Lie ��� ��� �
������
�� ��
 
���
� �� ��� ���� ������
�� ������������
X� &���� ������
 ���
���� �����
�� ��������������� S ��� X� ���� � X ��
����
 ���
�
������
��� �� ��� R

n × S 

� ����
� n ∈ N#

/����
3�# 9/��� K ���	��	�� �������� �������� �
� G� φ 
 ����
 �
� G
��
� X ��	 x ∈ X# B�� �	� C����
����	� �#*#: ��	 �#8#)� ����%�	 g◦ ∈ G
��	 �������� �	������	��� K & ������ S′

x ��� g◦x �� g◦x ∈ (GS′
x)◦� �����

x ∈ (GS′
x)◦# 9/��� F : GS′

x → G/K 
 ���	���	�
 ��� ���A�	 ��� �������
�	������	�� K & ����� S′

x# 5 G & ���	���	�


F |(GS′
x)◦ : (GS′

x)◦ → G/K

���A�	 !��� �%��	�� ������� ��	 �	������	�� K & ������ Sx� ��� g◦x� � ������
����	 �����	�� (dim X −dimG+dim K) & �	�����
 �����''��'��
�� ��� X�
��� ���
�
 ��� �� x# $� Sx ����	 ������!� ��	 �����(� �� GSx ����	 �'�	����
��� �� F���� 3#�#*� ����� 	�%"��� �	 �%!��	�

GSx = GSx ��	 (GSx)◦ ⊆ (GS′
x)◦.

/���!���� �� Sx ����	 �������� �	������	��� K & ������# B��" x ∈ (GS′
x)◦ =

GSx� !%���� X =
⋃

x∈X GSx# 9+���� � X ����	 %(��� Lindelöf� ����� ����&
%��� {xi}∞i=1 ⊆ X �!��	�� (��� X =

⋃∞
i=1 GSxi # 9B��� 
!������ Si = Sxi �	�

i ∈ N� ��������� ��� �	���!��	� ������(� �	������	��� K & ������ {Si}∞i=1

�!��	��� (��� �� 	�%"�	 X =
⋃∞

i=1 GSi#
9/��� F1 : GS1 → G/K 
 �	������	�
 G & ���	���	�
 ��� ���A�	 ��� K &

����� S1# B�� �
� C�����
 �#8#:� ����%�	 �	������	�
 G & ���	���	�


F2 : G(S1 ∪ S2) → G/K,


 ����� ���A�	 ��� ������� �	������	�� K & ����� S12 !��	� (���

S1 ⊆ S12 ⊆ S1 ∪ GS2 ��	 F2|GS1
= F1.



2,

1	� ��
� k ∈ N ���A���	� ������	��� 
 �	������	�
 G & ���	���	�


Fk : G(S12...k−1 ∪ Sk) → G/K,


 ����� ���A�	� �� �
� ��	�� �
�� ��� ������� �	������	�� K & ����� S12...k ��

S12...k−1 ⊆ S12...k ⊆ S12...k−1 ∪ GSk ��	 Fk|GS12...k−1
= Fk−1,

�	� ��
� k ∈ N� ���� ����# 5 ���	���	�


Fk|(GS12...k)
◦ : (GS12...k)

◦ → G/K

���A�	 ��� �	������	�� K & ����� S12...k ��� ����	 �����	�� �����''��'��
��
��� X#

/��	��

S12...k−1 = S12...k ∩ GS12...k−1 ⊆ S12...k

��	

X =
∞⋃

k=1

GSxk
⊆

∞⋃
k=1

(GSk)
◦ ⊆

∞⋃
k=1

(GS12...k)
◦ =

∞⋃
k=1

GS12...k,

����"���	 �������	��� 
 �" ���� �	���!��	� ��� �	������	��� K & ������
{S12...k}∞k=1� ��� ����	 �����%���� �" ���� �	���!��	� �����	�(� �����'&
'��'������ ��	�� �	�����
� ��� X#

+��A���	� '�	���� 
 G & ���	���	�


F : X =
∞⋃

k=1

GS12...k → G/K �� F |GS12...k
= Fk|(GS12...k)

◦ = Fk|GS12...k
,

��� ����	 ��'� ��	��!�
 ��	 '���� ���" ����	 ���	�� '��� 
 ����� ���A�	 ���
�	������	�� �'	�� K & �����

S = F−1({K}) =
∞⋃

k=1

S12...k.

+ ������ ����� ����	 �'�	��� �����	�� �����''��'��
�� ��� X� �	�����
&
� ��	�� �� �
� ��	�� �	�����
 ��
� ���	%���� �
� �	���!��	�� {S12...k}∞k=1#
/���
�� �	� ��
� k ∈ N ���A���	 
 ������ ��� �
� C�����
 �#8#8 ���	�	���&
�	�


fk : GS12...k → R
n × S12...k.



2�

5 �	���!��	� {fk}∞k=1 !%�	 �
� 	�	��
��

fk|GS12...k−1
= fk−1.

5 !�
��
 ik : S12...k ↪→ S ����	 '��� ,&, ��	 ���	�� ���	�	����	�
 �	� ��
�
k ∈ N� ���" 
 �	�����
 �
� S ����	 ��	� �� �
� �	�����
 �
� S12...k# 9B��� 

ik ����	 ���	��� ���	���	�
� ����� �� S12...k ⊆ S ����	 ���	��� ����"��'� �
�
S� �	� ��
� k ∈ N#

$�'	��� 


f : X → R
n × S �� f |GS12...k

= fk

����	 ��'� ��	��!�
 ,&,� ��� ��	� � ��	���"� ���	�� ���	�	����	�
� ��G ����
��������	 ��	 
 f ����	 ���	�	����	�
 ��	 � X ���	�	������	��� �� ��� R

n×S#
�

2�
���
��� #0&08 +��	���	�� ������������������ �
� G & ���	���	�

F : X → G/K ��
� �	������	�
 ����%� �
� ���%������� ��� �
� C�����

�#8#*� ��� � X ����	 ���	�	������	��� �� �� twisted product G ×K S#



�������� �

$
�����	�%�  	�
��
�	� 
�
������������� Riemann

��
��� �������
�%�� ��� ������
��*�  
����� �� �������	����� Rie-
mann- .+/ ��� .��/0

7�� ����'�	� ���� 
 M 
� ����	 ��� ������	�� ��''��'��
�� Riemann
�� ����	�� ������� Θ#

��� �� ���	���%��	
� !���������#����� �� ��� ���"

&������� ��
�� �� ����	
 �������(���� �����"

���	� ��
�����

1
���	� '0�0� ��� ������������ ������
���  ������� 3equivariant
isometrical splitting4 ��� ������������� Riemann M ��"���#���
 ��� �)�
������������� Riemann P ��
 N � ��� ����� G 
������
�� ��� M ��� ���
����0��
�� ���� P ,������ Gp = P 

� ��"� p ∈ P - ��
 ����
��	�� ���� N
��
 ��� ��� G � 
�������� ,G � ���
���
�� ��� ����
 ���������� ��
 
��������
�- ψ : P × N → M � %��0��
�� "� �	�� ��� � M 	��
 �� 
������0����

������
�� �
������ ��� ��
��� (P, N, ψ)G�

1
���	� '0�0# '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� ����
M �	�� 
������
��� 1	�� ��� � M 	��
 ������ ������������ ������
���
 ������� 3equivariant local isometrical splitting4� �� ��"� ������ ���
M 	��
 ��� G � ���
��� ���
��� ��� ��
�	����
 
������0���� 
������
�� �
��
�����#

2)



2*

2�
���
��� '0�0' B� P, N ����	 �"� ��''��'��
��� Riemann �� ����	��"�
������!� gP ��	 gN � �������	%�� ����� 
 P × N ����	 ��''��'��
�� Riemann
�� ����	�� ������� gP×N = gP ⊕ gN � �
'���

gP×N ((up, uq), (vp, vq)) = gP (up, vp) + gN (uq, vq))

�	� ��
� up, vp ∈ TpP, uq, vq ∈ TqN ��	 �	� ��
� p ∈ P, q ∈ N #

B�� �� ���
��"����� �� pr : P × N → P ����	 
 ���	���	�
 �����'���
���� �	� x ∈ M � 
 ���	���	�


F = ψ|P×{x} ◦ pr ◦ψ−1 : M → Gx ∼= G/Gx

�����	��"�	 �
� ��''��'��
�� ψ({x} × N) �� �'	�� Gx & ������ �
� M ���
x �	� �
� ��������
 ��� +�	���" )#3#, ��	 �� ���	�� ����� �
� M ��� x �	�
�
� ��������
 ��� +�	���" )#3#�#

$� ������	��� ��� ���'��
�� ���%��	 ��	 ��� �	������	�
 �	�����
 �� ����
��� ����
 �!�� 	������	(� ��� ����	 ��������	�� ��	 	������	��@

2�
� ����� '0�0+ 9/��� H
2 = {z ∈ C : Im(z) > 0} �� ��� 
�	������� ��

��� ������'	�� ����	�� ������� gz(v, w) = 1
(Im(z))2

· Re(vw)#
�����"�� �
� ����
 �!�� 	������	(� �
� G = R ���� H

2 �� �"��

φ : R × H
2 → H

2 : (t, y) �→ ety.

1	� ���
��� R > 0 ��
� ���'���	� 
�	�"�'	� N �
� ������ N = {Reiθ : θ ∈
(0, π)} ����	 �����	�� �����''��'��
�� �
� H

2# +��A���� �
� R & ���	�	���&
�	�


ψ : R × N → H
2 : (t, Reiθ) �→ Ret+iθ,

��� ���%��	 ��	 � H
2 !%�	 '��� 	�������'
�� �	�����
 �� ������	��� �	�������

���� ��	 ��
� ����'��	�� ��������
# 9+��� ��� ����%�	 	�������'
�� 	��&
����	�� �	�����
� ���" � R×N !%�	 �����'��
�� �
�!� �� ���� �
� ����	��
gR×N � ��( � H

2 !%�	 ���
��� ���
�	�� �����'��
�� −1# �

B� ���
!����� ��� ��� ��''��'��
�� Riemann M ��	�!%���	 	������&
�'
�� 	������	�� �	�����
 (P, N, ψ)G# 5 G ��� �������	�� ��
� P ��	
����	��!�� ��
� N � ����� �!�� �
� ψ ��
� ���%	� Gx 
� ����	 G & 	������	��
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�� ��� %(�� P # 7����(�� �	 ������ 	��������� �
� M 
� ����	 ��A����� ���� "
����# 9+��� 
� ��"�� ��������� ���� 
� ����	 ��	 
 ��(�
 	���� ���
��
 �	�
�
� "��� 
 	�������'
��� 	������	��� �	�����
�#

9/���� �(��� G ��� ����� Lie ��� ��� �	������	�� ��	 ����	� ��
� M
�!�� 	������	(� ��	 x ∈ M # 9/���� ����
�� �(x) �� normal bundle �
� Gx�
�
'��� �� subbundle ��� TM |Gx �� �(x) = (Tx(Gx))⊥ ⊆ TxM # 7����'�&
A���� �� � �
� �������	%
 �������� ���� ��� �
� M #

6���� '0�0&9��"	������ ��� ���� �
 ������ 
��������� ��� M ����
 ��#�
����
� �������� � ����
 �
������
��#

/����
3�# 9/��� n = dimM ��	 k = dim G − dimGx = dim Gx# B��
�
� C������
�
 �#)#8� 
 M/G 
� ����	 �	������	�
 ��''��'��
�� ��	 
 ��&
�	�'��	�� ���	���	�
 π : M → M/G 
� ����	 submersion# 9B��� �	� ��
�
x ∈ M 
� 	�%"�	 Tx(Gx) = ker Txπ� ����� 
 ��������

⋃
x∈M Tx(Gx) ����	

�	������	�
� �
'��� 
 � 
� ����	 �	������	�
# �

0��
!������� ��	�'!��� ��� 
 M �!%���	 	�������'
�� 	������	�� �	�&
����
 !%���� �� �������

6���� '0�05 � �������� � ����
 ���������
��#

/����
3�# 0���
���A���� ��� ��� �����	�� �����''��'��
�� S �
� M '!��&
��	 �'��'
���	�� �����''��'��
�� �
� ��������� �� �� 	�%"�	 TxS = �(x)
�	� ��
� x ∈ S# 5 �������� � 
� '!����	 �'��'
�(�	�
� �� �	� ��
� x ∈ M
����%�	 �'��'
���	�� �����''��'��
�� �
� � �� x ∈ S#

7"����� �� �
� C������
�
 )#3#)� �	� (p0, q0) ∈ P × N 
 ��������⋃
(p,q0)∈P×{q0}

T(p,q0)N

���� G & %(�� P × N ���� ��� �
� ���%	� P × {q0} ����	 ���������
 ���
�
���� (p0, q0) �� �
� �����''��'��
�� {p0} × N #

5 ψ ����	 	��������� ����� 
 Tψ(
⋃

(p,q0)∈P×{q0} T(p,q)N) = �(ψ(p0, q0))

� ����	 ���������
 ��
� �����	�� �����''��'����� ψ({p0} × N) �	� ��
�
(p0, q0) ∈ P ×N # 9B��� 
 ψ({p0}×N) ����	 ��� �'��'
���	�� �����''��'��
&
�� ��� ���	!%�	 �� x0 = ψ(p0, q0) ∈ M # /���!���� 
 � ����	 �'��'
�(�	�

��������# �



2:

$� ����!����� ��� ���
��"����� F������� �����'�� �
� ��"���
 ���&

��
 �	� �
� "��� 
 	�������'
��� 	������	��� �	�����
�#

0��
!������ �(��� ��	 	�%"��� �	 ���
��"����� ���
����� 
� �����'�&
A���� �� Nx �
 �!�	��
 �'��'
���	�� �����''��'��
�� �
� ��������� �
��� ���	!%�	 �� x ∈ M # 5 Nx ����	 ������	�� immersed �����''��'��
&
�� �
� M � �
'��� ����	 ���	�� �����	�� �����''��'��
�� �
� M # 9+���� 

����'���� �
� �� �'��'
���	��� �����''��'��
��� ������ �� �
� ��������	
�� �
� �%��	�� ����'���� �
� �� ���%(��� �
� M # 7�
� Nx 
� 
����"�� �
�
����'���� �
� �� �'��'
���	��� �����''��'��
��� ��	 �
� ���� Riemann
��� �������	 ��� �
� ���� Riemann �
� M #

6���� '0�07 '(��� φ � ����� ��� G ���� M � (��� �'�� �	 ������ 	���������
�� ����	 ��A����� ���� " ���� ��	 
 �������� � �� ����	 �'��'
�(�	�
# $���@

 � gNx = Ngx 

� ��"� g ∈ G ��
 x ∈ M � ��� Gx = Gy 

� ��"� y ∈ Nx�

!� .
� x ∈ M � ���
���
��

φ|G×Nx : G × Nx → M : (g, q) �→ gq

���
�
 ���

Φ : G/Gx × Nx → M : (gGx, q) �→ gq,

��� ����
 �
������
��� ��� ��
 ���
�� ���
�
����
���

2� .
� ��"� �)� ���������
�	� ���������������� Nx ��
 Ny ������
 g ∈ G
�	��
�� ���� gNx = Ny� ����	��� �
 Nx ��
 Ny ����
 
������
�	��

4� '(��� πx : Nx → M/G � ���
��
���� ��� ���
���

��� ���
���
���
M → M/G� &���� � πx ����
 �����
�� ���
���
�� ��
����8�� ,������


� ��"� y, y′ ∈ Nx �� πx(y) = πx(y′) "� ������
 ������
��� ��������
�
���� γ ��� πx �� γ(y) = y′-� /� Fx = {g ∈ G : gNx = Nx}� ���� � Fx

����
 �������� ��� G� � Gx ����
 �����
�� �������� ��� Fx ��
 
��)�

Hx = Fx/Gx� ���� Hx ����
 � ����� ��� ������
��� ��������
����
��� πx�

6� 9�����
 �����
�� ���� Riemann ���� M/G �	��
�� ���� � πx �� ����

���
�� 
�������� 

� ��"� x ∈ M #

/����
3�# , �- 1	� ��
� g ∈ G 
 φg ����	 	��������� ����� Txφg((TxGx)⊥) =
(TgxGx)⊥# /���!��� �(gx) = Txφg(�(x))� �
'��� Ngx = gNx� '��� �
�



2.

�����	���
��� ��� ���	��	�(� �'��'
���	�(� �����''��'������� �
'��� 

Nx ����	 Gx & ���''����
#

1	� �� ��"���� �!���� ����� �� ��� ���� ��� 
 Gx ��� �� ����	�!�� �����
��
� Nx# /��	��

dimNx = dimN = dimM − dim P = dim M − dimGx = dim M/G,


 πx 
� ����	 ���	�� ���	�	����	�
 �� ���	��� �"��'� �
� Nx ��� ����	 �����&
	�!� �����''��'��
��� �
� M � ����!��� 
 πx|V ����	 '���� �	� ����	� ���	�%�
V ��� x ��
� Nx ��� ����	 �����	�� �����''��'��
�� �
� M # 5 ���	�'��	��
���	���	�
 π : M → M/G ����	 submersion ��	 �	� ��
� y ∈ Nx 	�%"�	
ker Tyπ = TyGy# 9B��

Tyπx(TyNx) = Tyπ(TyNx) = Tyπ(TyGy ⊕ TyNx)
= Tyπ(TyGy ⊕ (TyGy)⊥) = T[y]GM/G,

�
'��� 
 πx 
� ����	 submersion� �����(� ���	�� ���	�	����	�
� ���" dimV =
dimNx = dimM/G# 9B��� 
� ����%�	 ���	��� ���	�%� U ��� x ��
� V ��	
�����(� ��
� Nx� (��� 
 πx|U �� ����	 ���	�	����	�
# /���!���� 
 U 
�
�!���	 ��� ���%	� �
� M �� ��'" �� !�� �
����#

B�� �
 ���!%�	� �
� ����
� �
� Gx ��� Nx ∩ U � 
� ����%�	 ���	�%� W
��� x �� GxW ⊆ U # $���� �	� ��
� y ∈ W !%���� Gxy ⊆ U ∩ Gy = {y}�
�
'��� Gx ⊆ Gy# 9+���� 
 Gy ����	 ��A���� �� �
� Gx� �����(� !%���
�
� ��	� �	�����
 �� ������ Lie# /���!���� 
 !�
��
 Gx ↪→ Gy 
� ����	
���	�� ���	�	����	�
� ���� ���!��	� ���	��� ���	���	�
# 9B��� 
 Gx 
� ����	
���	��� ����"��'� �
� Gy# 9+���� 
 Gx ����	 �������� ��� �'�	��� ��
� Gy#
/���!���� ���" �	 Gy, Gx 
� !%��� ��� ��	� ��	
�� ������	�(� ���	����(��
�� ��A������ 	�%"�	 Gy = Gx#

$!'��� 
����"�� �� �"��'� C = {y ∈ Nx : Gy = Gx}# + ��	�� ��''��	&
���� ���� ���� �� ���
�����	
�!�� �� y ∈ C ��
� 
!�
 ��� x� ���%��	 ���
�� C ����	 ���	��� �"��'� ��
� Nx#

9/��� y ∈ Nx# ����(���� �
 �%��	�� ����'���� �
� Nx �� ���%(���
�
� M � ��� �� ��(�
�� �#�#8 ��	 �
� C������
�
 �#3#�� ����%�	 ���	���
���	�%� A ��� y ��
� Nx# /��	�� 
 ����'���� �
� Nx �� �'��'
���	��� ��'&
'��'��
��� ����	 '�������
 ��� �
� �%��	�� ����'���� �
� Nx �� ���%����
�
� M � �� {yi}i∈I ����	 !�� ������ ��
� C ��� ���'���	 ��� y �� ���� �
�
����'���� �
� Nx �� �'��'
���	��� �����''��'��
���� 
� ����%�	 i◦ ∈ I
�� yi◦ ∈ A� ����� Gx = Gyi◦ ⊆ Gy# ;�	 ��'	 '��� ��A����� ��� ������
	���������� 	�%"�	 Gx = Gy� ����� �� C 
� ����	 ��	 �'�	��� ��
� Nx 
 �����
����	� ������	��# /���!��� Nx = C� ���� ��	�	(����#



2-

,!�- B�� �
� �����	 
 ��� , -� 
 Gx ��� �'�"
��� ���� %(�� G×Nx ��	
����	��!�� ���� Nx� ��( 
 ���	���	�


φ|G×Nx : G × Nx → M : (g, q) �→ gq

����	 '��� �� 
 �"�
��
 φ ◦ iNx � ���� iNx : NX → M ����	 
 !�
��
# 9B���
��� �� C��	��� �#)#�� � %(��� G×Gx Nx

∼= G/Gx ×Nx 
� ����	 �	������	�

��''��'��
�� ��	� ��� �
� C������
�
 �#)#)� 
 '��� ���	���	�
 G × Nx →
M : (g, q) �→ gq 
� �����	 �
 '��� ���	���	�
 Φ# �� ��� ���� ��� 
 Φ ����	
submersion� ���%������ ��� 
 φ|G×Nx ����	 submesion@

9/��� (g, q) ∈ G × Nx# /����� 
 φg|Nx ����	 	��������� !%����

Tq(φg|Nx)(TqNx) = Tq(φg|Nx)((TqGq)⊥ = (TgqGq)⊥,

�����

T(g,q)(φ|G×Nx)(TgG × TqNx) = Tgφq(TgG) + Tq(φg|Nx)(TqNx)

= TgqGq ⊕ (TgqGq)⊥

= TgqM,

�
'��� 
 φ|G×Nx ����	 submersion# /���!���� 
 Φ ����	 submersion#
7�
� �����	 
 ��� , - ������ ��� dim Nx = dimM/G� �����

dim(G/Gx × Nx) = dimG/Gx + dimM/G = dimM,

�����(� 
 Φ 
� ����	 ���	�� ���	�	����	�
# <!��	� '�	���� �� ��� ���� ���
����	 ��	 ���@

B�� �� �������� ��	%���
��� 
 �	���� �
� Φ ����	 ���	���# �� ��� ����
��� 
 �	���� �
� Φ ����	 ��	 �'�	���� ����� �� ����!����� 
� !����	 ��� �
�
������	���
�� �
� M @

9/���� '�	���� y ∈ Φ(G/Gx × Nx)
M
# 9/���� ����
�� Ψ : G/Gy×Ny → M


 �������	%
 ���	���	�
 �
� Φ �	� �� y# 5 �	���� �
� Ψ 
� ����	 ���	��� �&
��� ����	 ��	 �
� Φ� ����� �	 �	����� �� Φ ��	 Ψ 
� �!������	# /���!����
����%��� g1, g2 ∈ G� (��� �� ����%�	 z ∈ g1Nx ∩ g2Ny# $���� '��� �
�
�����	���
��� ��� �!�	���� �'��'
���	�(� �����''��'������� 
� 	�%"�	
Nz = g1Nx = g2Ny# 9B�� y ∈ g−1

2 g1Nx� ����� �� y 
� ���	!%���	 ��
� �	����
�
� Φ� 
 ����� ��!��	 �� ����	 �'�	���#

,2�- C�����!� ��� �� , - ��	 ,!-#
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,4�- 5 Fx ����	 ����'��	�� ������ �� �������� �
� G# 1	� g ∈ Fx 	�%"�	
gx ∈ Nx� ����!���� ��� �� , -� !%���� g−1Gxg = Ggx = Gx� �
'��� 
 Gx

����	 �����	�� �������� �
� Fx#
9+��� ��
� �����	 
 ��� , -� ����%�	 ���	��� ���	�%� U ��� x ��
� Nx�

(��� �� U �� �!���	 �� ��'" ��� ���� ��
� ���%	� ��	 
 πx|U �� ����	 ���	�	&
����	�
#

B� g ∈ G �� gU ⊆ Nx� ���� gNx ∩ Nx �= ∅� ������ '��� �
� �����	���
&
��� ��� �!�	���� �'��'
���	�(� �����''��'������� ����"���	 gNx = Nx�
�
'��� g ∈ Fx# B�� ��	�'!��� gU ∩U �= ∅� ���� gz = w� �	� ����	� z, w ∈ U �
������ ���" Gz ∩ U = {z}� 
� !%���� g ∈ Gz = Gx� ��� �
� , -# 9B��

π−1
x (πx(U)) =

⋃
g∈Fx

gU =
⋃̇

[g]Gx∈Fx/Gx

gU. �)#,�

�� ��� ���� ��� 
 ����� Fx/Gx !%�	 �
 �	���	�� ����'���� �� ����'���&
� & �
'��� ��� �
� ����
 �
� Gx ��
� Fx# C������	� 
���(���� ��
� Nx

�
� ����'���� �
� �� ���%(��� �
� M � 
 ���	��	��!�
 ����
 φ|Fx×Nx ��&
��	 ����%�� ���	���	�
� ����� 
� � ���'��
�� �� ����	 ����%�� ���� ��
�
Nx 
��������� �
� �'���	����
 ����'���� �
� �� �'��'
���	��� �����'&
'��'��
���# 1	� ��%�� g ∈ Gx� 
� ����%�	 ���	��� ���	�%� V ��� g ��
� Fx�
(��� V x ⊆ U # $���� �	� ��
� h ∈ V 
� !%���� hU ∩ U �= ∅� ����� h ∈ Gx�
�
'��� 
 
� Gx ����	 ���	��� �������� �
� Fx#

$(��� �	� [g]Gx ∈ Fx/Gx� �� gGx ����	 ���	��� ����"��'� �
� Fx ��	 

�����	�� ���	���	�
 ρ : Fx → Fx/Gx 
� ����	 ���	���# /���!���� �� �"��'�
ρ(gGx) = {[g]Gx} 
� ����	 ���	��� ��
� Fx/Gx� ����� 
 ����'���� �
� Fx/Gx


� ����	 �	���	��# 9B��� �����"�� �� ��"�� �
� Fx/Gx �� �
�����	�����
 '���
��''��'��
��#

����(���� �
� ���	�	����	�


H : Fx/Gx × πx(U) → π−1
x (πx(U)) : ([g]Gx , [y]g) �→ gy

��	 '���������� ��G �H	� �
� 	���
�� �)#,�� ������������� ��� 
 πx(U) ����	
evenly covered ���	�%� ��� [x]G ∈ M/G ��'!�� 3#�#,*�# 9B��� ������ 
 πx

����	 ���� 
� ����	 ���	���	�
 ��	��'�H
�#
9/��� �(��

γ ∈ Hx = {γ′ : Nx → Nx, γ′ ���	�����	���� �� πx ◦ γ′ = πx}

��	 y ∈ Nx# /��	�� πx(γ(y)) = πx(y)� ����%�	 g ∈ G �� γ(y) = gy� ����!���
gNx ∩ Nx �= ∅� ������ '��� �
� �����	���
��� ��� �!�	���� �'��'
���	�(�
�����''��'������� 
� !%���� gNx = Nx� �
'��� g ∈ Fx# /���
�� '��� ���
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F������� 3#�#,8 ��	 '���������� ��G �H	� ��� 
 Nx ����	 ������	��� �����&
�������� ��	 γ = φg|Nx � �
'��� ��	 
 γ ����	 	��������� �����(� ��	 '����
��� �� ��(�
�� ,#,#)# + ��	�� ��''��	���� ����	 ��� 
 πx ����	 �����	��
���	���	�
 ��	��'�H
�#

$!'��� ���A���� �
�

F : Fx → Hx : g �→ φg|Nx ,


 ����� ���� �������	���� ��	 ���� ��� ��� ���
��"���� ��''��	���# /�����

 Gx ��� ����	��!�� ��
� Nx� 
� 	�%"�	 ker F = Gx� ����� Hx

∼= Fx/Gx#

,6�- 9+��� ������ ��� ��� , -� 
 πx ����	 ���	�� ���	�	����	�
� ������
�����!������ ��� ����	�� ������� �
� Nx �!�� �
� πx ��
� M/G� 
 M/G
������ ���� '���� ��''��'��
��� Riemann ��	 
 πx ������	 ���	�� 	��������#
�

2	
���� '0�08 � ���
���
�� Φ : G/Gx×Nx → M ����
 �����
�� ���
���
��
��
����8�� �� ����� ������
��� ��������
���� ��� Hx#

/����
3�# B�� �
� �����	 
 ��� ,!- ��� ���
��"����� F�������� 
 πx :
Nx → M/G ����	 �����	�� ���	���	�
 ��	��'�H
� �� ����� ������	�(� ����&
����	��(� Hx ��	 
 Nx ����	 ���	�� ������	�� ��	 ������	��# 9B��� ��� ��
3#�#,:� 
 Hx ��� �	������	�� ��	 ����	� ��	 �'�"
��� ��
� Nx#

5 �'�"
��
 �	������	�
 ����


Hx × G/Gx → G/Gx : ([h]Gx , [g]Gx) �→ [gh−1]Gx

����	 ��'� ��	��!�
� ���" 
 Gx ����	 �����	�� �������� �
� Fx# +��A���	�
'�	���� 
 �	������	�
 �'�"
��
 ����


Hx × (G/Gx × Nx) → G/Gx × Nx : ([h]Gx , ([g]Gx , q)) �→ ([gh−1]Gx , gq),

���" 
 Hx ��� �����%(� ����	� ���� Nx# 9B��� ��� �� C��	��� �#)#,�

 (G/Gx × Nx)/Hx ����	 �	������	�
 ��''��'��
�� ��	�� �	�����
� �� �
�
G/Gx × Nx ��	� ��� �
� C������
�
 �#)#) ��	 �
� �����	 
 ��� ,!- ���
���
��"����� F��������� 
 Φ �����	 �
� �	������	��� ��� ��	 submersion
���	���	�
 Φ̃ : (G/Gx × Nx)/Hx → M � 
 ����� 
� ����	 ���	�� ���	�	���&
�	�
#

9/��� g1q1 = g2q2 �	� ����	� g1, g2 ∈ G ��	 q1, q2 ∈ Nx# $��� g−1
2 g1Nx ∩

Nx �= ∅� ����� g−1
2 g1 ∈ Fx� �
'��� [g−1

2 g1]Gx ∈ Hx# 9B��

[[g1]Gx , q1]Hx = [[g1g
−1
1 g2]Gx , g−1

2 g1q1]Hx = [[g2]Gx , q2]Hx ,



,3,

����� 
 Φ̃ 
� ����	 ,&, ��	 �����(� ���	�	����	�
# /���!���� 


Φ̃−1 ◦ Φ : G/Gx × Nx → (G/Gx × Nx)/Hx


� ����	 
 ���	�'��	�� ���	���	�
� 
 ������ ��� �� 3#�#,. ��	 ���� ����&
���	%��� ��''��	���"� ���� �� �!'�� �
� �����	 
� ��� ,4- ��� ���
��"����
F����� 
� ����	 �����	�� ���	���	�
 ��	��'�H
�� ����� �� ��	� 
� 	�%"�	 ��	
�	� �
� Φ# �

��� ��  ������ ���	�� ��
������ �%� ��������"

���%� Riemann

0��
!������ ��� �'�� �	 ������ 	��������� ����	 ��A����� ��	 ��� 
 � ����	
�'��'
�(�	�
 �������� �
� M � ����'� ��� ��� ��	 
 Φ ����	 ���	�� ��&
�	�	����	�
# <� �
� ��	�'!�� ���
��
 Hx = {e}� ��� �� C��	��� )#3#-�
����"���	 ��	 
 Φ 
� ����	 ���	�	������	�
 G & ���	���	�
� 
���(���� �
�
����	��!�
 ����
 �
� G ��
� Nx#

5 G/Gx ����	 G & ���	�	������	�
 �� �
� Gx �!�� �
� ���	�'��	��� ���	&
�	����	�
� φ̃x : G/Gx → Gx# 9B��� �����"�� �� 
��������� � ��%�� ��� 

Φ !%�	 ����� ��	���" �� �"��'� Gx × Nx#

9/��� ��� 
 ���	���	�
 Φp : Gx → Gp : gx �→ gp ����	 	��������� �	�
��
� p ∈ Nx# $���� �'�� �	 ���%	!� 
� ����	 G & 	������	�!� �� �
� Gx� �����

 Φ 
� ����	 	��������� ���" �	� g ∈ G, q ∈ Nx ��	 u1, u2 ∈ TgxGx, v1, v2 ∈
TqNx 
� 	�%"�	

((Φ∗)Θ)(gx,q)((u1, v1), (u2, v2)) = Θgq(T(gx,q)Φ(u1, v1), T(gx,q)Φ(u2, v2))
= Θgq(TgxΦq(u1) + TqΦgx(v1), TgxΦq(u2) + TqΦgx(v2))

= Θgq(TgxΦq(u1), TgxΦq(u2)) + Θgq(TqΦgx(v1), TqΦgx(v2))
= Θgx(u1, u2) + Θq(v1, v2),

���� ��
� ��'������ 	���
�� �'��

 ��G �H	� ��	 �	 Φgx = φg ��	 Φq ��&
��	 	������	�!�# 9B��� �� Gx, Nx, Φ ���A��� ��� 	�������'
�� 	������	��
�	�����
 �
� M # 5 ���
��
 �
� 	������	���
��� �
� Φp �	� ��
� p ∈ Nx

����	 
 ��'������ ���
��
 ��� %��	�A������ �	� �
� "��� 
 	�������'
���
	������	��� �	�����
� �
� M �� ������	��� �	������# 7��� ������� ��	���
�	����(����� �
� ���
��
 ���� �� �''
 ���'���� ��	 ��
 ���!%�	�� ����H�&
A���� �� �����'!����� ��� ���	�� 
�(�
�� ����" ��� ����'����#
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1
���	� '0�0� '(��� G ��� ����� Lie ��� ��� ���� M �	�� ��� φ� .
�
ξ ∈ L(G)� ��� ��
�0�� Lie ��� G� "����)�� �� ������������
�� ��������
��� G

R → G : t �→ exp tξ

��� ���
���
��� ��� ξ� &���� 

� ��"� x ∈ M �� �
�������
�� ����� ��� ���#���

��� �� ��	��

ξM (x) =
d

dt
φ(exp tξ, x)|t=0

�	
���
 ����
���	� ��

���
�� 3infinitesimal generator4 ��� φ ��� ξ#

+ +�	���� ����� ��	��!��	 �� �	����(����� �
� ��'������ ���
��
 ��	
�� � ��@ 
 ||ξM ||2|Nx : Nx → R ����	 ���
��� �	� ��
� ξ ∈ L(G) ��	 x ∈ M
�� 	���"����� 	�%"�	 Tx||ξM ||2(ux) = 0 �	� ��
� ux ∈ �(x) ��	 x ∈ M #

;�$
��� '0�0# '(��� G ��� ������
�� ����� Lie ��� ��� 
���
� ��
 �
��
�����
�� �	�� 
������
�� Riemann ���� M � &���� � M �	����
 
�������
0���� 
������
�� �
������ �� ��
 ���� �� ���� �
 ������ 
��������� ��� M
����
 ��#�
���� � �������� � ����
 ���������
��� 
��)�
 Tx||ξM ||2(ux) = 0


� ��"� ux ∈ �(x) ��
 Hx = {e} �	� ��
� x ∈ M #

/����
3�# (⇒) 9/%���� ��
 ��	 ��� 	�%"��� �	 �"� ��(��� ���
����� �� 

M �!%���	 	�������'
�� 	������	�� �	�����
# 9/��� ��	 
 M !%�	 �� �	�
	�������'
�� 	������	�� �	�����
� �
� ��	��� (P, N, ψ)G#

9/��� x ∈ M, x = ψ(p, n) ��	 y ∈ Nx, y = ψ(q, m)# $��� ψ({p} × N) ⊆
Nx# /��	�� 
 G ��� �������	�� ��
� P � ����%�	 g ∈ G �� gp = q# 9B��

y = ψ(q, m) = gψ(p, m) ∈ gψ({p} × N) ⊆ gNx,

������ '��� �����	���
��� ��� �!�	���� �'��'
���	�(� �����''��'�������
!%���� gNx = Nx� �
'��� g ∈ Fx# 9/��� g1, g2 ∈ G# $���

[g1]Gx = [g2]Gx ⇔ g1p = g2p ⇔ ψ({g1p} × N) = ψ({g2p} × N),

�����(� Nx =
⋃̇

[g]Gx∈Hx
ψ({gp} × N)# B�� ��� ��	��� �
� ����'����� �
�

Nx� �� �"��'� ψ({gp} × N), g ∈ Fx ����	 ���	��� ��
� Nx� ����!���� '���
�
� ������	���
��� �
� Nx !%���� Hx = Fx/Gx = {e}#

$!'��� !��� ξ ∈ L(G)# 5 G ��� ����	��!�� ��
� N � ����� ξP×N (p, n) =
(ξP (p), 0) �	� ��
� (p, n) ∈ P × N # B��" 
 ψ ����	 G & 	��������� �	� ��
�
x ∈ M �� x = ψ(p, n) 
� !%����

T(p,n)ψ(ξP×N (p, n)) = ξM (x),



,3)

��G ���� ���������

||ξM (x)||x = ||ξP×N (p, n)||(p,n) = ||ξP (p)||p.

M!����� ����� ��� Nx = ψ({p} × N)� �����

||ξM ||2|Nx = ||ξP×N ||2|{p}×N = ||ξP (p)||2p,

�
'��� �� ||ξM ||2|Nx ����	 ���
���� ����!��� 	������	����	 ��	 
 ����
 ���&

��
#

(⇐) B�� �� �%�'	� ��� ���
��

��� �	� �	� ���
���� ��� � ����'�A���
�
� "��� 
 	�������'
��� 	������	��� �	�����
� �
� M � ����� �� ������ ����
��� 
 ���	���	�


Φp : Gx → Gp : gx �→ gp

����	 	�������� �	� ��
� p ∈ Nx@ 9/��� p ∈ Nx# /��	�� 
 G ��� �!��
	������	(� ����� %(���� Gx, Gp ��	 
 Φ ����	 G & ���	���	�
� �	� �� ��� ����
��� 
 TgxΦp : TgxGx → TgpGp ����	 	�������� �	� ��
� g ∈ G� ����� ��
��� ���� ��� 
 TxΦp ����	 	��������#

;��G ��%��� �����
��"�� ��� 
 φy : G → Gx ����	 submersion� �����
TyGy = {Teφy(ξ) : ξ ∈ L(G)} �	� ��
� y ∈ M # /���
� ξM (y) = Teφy(ξ) �	�
��
� ξ ∈ L(G) ��	 y ∈ M # 9B��

TyGy = {ξM (y) : ξ ∈ L(G)} �)#��

�	� ��
� y ∈ M #
5 Φp ����	 G ���	���	�
� �����

TgxΦp(ξGx(x)) = ξGp(gp)

�	� ��
� g ∈ G# /���!���� �	� g = e 
� !%���� TxΦp(ξGx(x)) = ξGp(p)�
������ '���������� ��G �H	� �
� 	���
�� �)#��� ����� �� ��� ���� ��� 
 TxΦp

�	��
��� �	� ������ ��� ���	����(� ����
�����#
9/���� '�	���� ξ ∈ L(G)# / ���
!����� 
 ������
�
 ||ξM || 
� ����	

���
��� ��� Nx# 9B��

||ξGx(x)||x = ||ξM (x)||x = ||ξM (p)||p = ||ξGp(p)||p = ||TxΦp(ξGx(x))||p,

�
'��� 
 TxΦp ����	 	��������� �	� ��
� p ∈ Nx ��	 �	� ��
� x ∈ M � ����� 

M 
� !%�	 	�������'
�� 	������	�� �	�����
 �
� ��	��� (Gx, Nx, Φ)G# �
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2�
���
��� '0�0' 5 �����	 
 ���	��� ���	���	�� �� ����%�	 ���'�%	����
!�� x ∈ M � (��� 
 ||ξM (q)||q �� ����	 ���
��� �� ���� p ∈ Nx, ξ ∈ L(G)#

2	
���� '0�0+ '(��� G ��� ����� Lie ��� ��� �
������
�� ��
 
���
� ����
M �	�� 
������
��� &���� � M 	��
 ���
�� 
������0���� 
������
�� �
��
������ �� �
 ������ 
��������� ����
 ��#�
���� � ��������� ����
 ���������
��
��
 
��)�
 Tx||ξM ||2(ux) = 0 

� ��"� ux ∈ �(x) ��
 x ∈ M #

/����
3�# (⇐) B�� �� F���� )#3#.� �	� ��
� x ∈ M ����%�	 ���	��� ���	�%�
U ⊆ Nx ��� x ��
� Nx� (��� 
 πx|U : U → πx(U) �� ����	 ���	�	����	�
�
����� ���� G & %(�� GU 	�%"�	 Hx = {e}# $���� 
 ���	��� ���	�%� GU ��� x
��
� M ����	��� �	��	� ��� �� F���� )#3#.� 
 Φ ����	 ���	��� ���	�����	����
��	 �����(� ���	��� ���	���	�
� 
� 	������	�� �	� ���
���� ��� ���
��"��&
��� ����������� ����� 
� !%�	 	�������'
�� 	������	�� �	�����
#

(⇒) 1	� �
� ��(�
 ���
��
� 
 M ����	 σ & �������� %(���� ����� �&
���%��� ������� �"��'� Ki �	� i = 1, 2, . . . �� Ki ⊆ Ki+1 ��	 M =

⋃
i∈N

Ki#
9B��� �	� x, y ∈ M 
� ����%�	 Ki0 �� x, y ∈ Ki0 # / ���
!����� ��
� z ∈ Ki0

!%�	 G & ���	��� ���	�%� Uz ��� �!%���	 	�������'
�� 	������	�� �	�����
#
F��� �
� �������	�� ��� Ki0 � 
� ����%��� ��������!��� �� �'�
�� �!��	��
���	�%!� ��� 
� ��'"����� �� Ki0 # ;��� ���!��	�� 
� ����%�	 �	���!��	�
{Ui}k

i=1 �!��	�� ����'�� �� Ui ∩ Ui+1 �= ∅ �	� ��
� i = 1, . . . , k − 1 ��	

x ∈ U1, y ∈ Uk# 9B��� ��
� �"� �
���� ��
� !���

⋃k

i=1 Ui 
� !%��� ��A�����
������ 	��������� ��	 �����(� �	 ������ Gx, Gy 
� ����	 ��A�����#

5 ��"���
 ���
��
 ����	 ��������� ���" �	� ���	�� �'��'
�(�
�
 ������&
�� ����	 � ��	���" �'��'
�(�	�
#

1	� �
� ����
 ���
��
 
����"�� x ∈ M ��	 ξ ∈ L(G)# $���� '��� �
�
��"���
� ���
��
�� ����%�	 
 Nx# / ���
!���� ��	 '��� ��� ���
��"�����
����������� ��

C = {p ∈ Nx : ||ξM (p)||p = ||ξM (x)||x}.


� ����	 ��	 ���	���� ����� ��� �
 ������	���
�� �
� Nx� ����"���	 C = Nx#
E������	����	� !��	� ��	 
 ����
 ���
��
# �



�������� �

&	�
��
�	� 
�������	�"�
 ��"�

��
��� �������
�%�� ���  ��������� ��� <���������� ������
��- .8/�
.�/ ��� .�+/0

7�� ����� ����'�	� 
� �	����(����� ��	 
� ������ ���� �
� "��� 
 �&
'	��" ������ ��
� ���
����� ��� ����'���	�(� ��''��'������# ��  ��	��&
����� �� �
� �����	 
 ���� ���	��� ������
� �
� 
������ ��� ����'���	�(�
��''��'������ ��� ���%��	 ��� �'�� �	 G & ����'���	�!� ��''��'��
��� ��	��
�	�����
� ����	 ���	�� ���	���� �!�� G & ����'��������	��(�#

)�� +���	
 �!����
����� ��� ,!����	��	�� ��%"

�������

2
	���� +0�0� '(��� X ��� �
������
�� ������������ ��
 G ��� ����� Lie
��� ��� 
���
� ��
 �
������
�� ���� X� '(���� ������� M ��� G � �����������
�����
�� ��������������� ��� X ��
 ω0, ω1 �)� ����������� ��������
�	�
����	� �� ω0|TX|M = ω1|TX|M � &���� �������� �)� G � ���
��	� U0, U1 ���
M ���� X ��
 ��� G � �����
����
�� f : U0 → U1 ���� �� 
��)��� �
 ��	��
�
f |M = idM ��
 (f∗ω1)|TX|U0

= ω0|TX|U0
�

1	� �
� �����	 
� 
� ���	���"�� ��
 ��!
��� ��� �	�����(�� ��� Moser�

 ����� %�
�	����	�� ��� ����%� ��� F������� ��� Poincaré �	� �
� �'�	��!�
����!�#

,38
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9/��� τX : TX → X 
 �����'�# 9/�� ���	��� ����"��'� B ⊆ TX

� '!����	 ���
	��
%�� �� �	� ��
� p ∈ τX(B) �� �"��'� B ∩ TpX ����	
���������� ��'!�� C������
�
 ,#,#*�# C�����(�� �� ���������� �"��'�
�����'�"� ��� ���
 �	� �
� ����'���� ��� TX� �����!��� ��	 ��
� �"��'�
�
� ������

⋃
p∈W Vp �� W ⊆ X ���	��� ��	 Vp ⊆ TpM, p ∈ W ���	��� ��	

���������� �"��'�� ����	 ����������# /�	�'!��� �� !�� �"��'� B ⊆ TX
����	 ����������� ���� �� GB 
� ����	 ���������� G & �"��'�#

6���� +0�0# �� ��� ���0��
��� ��� ��� ����
�)���� =������� 	��� ω ���
G � ���������� ��
 ���
��� k � ����� ���� X �� ω|TX|M = 0� &���� ������

G � ���
��� U ��� M ���� X ��
 ��� G � ���������� (k − 1) � ����� ϑ ���
U �� ϑ|TX|M = 0 ��
 dϑ = ω|TX|U �

/����
3�# 9+��� ��� F���� �#�#*� ����%�	 G & ���''����
 ����	�� Riemann
��� ���A�	 �� normal bundle N �
� M � �� ����� ������	 ����	�� G & %(���
�� ��� ���	��	��� �
� ���������
� ����
� �
� G ��
� N # /���
�� ����%�	
G & ���	�%� V �
� M × {0} ��
� N ��	 ���	�	������	�
 G & ���	���	�

H : V → H(V ) ⊆ X �� H|M = idM # <����"�� �� ���
!����� ��� 
 V
����	 ��	 ���������
 �	��	 �	������	�� 
� ����%� W ⊆ V ���	��� ���������

���	�%� �
� M × {0} ��	 
 GW 
� ���	��
	���"�� �
� V #

1	� ��
� t ∈ [0, 1] ���A���� �
� πt : V → V �� πt(p, up) = (p, tup)#
/��	�� �� V ����	 ����������� �	� ��
� t ∈ [0, 1]� 
 πt ����	 ��'� ��	��!�

��	 ���A���	 �� %����� �������� �	�������	�� �����

Xt : V → TV : (p, up) �→ (p, up, 0, up/t) �	� t �= 0,

�� ����� !%�	 �� ��� �
� πt@ Xt ◦ πt = dπλ/dλ|λ=t#
5 k & ����� ω1 = (H∗)ω|TX|H(V ) ����	 �'�	���� G & ���''����
 ��	

	��������	 �
 �%!�
 ω1|TN |M×{0} = 0# B�� �
� ���	�� 	�	��
�� ��� �����(&
��� Lie� !%���� (d/dt)(π∗

t ω1) = π∗
t LXtω1# /���!���� �	� ��
� ε ∈ (0, 1)

	�%"�	

ω1 − π∗
ε ω1 =

∫ 1

ε
π∗

t LXtω1dt = d
∫ 1

ε
π∗

t iXtω1dt,

���� ��
� ��'������ 	���
�� %�
�	����	����� �
� ������
��

LXtω1 = diXtω1 + iXtdω1,

�
� �'�	����
�� �
� ω1 ��	 �
� ���''��� ��� ��'���� d �� �� �'��'������ ���
��	��!����	� ���" 
 π∗

t iXtω1 ����	 '��� ��	 �����!�
 ������
�
 ��� t ∈ (0, 1]#
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C����
��"�� ��� 
 ����� π∗
t iXtω1 ���A���	 ��'� ��	 ����	 '��� ��� t = 0�

������ ����(���� ��� ��	� �	� ε → 0� ���������

ω1 − π∗
0ω1 = d

∫ 1

0
π∗

t iXtω1dt.

9+��� π∗
0ω1 = 0� ���" ω1|TN |M×{0} = 0# 7�� V 
����"�� �
� (k−1) & �����

ϑ1 =
∫ 1
0 π∗

t iXtω1dt� ����� 
� 	�%"��� �	 �%!��	�

ω1 = dϑ1 ��	 ϑ1|TN |M×{0} = 0,

���" Xt|M×{0} = 0 �	� ��
� t ∈ (0, 1]# 9/��� φ 
 ����
 �
� G ��
� X#
/��	�� �� Xt ����	 G & ���''����� �	�������	�� ����� ��
� V 
� !%����

(Tφg)∗ϑ1 =
∫ 1

0
(πt ◦ Tφg)∗iXtω1dt =

∫ 1

0
(Tφg ◦ πt)∗iXtω1dt

=
∫ 1

0
π∗

t i(Tφg)∗Xt
(Tφg)∗ω1dt = ϑ1

�	� ��
� g ∈ G� �
'��� 
 ϑ1 ����	 G & ���''����
#
B�� �� ���
��"���� ��������	 ��	 
 ϑ = H∗ϑ1 ����	 
 A
��"���
 (k − 1)

& ����� ��
� ���	�%� U = H(V ) �
� M ��
� X# �

6���� +0�0' '(��� Xt 	�� C1(U, TU) ������3�������� �
�������
�� �����
�� Xt(0) = 0 

� ��"� t ∈ R� ���� U ����
 ��� ���
��� ���
��� ��� �������
���� R

n� &���� 

� ��"� x ∈ U ������
 ���
��� V ⊆ U ��� x �	��
�� ���� �
��� Ft,0(x) ��� Xt �� ���#���
 

� |t| ≤ 1#

/����
3�# B�� �
 
����� ��� �	����	�(� � 	�(���� ����%�	 ���	��� �"��'�
E ⊆ R × R × U ��	 θ ∈ C1(E, U)� (��� �� �"��'� E(0,0) = {t ∈ R :
(t, 0, 0) ∈ E} �� ����	 ���	��� �	���
�� ��� ���	!%�	 �� 0 ��	 
 ����"'

γ ∈ C1(E(0,0), U) �� γ(t) = θ(t, 0, 0) �� ����	 
 �����	�� �!�	��
 '"�
 �
�
�	����	��� � ����
�

γ′(t) = Xt(γ(t)), �� ��%	�� ���
��
 γ(0) = 0.

5 ����"'
 γ(t) = 0, t ∈ R ����	 � ���
!���� '"�
 �
� �	����	��� � ����
��
�����(� R×{0}×{0} ⊆ E# /���!���� �	� ��
� t ∈ [−1, 1] ����%��� ���	��!�
���	�%!� At, Bt ��� t ��	 ��� 0 ∈ U � �������	%�� �� At×{0}×Bt ⊆ E# 9+���
[−1, 1] ⊆ ⋃

t∈[−1,1] At� ������ '��� �������	��� ����%��� ti ∈ [−1, 1], i =

1, . . . , k (��� [−1, 1] ⊆ ⋃k
i=1 Ati # 5 B =

⋂k
i=1 Bti � 
� ����	 
 A
��"���
 ���	&

�%� ��� �
������ ������ �	� x ∈ B� !%���� [−1, 1]× {0} × {x} ⊆ E� �
'���
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 ��� �� �"�� Ft,0(x) = θ(t, 0, x) 
� ���A���	 ��� �	���
�� [−1, 1]# �

/����
3� ��� =������� 4�<� # /�����A����� �� F���� *#3#� ��
� 2 & �����
ω1 − ω0� ��������� ��� ���	��� G & ���	�%� U �
� M ��
� X ��	 ��� G &
���''����
 1 & ����� ϑ �� ϑ|TX|M = 0� (��� dϑ = ω1 − ω0|TX|U #

�!����� ωt = ω0 + t(ω1 − ω0), t ∈ [0, 1] ��	 �����
��"�� ��� 
 ωt(x) =
ω0(x) = ω1(x) ����	 �
 ����'	��!�
 �	� ��
� x ∈ M ��	 t ∈ [0, 1]# 5
���	���	�


ω : [0, 1] × X → T 0
2 (X) �� ω(t, x) = ωt(x)

����	 '��� ��	 �� �"��'� Ω ��� �
 ����'	��!��� ���	�������	�(� (0, 2) &
������(� �
� X ����	 ���	��� ����"��'� ��� T 0

2 (X)� ����� �	� ��
� x ∈
M ��	 �	� ��
� t ∈ [0, 1] ����%��� W(t,x) ��	 U(t,x)� ���	�%!� �(� x ��	
t� �������	%�� (��� �� 	�%"�	 ω(U(t,x) × W(t,x)) ⊆ Ω# F��� �������	���

����%��� ti, i = 1, . . . , k(x) �� [0, 1] ⊆ ⋃k
i=1 U(t,x)# �!������ Wx =

⋂k(x)
i=1 � 


W =
⋃

x∈M Wx ����	 ���	��� ���	�%� �
� M ��
� X �� �
� 	�	��
�� ω([0, 1×
W ) ⊆ Ω# 5 ��	� �%!�
 
� 	�%"�	 ������(� ��	 �	� �
� ���	�%� GW � ���" 

G ��� ��
� X �!�� ���	�	���������#

5 V = GW ∩ U ����	 G & ���	�%� �
� M ��
� X# +��A���� ��
� V � ��
'���� %����� ���
�!�� �	�������	�� �����

Xt : V → TV �!�� �
� �%!�
� iXtωt|TX|V = −ϑTX|V ,

�� ����� ����	 ��'� ��	��!��� ���" 
 ωt �����
���	 �
 ����'	��!�
 ��� V �	�
��
� t ∈ [0, 1]# 1	� ��� ��	� '��� Xt|M = 0 �	� ��
� t ∈ [0, 1]#

<� �������� ��� ���
��"����� F�������� ��������� �	� ��
� x ∈ M
���	��� ���	�%� & %���
 Vx ⊆ V ��
� X �!��	�� (��� 
 ��� Ft(x) ��� Xt ��
���A���	 ��� x �	� t = 1#

/��	�� �	 ����!� ωt|TX|V ��	 ϑ|TX|V ����	 G & ���''������ ��	 
 ωt|TX|V
����	 �
 ����'	��!�
� �� Xt ����	 G & ���''����� �	� ��
� t ∈ [0, 1]# 9B��� 

Ft ����	 G & ���	���	�
 �	� ��
� t ∈ [0, 1] ��	� �� �	� ����	� y ∈ V 
 ��� Ft(y)
���A���	 �	� t = 1� ���� �� ��	� 
� ��������	 ��	 �	� �� �
���� �
� ���%	�� Gy#
7����(�� �	� x ∈ M 
 ��� Ft(GVx) ���A���	 ��� �"��'� GVx �	� t = 1#

$� U0 =
⋃

x∈M GVx ⊆ V ����	 G & ���''����
 ���	��� ���	�%� �
� M
��
� X ��
� ����� ���A���	 
 ��� Ft(U0) �	� t = 1� ��G ���� !����	@

d

dt
(F ∗

t ωt)|TX|U0
= (F ∗

t (LXtωt))|TX|U0
+ (F ∗

t (
d

dt
ωt))|TX|U0

= (F ∗
t (diXtωt + ω1 − ω0))|TX|U0

= (F ∗
t (−dϑ + ω1 − ω0))|TX|U0

= 0.
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/���!���

(F ∗
1 ω1)|TX|U0

= (F ∗
0 ω0)|TX|U0

= ω0|TX|U0
.

/��	�� Xt|M = 0� �� �
���� �
� M ����	 ���
��� �
���� �
� F1� �
'���
F1|M = idM # 1	� f = F1 ��	 U1 = f(U0) ����"���	 �� A
��"����# �

+	 �������� �"� �������	� ����	 ���	���	�� 
 �����	���
�� ��	 
 "��� 

���� ���	��� ���������� ��
 7���'���	�� 1��������# 9+��� 
� ����� ��

���!%�	�� 
 �����	 
 ���� ����	 ���	��!�
 ��
� ��������� ���� normal bun-
dle �	� �
� ����'���	�� ��������
� %�
�	����	(���� �� ������� ��� ��
�
����'���	�� ����� ����	 �� �������	�� �!��� ���� ���	�	���" ������	��" �	&
���!���#

2
	���� +0�0+ �Coisotropic embedding & �����	���
��� '(��� G ���� ��
�����
��� ������
�� ����� Lie ��� ��� 
���
� �	�� ���
�
��������� ��
��� ������������ M ��
 �	�� �������������
���� �� �)� ��������
�	� ����
���������� (X1, ω1) ��
 (X2, ω2)� '(���� ������� τ ��� G � ���������� 2 �
����� ���� M ���"���� ��3�� ,������ � ������� [τm(ei, ej)] 	��
 ���"���
��3� 

� ��"� 0��� {ei} ��� TmM ��
 

� ��"� m ∈ M-� /� � M ���
��
 embendded G � 
������0���� ��
 coisotropically ��
� (Xk, ωk) �	�� ���
���
�������� ik : (M, τ) → (Xk, ωk) ��
'��� (Txik(M))⊥ωk ⊆ Txik(M) �	�
��
� x ∈ ik(M) ��	 �	� ��
� k = 1, 2�� ���� i∗kωk = τ 

� k = 1, 2� ����
�������� ���
��	� Uk ⊆ Xk ��� ik(M) ��
 	��� G � 
������0����� �������
�������
���� f : U1 → U2 �� f ◦ i1 = i2�

/����
3�# ��  ��	������� 
���(���� �
� ��������
� ���� 
 M ����	 G
& ���''����
 �����	�� �����''��'��
�� �	�� ����'���	��� ��''��'��
���
(X, ω)� ��
� ����� 
 G ��� �!�� ����'��������	��(�� ��	 τ = ωTM |M #

9/��� g̃ !��� G & ���''������ ����	��� �������� ��
� X �
� "��� 
 ���
������ ��� � ����'�A�	 �� ��(�
�� ,#)#-# B�� �� ��(�
�� ��� Riesz �	�
%(���� �� ������	�� �	������� ���A���	 
 G ���	���	�
 J̃ : TX → TX �!��
�
� �%!�
�

ωx(u1, u2) = g̃x(J̃xu1, u2) �	� u1, u2 ∈ TxX ��	 x ∈ X.

/��	�� 
 ω ����	 �
 ����'	��!�
� 
 J̃x : TxX → TxX ����	 �����	��� 	�����&
�	���� �	� ��
� x ∈ X# B� J̃∗ ����	 � ��A���� ��� J̃ � ���� J̃∗ = −J̃ # B��
�
 �%!�


g̃x(J̃xJ̃∗
xu1, u2) = g̃x(J̃xu1, J̃xu2), u1, u2 ∈ TxX, x ∈ X,
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� J̃ J̃∗ ����	 
��	�� ��	��!��� ������A���� �����	��� �����%
���	����� �����
�'�� �	 	�	��	�!� ��� ����	 
��	�� ��	��!��� ��	 ���A���	 �����	���� 
��	��
��	��!��� ������A���� G & ���''������ �����	��� 	������	���� B� (���
B2 = J̃ J̃∗ = −J̃2#

/� ����������� � B !%�	 �� 	�	��	�!� �	� ��������	�!� ��A�� ��� 	�	��	�(�
��� J̃ J̃∗� ����� �	 J̃ ��	 B−1 ������
����	# +��A���	� '�	���� �� G & ���''�����
������	�� �	������

gx(u1, u2) = g̃x(B−1
x u1, u2) �	� u1, u2 ∈ TxX ��	 x ∈ X

��	 � G & ���''������ �����	��� 	������	���� J : TX → TX �� J = J̃B−1�
�	� ��� ����� 	�%"�	 J2 = −I �@ �	� ��
� x ∈ X � Jx ����	 �� ��
������	���
������	 ��� J̃x ��
� ��'	�� ��� �����������
�#

$(�� 	�%"��� �	 �%!��	�

gx(Jxu1, u2) = −g̃x(J̃−1
x u1, u2) = ωx(u1, u2)

��	

ωx(Jxu1, ju2) = gx(J2
xu1, Ju2) = −ωx(u2, u1) = ωx(u1, u2)

�	� ��
� u1, u2 ∈ TxX ��	 x ∈ X� ����� 
 J ����	 ����'��������	����#
5 M ����	 coisotropic �����	�� �����''��'��
�� �
� X� ����� �����"��

�� 
����������� �� subbundle ��� TM

E =
⋃

m∈M

Em ���� Em = (TM)⊥ωm ∩ TmM = (TM)⊥τm ��	 m ∈ M.

=�
�	����	(���� �
� ��(�
 ��� �	� ���
��"����� �%!��	�� !%����

Jm(Em) = (TmM)⊥g

�	� ��
� m ∈ M # B�� '�	���� N ����	 �� normal subbundle �
� M ��
�
TX|M � ���� J(E) = N # +	 ����!� ω|TM |M = τ, g ����	 G & ���''��&
����� ����!��� �	 %(��	 E, N ����	 G & %(��	 ��	 
 J |E : E → N ����	 G
& ���	�	������	�
 ���	���	�
# B�� �� F���� �#�#*� ����%��� G & ���	�%!�
V1, V2 �
� M ����� %(���� N ��	 X� �������	%�� ��	 G & ���	�	������	�

���	���	�
 H : V1 → V2� (��� H|M = idM ��	 TH|TN |M×{0} = I� ����
TN ∼= TM ⊕ N = TX ��	 I ����	 
 ���	���	�
 ��� ����	 �
� ���
��"���

�����	�� 	��������#

9/���� �(��� E∗ =
⋃

m∈M E∗
m� �� ��̈	�� subbundle ��� E ��
� T ∗M # 5

T ∗M ����	 G & %(��� ���� ����� ��� �	������	�� ��	 ����	� 
 ������������

����
 �
� G�

φT ∗
: G × T ∗M → T ∗M : (h, (p, αp)) �→ (φg(p), (Tφg(p)φg−1)∗αp),



,,,

���� φ ����	 
 ����
 �
� G ��
� M # /��	�� � E ����	 G & ���'������ ���%����
��� TM � � E∗ ����	 G & ���''������ ���%���� ��� T ∗M #

+��A���� �
� �����	�� ���	���	�


Ψ : V1 → E∗ �� Ψm(um)(em) = ωm(um, em)

�	� ��
� um ∈ Nm ∩ V1 = (TmM)⊥g ∩ V1 ��	 em ∈ Em �	� m ∈ M � 
 �����
����	 G & ���	���	�
� �	��	 
 ω ����	 G & ���''����
# B� �	� ����	� m ∈ M
����%�	 u ∈ Nm �� Ψm(u) = 0� ����� ���" 
 M ����	 coisotropic� 	�%"�	

u ∈ J(Em) ∩ (Em)⊥ω = J(Em) ∩ TmM = TmM ∩ (TmM)⊥g = {0},
�
'��� 
 Ψm ����	 ,&, ��	 �����(� �����	��� 	������	����# B� (p, up) ∈ V1

��	 (vp, wup) ∈ T(p,up)V1� ����

T(p,up)Ψ(vp, wup) = (vp, Tmω · vp(up, ·) + ωp(wup , ·)) = (vp, ωp(wup , ·)),
���� 
 ��'������ 	���
�� 	�%"�	 ���	��� ��� �� ��(�
�� ��� Darboux� 
 ω
����	 ���
��� �� !��� ����'���	�� %���
 ��� p# /���!���� 
 Ψ ����	 G &
���	�	����	�
 ��� �
� �	����� �
�# $�'	��� 
 F = H−1 ◦Ψ : V1 → Ψ(V1) ����	
G & ���	�	����	�
 ���� " G & ���	�%(�#

;����!����� '�	���� �� �������"������ ��� G & ���	�	����	�
 ���� "
���� G & ���	�%�� �
� M �
� X ��	 ���� G & ���	�%�� �
� E∗# 9B��� �� �	�
k = 1, 2 �� E∗

k ����	 �� �������	%� vector bundle ���� ��� �
� ik(M)� ����

� ����%��� G & ���	�%!� Vk �
� ik(M) ��
� Xk ��	 Wk �
� ik(M) ��
� E∗

k

��	 ��� G & ���	�	����	�
 Fk : Vk → Wk# B� E∗ ����	 �� �������	%� vector
bundle ���� ��� �
� M � ���� 
 i∗k : E∗

k → E∗ ����	 G & ���	�	������	�

���	���	�
#

9/��� �	 �'�	��!� 2 & ����!� (i∗k ◦ Fk)∗ωk, k = 1, 2 ��
� E∗# F��� ���
�"��� �
� Fk� �	� k = 1, 2 	�%"�	

(i∗1 ◦ F1)∗ω1|TE∗|M×{0} = τ = (i∗2 ◦ F2)∗ω2|TE∗|M×{0}.

/�����A������ '�	���� �
� C�����
 *#3#,� ��������� G & ���	�%!� B1, B2 �
�
M ��
� E∗ ��	 ��� G & ���	�	������	�
 ���	���	�
 L : B1 → B2� (���

L∗(i∗1 ◦ F1)∗ω1|TE∗|M×{0} = (i∗2 ◦ F2)∗ω2|TE∗|M×{0}.

1	� Uk = (Fk ◦ i∗k)
−1(Bk) ��	 f : U1 → U2 �� f = (i∗2 ◦ F2)−1 ◦ L ◦ (i∗1 ◦ F1)

����"���	 �� A
��"����# �

2
	���� +0�0& �Coisotropic embedding & "��� 
�'(��� M ��� �
������
��
������������� G ��� �� �����
�� ��
 ������
�� ����� Lie ��� ��� 
���
�
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�	�� ���
�
��������� ���� M ��
 τ ��� G � ���������� ���
��� 2 � �����
���� M ���"���� ��3��� &���� ������
 ��������
�� ������������ (X, ω)�
���� ����� � G ��� 
���
� �	�� �������������
���� ��
 ��� 
������0����
coisotropic embedding i : (M, τ) → (M, ω) ��
'��� 
 i(M) ����	 coisotropic
�����	�� �����''��'��
�� �
� X�� �� i∗ω = τ #

/����
3�# <� ��� �����'	��� ��� �
� ���
��"���
 �����	 
� !��� g !���
G & ���''������ ����	��� �������� ��
� M # +�	A���� �� subbundle W ���
TM ��

W =
⋃

m∈M

E
⊥g
m

��	 ��� %(�� X = E∗# $��� TM = W ⊕ E� �����(�

TX|M × {0} = TM ⊕ E∗ = W ⊕ E ⊕ E∗.

B� τW = τ |W � ���� 
 τW ����	 ����'���	�� 2 & ����� ���� W # C������	�

����"�� �
� �����	�� ���	���	�


τ b
m : E

⊥g
m → (E⊥g

m )∗ : u �→ τm(u, ·).

9/��� m ∈ M ��	 α ∈ (E⊥g
m )∗# B� α|Em = 0� ���� α ∈ (TmM)∗# B�� ��

��(�
�� ��� Riesz� ����%�	 u ∈ TmM �� gm(u, ·) = α(·)# $��� gm(u, w) =
α(w) = 0 �	� ��
� w ∈ Em� �
'��� u ∈ E

⊥g
m � 
 τ b

m ����	 ��� ��	 �����(��
'��� 	���
��� ��� �	��������� ,&,# /���!���� 
 τW ����	 �
 ����'	��!�

��� W #

+��A����� �(�� ��� E ⊕ E∗ �
� G & ���''����
� �����	�� ����'���	��
�����

ω0m((u1, α1), (u2, α2)) = α2(u1) − α1(u2) �	� (ui, αi) ∈ Em ⊕ E∗
m, i = 1, 2.

<� �
� �������� �	�����
� � %(��� TX|M ������ ����'���	�� ���� �� G
& ���''����
 2 & ����� �
� ΩM = τW ⊕ω0# �� ����'
�(����� �
� �����	 
�
������������� ���� �
 ����� �� ��� G & ���''����
 ����'���	�� ����� ����
��� �� X @

9/��� K ���	��	�� �������� �������� �
� G# B�� �� ��(�
�� �#8#. ��	
�
� C������
�
 �#8#-� ����%�	 ��
� M �'	��� �	������	��� K & ������ S �
�
M � (��� M = G ×K S# <!�� �
� ���	���	�
� �����'�� π : X → M � ��
E∗|S ����	 �'	��� �	������	��� K & ������ �
� X#
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5 ΩM |TX|S×{0} ����	 K & ���''����
 2 & ����� ��	 �����������	 �� K &
���''����
 2 & ����� ΩE∗|S �� �"��

Ω(s, αs)((u1
s, u

1
αs

), (u2
s, u

2
αs

)) = τW (s)(w1
s , w

2
s) + u2

αs
(e1

s) − u1
αs

(e2
s),

���� �	� (s, αs, u
i
s, u

i
αs

) ∈ T (E∗|S) ��	 i = 1, 2 
����"�� �
� �	�����


TS = (W ∩ TS) ⊕ (E ∩ TS),

����� ui
s = wi

s+ei
s, wi

s ∈ W ∩TS, ei
s ∈ E∩TS� ��( 
����"�� �� ui

αs
∈ TαsE

∗
s

�� ���	%��� ��� %(��� (Es)∗#
+ �'	��� K & ������ E∗|S �!���	 ��
� ���%	� �
� G ���� E∗� ����� 


ΩE∗|S �����������	� �!�� �
� ������������
� ����
� ��
� E∗� �� ��� G &
���''����
 2 & ����� Ω �
� E∗ �� Ω|M = ΩM #

�� �������	������ �
� Ω� �� ��� �'�	���� G & ���''����
� 2 & ����� ω
���� E∗ �� ω|M = ΩM @ 9+��� ��	 ��
� �����	 
 ��� F������� *#3#�� �	�
t ∈ (0, 1] ���A���	 
 ��� πt : E∗ → E∗ �� %����� �������� �	�������	�� �����
Xt ��	 �� β ����	 ��� �	����	�� ����� ���� E∗� ����

β − π∗
0β =

∫ 1

0
π∗

t iXt(dβ)dt + d
∫ 1

0
π∗

t iXtβdt.

B� iM : M ↪→ E∗ ����	 
 !�
��
� ���� iM ◦ π0 = π0 ��	 i∗MΩ = τ � �����

π∗
0(dΩ)) = π∗

0(dτ) = 0,

������ 
 τ ����	 �'�	���# /���!���� �	� β = dΩ � �������� �"��� ����	

dΩ = d
∫ 1

0
π∗

t iXt(dΩ)dt.

B� 
!�����

μ =
∫ 1

0
π∗

t iXt(dΩ)dt,

!%���� μ|M×{0} = 0� ���" Xt|M×{0} = 0# 9B��� �	� ω = Ω − μ ����"���	
dω = 0 ��	 ω|M×{0} = ΩM ��� ����	 �
 ����'	��!�
 2 & �����# 9+��� ��	 ���
F���� *#3#�� ����%�	 G & ���	�%� U �
� M × {0} ��
� E∗ (��� 
 ω �� ����	
G & ���''����
 ����'���	�� ����� ��� U �� i∗Mω = τ � �
'��� �� A
��"����#
�
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)�� �� �!����	��	#  ������ ���	�� ���	%�

9/��� G ��� ����� Lie �� Lie �'����� g ��	 H ��� �'�	��� �������� �
� ��
Lie �'����� h� ��� ��� ��
� G �!�� �
� ��	������ ����
�# 9/���� ����
��
(S, ωS , H, JS) !��� =��	'���	�� %(���# +	 %(��	 T ∗G ��	 G× g∗ ����	 ���	&
�	������	��	 �!�� �
� ���	�	�����	�
�

I : T ∗G → G × g∗ : (g, αg) �→ (g, (TeLg)∗αg).

5 ����
 ��� ����	 �
� ���	���	�
 (idG, I) : H × T ∗G → H × (G × g∗)
	�������'
�� ����	 


D : G × (G × g∗) → G × g∗ : (h, (g, ν)) �→ (gh−1, (Adh−1)∗ν).

B�� '�	���� ω1 ����	 
 �����	�� ����'���	�� ����� ��
� T ∗G� ���� 
 ω0 =
I∗ω1 ����	 ��� H & ���''����
 ����'���	�� ����� ���� G × g∗ �� �"��

ω0(g, ν)((TeLgη1, σ1), (TeLgη2, σ2)) = σ2(η1) − σ1(η2) + ν([η1, η2])

�	� ηi ∈ g ��	 σi ∈ Tνg∗ ∼= g∗, i = 1, 2� ���� [·, ·] ����	 �� Lie bracket �
�
g# 9/��	� � G × g∗ ������	 =��	'���	�� H & %(��� �� Ad∗ & 	�������'
��
���	���	�
 ������ JG×g∗(g, ν) = −ν|h ��	 ���A���	 � =��	'���	�� H & %(���
G × g∗ × S �� ����'���	�� ����� ω = ω0 ⊕ ωS ��	 Ad∗ & 	�������'
��
���	���	�
 ����� J = JG×g∗ ⊕ JS # 5 H ��� �'�"
��� ���� G × g∗ × S ��	
�� 0 ∈ h∗ ����	 �����	�� �	�� ��� J � ������ �� H0 ����	 
 ����� 	���������
��� 0 ∈ h∗ �� �
� Ad∗ ����
 �
� H ��
� h∗� ���� ���� ��� �'!�
��� ����
J−1({0}) ��	 ���A���	 !��	 � =��	'���	�� G & %(��� (G × g∗ × S)/H :=
J−1({0})/H0 �?'!�� I,8J� Ch. 4, 4.3, Th. 1�#

9/��� ��� 
 H ����	 �������� �������� �
� G# $���� � ��	�� ������
��	���" �
� Φe ��
� C������
�
 ,#)#2� ����	 !�� H & ���''����� ������	��
�	������ ��
� g# C���"���	� ����� 
 �	�����
 g∗ = h0 ⊕ (h0)⊥� ���� h0 =
{α ∈ g : α|h = 0}# B�� �� ��(�
�� ��� Riesz� !%���� h∗ = (h0)⊥� �����(�
g∗ = h0 ⊕ h∗# 9B�� G × g∗ × S = G × h0 × h∗ × S ��	 
 ���	���	�
 �����
�!���	 �
� �����

J(g, α, β, s) = −β + JS(s).

/���!���

J−1({0}) = {(g, α, J(s), s) : (g, α, s) ∈ G × h0 × S},
��
������ � coadjoint �
��� H × g∗ → g∗ �� ���� Ad∗

h−1(α)(v) = α(Adh−1 v)� �����
(X, ω, G, J)  ��� !�����	���� G " #$
��� % J : X → g∗ �� � &���� Ad∗ " �������'����(
�� J(gx) = Adg−1 J(x)� )�� ��
���	��
�� ���
�
�
��� ��
�� ������ ��� *+,-( Ch. 4, 4.2�
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�
'��� �� J−1({0}) ����	 �� ����
�� �
� H & ���	�	������
�

l : G × h0 × S → G × h0 × h∗ × S, (g, α, s) → (g, α, JS(s), s).

9B��� !%���� �� ����
��	�� �	�������

G × h0 × S G × h0 × h∗ × S�

�
G ×H (h0 × S) � G ×H (h0 × h∗ × S)

�
l̃

l

���" 
 ����(���
 ���	���	�
 l̃ ����	 ���	�	����	�
 ��	 �����!��	 �
 ����'��&
�	�� ���� �
� G ×H (h0 × h∗ × S) ��
� Y = G ×H (h0 × S) ��	 
 Y ������	
=��	'���	�� G & %(���� �� ����
 �
� (h, [g, α, s]) �→ [hg, α, s] ��	 ���	���	�

����� �
� JY : Y → g∗ �� JY ([g, α, s]) = Ad∗

g−1(α + JS(s))# + Y 
� '!����	
G & =�����	
�� ��*����� ��� S#

<� �� �������� �����!��� ������� !��	��	 �� �	����(����� ��	 �� ������&
 ���� �� 7���'���	�� ��(�
�� �	� �'	��"� �������@

;�$
��� +0�0� '(��� G ��� ������
�� ����� Lie ��
 K ��� ��

��
��
�����
�� �������� ���� '(��� ������ (X, ω) 	��� 
���
�� ?��
����
�� G �
����� �� ���
���
�� ������ ϕ ��
 �� ���
���
�� ����� J � ���� ���� �
 ������

��������� ��� �� ����
 ��#�
�
�� &���� ������
 ��� K � ��������
�� �������
��������� S ��� X ���� � G � ��	����� ��� �� ����
 G � �����������
%���
��
'��� �� ����%�	 G & ���	�	����	�
 ��� �� ����	 ��	 ����'��������������
�� ��� G � ���
��� ��� Z = J−1({0}) ���� X�

/����
3�# 1	� ��
� z ∈ Z 	�%"�	@

TzGz = {ξM (z) : ξ ∈ g∗} = {Teϕzξ : ξ ∈ g}.

B�� ��� ��	��� �
� ���	���	�
� ����� ��	 
���(���� ��� ���
 {(ξi)M (z)}n
i=1

��� %(��� TzGz� !%����

TzZ = kerTzJ =
n⋂

i=1

(< (ξi)M (z) >)⊥ω(z)

= (
n⊕

i=1

< (ξi)M (z) >)⊥ω(z) = TzGz⊥ω(z) .
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/����� �'�� �	 ������ 	��������� !%��� �
� ��	� �	�����
� 
 ���	���	�
 J
!%�	 ���
��� �� 
� �
'��� �� Z ����	 �����	�� �����''��'��
�� ��� X ��	
���	�� Gz ⊆ Z� ����"���	 ��	

TzZ
⊥ω(z) = TzGz ⊆ TzZ,

�
'��� 
 Z ����	 coisotropic �����''��'��
�� �
� X#
9/��� iZ : Z ↪→ X 
 !�
��
# B�� �� �"� ���
��"���� ���������

�����"�� �� ���%
�"�� ��
� ��������
 ���� X = E∗ ��	 
 ����'���	��
���� ���� X ����	 ���� ��� ����"���	 �� ��!����
 ��� �
� ����'���	�� ����
���

TX|Z = W ⊕ E ⊕ E∗

���� ��� ���
��"���� 
�(�
��� �� �� E ��	 E∗ �� ����	 ���� ��	� ���&

��"����� ������ �	�� �� �
� Z ��
� 
!�
 �
� M � �� τ := i∗Zω ��	 �� �� W
�� ����	 !�� G & ���''����� vector bundle ����'����� ��� E ��� TZ# $�
W 
� ������������� ��
 ���!%�	�#

/��	�� Ez = TzGz� 
���(���� �
� submersion Teϕz : g∗ → TzGz� !%����
Ez

∼= g/gz� ����

gz = {ξ ∈ g : ξm(z) = 0} = {ξ ∈ g : exp tξ ∈ Gz, t ∈ R} = ker Teϕz

����	 
 �'����� Lie �
� ������ 	��������� ��� z# <!�� �
� ���	���	�
�
�����'�� νz : g → g/gz ����"���	 
 ,&, ���	���	�
 ν∗

z : (g/gz)∗ → g∗ ��

ν∗
z ((g/gz)∗) = {α ∈ g∗ : α|gz = 0} =: g0

z .

$�
⋃

z∈A g0
z ����	 subbundle ��� A×g∗� ��	 ���	�� E∗

z = (g/gz)∗� 
 ���	���	�

ν∗ : E∗|A → ⋃

z∈A g0
z �� ν∗(z) = ν∗

z ����	 vector bundle 	������	����#
$(��� ���	�� 
 Z ����	 ����	�� G & %(���� ��� �� ��(�
�� �#8#. ��	 �
�

C������
�
 �#8#-� ����%�	 �'	��� K & ������ A �
� Z �� Z = G×K A# $����
�	� z ∈ A ���
�����
�!��� 	�%"�	 Gz ⊆ K� ����� �� k ����	 
 �'����� Lie
��� K� ����"���	 ��	 gz ⊆ k� ����!��� k0 ⊆ g0

z # =�
�	����	(����� �(��� !��
G & ���''����� ������	�� �	������ R ��
� g ��	 �� ������� ��� 
 ν∗ ����	
vector bundle 	������	����� �����"�� �� �������������� �� K & subbundle
S ��� E∗|A� (��� Sz = (ν∗

z )−1(((g⊥R
z ∩ k)⊥R)0)# �B�� �� ��(�
�� ���

Riesz� �����"�� 	���"���� �� ���'!H���� �� �� ������	�� �	������ R# $���
< x, · >∈ k0 ⇔ x ∈ k⊥R #� $���

E∗
z = (ν∗

z )−1(g0
z) = (ν∗)−1(k0) ⊕ Sz.
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�����"�� �
� ���	���	�
 ((g⊥R
z ∩ k)⊥R)0 → k∗ : α �→ α|k# /��	��

((g⊥R
z ∩ k)⊥R)0 ⊆ g0

z ,

�������	 
 ���	�'��	�� ���	���	�


λz : ((g⊥R
z ∩ k)⊥R)0 → (k/gz)∗.

B� λ(α) = 0� ���� α ∈ k0 ∩ ((g⊥R
z ∩ k)⊥R)0 = {0}� ����� 
 λ ����	 ,&, ��	

'��� 	���
��� �	��������� 
� ����	 ��	 ���# 9B�� Sz
∼= (k/gz)∗� �	� ��
�

z ∈ A ��	 


λ : S →
⋃
z∈A

(k/gz)∗, λ(z) = λz


� ����	 	������	���� vector bundle# �� ��� ���� ��� ����%�	 K & ���	�%�
��� A ��� S ��� �� ����	 � A
��"����� �'	��� =��	'���	�� K & ������ �� ���
G & ���	�%� ��� Z ���� X = E∗#

;��G ��%��� ������ gz ⊆ k� !%���� TzKz ∼= k/gz# /��	�� Kz = Gz ∩A�
	�%"�	 TzKz ⊆ TzGz ∩ TzA# /���
�� ������ Gz ⊆ K� 	�%"�	

dimKz = dimK − dimGz.

/�	�'!��� ��� �!'�� �
� �����	 
� �
� C�����
� �#8#*� ��������	 ��	 TzGz +
TzA = TzZ� �����

dim(TzGz ∩ TzA) = dimGz + dim Z − dim G + dimK − dimZ

= dimK − dimGz,

��G ���� ����"���	 ��	 TzKz = TzGz ∩ TzA# B�� '�	���� 
!����� m = k⊥R �
���� TzZ = Teϕz(m) ⊕ TzA#

����(���� K & ���''����� ����	�� ������� θ ��
� A ��	 
!������ Vz =
(TzKz)⊥θ(z) � 
� !%���� �
� �	�����
 TzA = Vz⊕TzKz# 9/��	� ������A�����
�� ��������� ����"����� �	 �	������	�

TzZ = Vz ⊕ TzKz ⊕ Teϕz(m), �*#,�

��	

T(z,0)S|A = Vz ⊕ TzKz ⊕ Sz
∼= Vz ⊕ k/gz ⊕ (k/gz)∗. �*#��

+ %(��� TzKz ⊕ Teϕz(m) = TzGz = Ez� ����	 � ������� �
�

ωb(z) : TzZ → (TzZ)∗ : u �→ ωm(u, ·),



,,-

����� 
 ω(z)|Vz ����	 ��� �
 ����'	��!�
 2 & �����# �+��	���	��� �� ���
�����'	��� �
� ���
��"���
� �����	 
�� �	� z ∈ A ��	'!����� Wz = Vz#�
$� ����'���	�� K & ���''����� vector bundle V → A� �����������	� �!��
�
� K & ����
� ��
� Z� �� G ���''����� vector bundle W → Z ��	 ��� �
�
�	�����
 *#,� !%���� TZ = W ⊕ E#

1	� z ∈ A� 
 ω(z) ����	 �� �
��	��� �
� ω|Vz� ��� ����	 �
 ����'	��!�
�
��	 �
� �����	��� ���� k/gz ⊕ (k/gz)∗# 9B��� ����%�	 K & ���	�%� H ��� A
��� S� (��� �� ����	 ����'���	�� K & �����''��'��
�� ��� X ���� ��� ��
A# B�� ��� ���
��"���� ��''��	���� ���A���	 
 ���	���	�
 ����� �	� �
� H

JH = i ◦ J ◦ iH : H → k∗,

���� iH : H → X ����	 
 !�
��
 ��	 i : g∗ → k∗ 
 ���	���	�
 �� �"��
i(α) = α|k ��� !%�	 ������ ker i = k0# 7����(�

A = H ∩ J−1({0}) ⊆ H ∩ J−1(k0) = (JH)−1({0}).

�� ��� ���� ��� A = (JH)−1({0})@
0���
���A���� ��� �	� z ∈ A 	�%"��� �	 �	������	�

T(z,0)(X|A × {0}) = Wz ⊕ Ez ⊕ E∗
z
∼= Vz ⊕ TzGz ⊕ g0

z ,

T(z,0)(H|A × {0}) = TzA ⊕ Sz.

+ ��	���� �
� ���	���	�
� ������ ���%��	 ��	 T(z,0)(J(ξ))(η) = ω(z)(ξX(z), η)
�	� ��
� η ∈ TzX ��	 ��
� ξ ∈ g# 1	� η = αz ∈ E∗ = g0

z ⊆ TzX� !%����
ω(z)(ξX(z), αz) = αz(ξ)� �
'���

TzJ |g0
z

= idg0
z
.

B�� �
 �%!�
 TJH = Ti ◦ TJ ◦ TiH ��	 ���	�� ker Ti ∩ Sz = k0 ∩ Sz = {0}�
!%���� T(z,0)JH |Sz = idSz � �
'���

ker T(z,0)JH ⊆ TzA.

9B�� ker T(z,0)JH = TzA ��	 �����(� A = (JH)−1({0})#
5 �����	 
 
� ��'�	(��	� �� 
��������� �
� G & =��	'���	� ��!����
 Y =

G×K (k0×H) ��� H# /��	�� 
 ���	���	�
 ����� �
� Y ����	 
 JY ([g, α, s]) =
Adg−1(α + JH(s)) 
� !%����

(JY )−1({0}) = G ×K ({0} × (JH)−1({0}) = G ×K A = Z,



,,2

���" α = −JH(s) ∈ k0 ∩k∗ = {0}� 
���(���� �� k∗ = ((k)⊥R))0 ���� %(��
g∗# <� ���� ��	��� ���	�(� %�	�	���"� ���� ��	 ���
����!���� �	� z ∈ Z
��	 g ∈ G ���
�����	
�!��� 	�%"�	� T[g,z]Z = g/k ⊕ TzA# /� �����������
� ���	��	���� �
� ����'���	��� ������ ��� Y ��� T[g,z]Z ����	 ����'	��!���
���� g/k ���������� ��( ���� TzA ����	 � ���	��	���� ��� �
� ����'���	��
����� ��� T(z,0)H# 7����(�� �� Ω ����	 
 ����'���	�� ����� ���� Y � ����

(T[g,z]Z)⊥Ω([g,z]) = (g/k)⊥Ω([g,z]) ∩ (TzA)⊥Ω([g,z]) ⊆ g/k ⊕ TzA = T[g,z]Z,

�
'��� �� Z ����	 coisotropic �����	�� �����''��'��
�� ��� Y # /���
��

 ��������
 ����'���	�� ����� ��� Y ���	��	��!�
 ��� Z ����	 
 ��	� ��
���� ��� X ���	��	��!�
 ��� Z� ���" ���������� ��� A ��	 ������������	
��	 �	 �"� ��� Z �!�� �
� ����
� �
� G �� ��� ��	� �����# /�����A������
'�	���� �� ��(�
�� *#3#*� ������������� ��	 ����%�	 G & ����'��������	����
f : M → N �� f |Z = idZ � ���� 
 M ����	 G & ���	�%� �
� Z ��
� Y ��	 

N ����	 G & ���	�%� �
� Z ��
� X# /��	�� �	 f∗J ��	 JY �	��!���� ���� ���
���
��� ���� g∗ �� ���	������	� ����� �
� Y ��	 	�%"�	 f∗J |Z = JY |Z = 0�
�	 f∗J ��	 JY 
� �����A����	# 9B��� 
 f �����!��	 ��� K & �'	�� =��	'���	�
����� H �
� Y ��
� X ��	 �� 
�(�
�� ������%

��# �
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